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Topic:- Child Development & Pedagogy (CDP)

1) Which theory laid the foundations for behaviorism? / %3 Rigid A ggRare &t g @

1. Functionalism / UBTIATG (baRHeISH)

2. Gestalt / TRElec
3. Connectionism / GAISATG @%ﬁ@)
4. Structuralism / GG

Correct Answer :-

« Connectionism / GITSATE (ﬁ%ﬁ@)

2) yygotsky's work serves as foundation for researchers in / Wﬁw G|

BT H Mywdie & e g o1 w19 Fear g1
1. cognitive development / T fAHT

2. pedagogical skills / Q& TOIH HIYA

3. emotional intelligence / HTA-TcH® §f

4. reflective practices /ﬁi?ﬁ?ﬂﬁ 3T

Correct Answer :-

« cognitive development / {-iill"lld-lcb EEILS

3) Which of the following is the most appropriate approach for conceptual learning?/

fFafafad & ¥ dfive oiftrm & fore 9o Sugad s s @2
1. Deep learning approach / e 3‘|'f€|1m gf@a%w
2. Surface learning approach / ¥ 3TETH m
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3. Strategic learning approach/ W &rf‘EITITr m
4. Memory based learning approach/ F:jﬁ‘{ TR S1fETH W'UT

Correct Answer :-

« Deep learning approach / 1e 3fETH %’@Hﬁm

4) On what is based the need for teaching philosophy of education? /ﬁT&‘IT 37

fRreror gz &t sTawgedr e wR snuTRa 82
1. All pupils are not alike /Hﬂ-ﬁfﬁww@@rﬂ%’rfﬁﬁl

2. Different systems of education found in different countries / S{AIT-3A AT a_Qﬁ H 3el-
3T R1efor yronfert & Sl g

3. Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ

SRR = TR1&MT & B UG TR SIeHT-3{elT Ve 01 o fhT|
4. Different ways of teaching-learning /fQT&l'UT-&@Tm & faft P |

Correct Answer :-

» Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ[

SRR A TR1&1T & B U TR S1eT-3Hel] VD01 o fhT|

5) OCD does not affect which of the following cognitive constructions?/
S Frrafefaa Sxmres fFafon & & fed gwifaa 98 srar 82
1. Believes about inflated responsibility/ Sifafad IRalRid & ufd fay
2. Underestimation of personal ability/ G &HAT B HH i1

3. Intolerance of uncertainty / SffEadr &t W’%’@Fﬂ

4, Control of thoughts/ foaRT o= fagaor

Correct Answer :-

+ Control of thoughts/ faaR W g0

6) Emotional development is part of ./ HIGATHS fapT™ Ca) %T\‘IT %I

1. Motor development / fhaTd® (HIeR) fawr

2. Cognitive development / T [AHT

3. Psychosocial development / RIS fawT
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4. Sensory development / Fddl (HER) fadbra

Correct Answer :-

« Psychosocial development / AAIITHTINT faH™T

7) A child has been bullied in the bus every day on the way to school. Now, when he hears
the sound of any bus approaching, he begins to panic. What principle of learning explains
this behaviour? / % T= P W@ e SITd §E B ST o1 {1 1aT ¢ 1 319, o9 +ff a5 faeht
T & URT 31 Dt AT T 3, O 98 TG a1 3 | AR &1 B 1 Rigia 59
HGER 1 TSI ST o2

1. Reinforcement / QHE&'FT

2. Punishment / ¢8
3. Stimulus generalisation / I U JrHhR]
4. Stimulus discrimination / 3&19% favdiau

Correct Answer :-

« Stimulus generalisation / BE‘TW AR

8) A child is motivated to jump from the first floor window to the ground because it gives
her a thrill. What motivation theory best describes this kind of motivation? / ¥ dl m
Hfora ot fas®! & 9H WR B & fore aiva giar 8, Fife g8 39 g dar 31 fra
PR P RN RAGid 39 YPR B U0 BT a4 33T qui- HId 82

1. Arousal theory/l;h_fﬁ'qq Rigid CRENN @ﬂ)
2. Incentive theory / Uicie Rigid

3. Drive theory / §Igd Rrgia

4. Instinct theory / Qﬁf Rygid

Correct Answer :-

» Arousal theory/thﬂel'q:[ Rigid (RT3 ?Ihﬂ)

9) Which of the following sentence is TRUE in the context of guidance and counselling in

school?/ FFrafAfEd & A ®19 O1 919, Y@@ § ARfeRi i W=t & Hef o gl 32

1. Talking about my problems, in counselling or otherwise, isn’t going to help. / HTITIHT T 3=

H A8 guersli & IR H 91d HA 4 H DS Hea el 7 @l B

2. Counselling takes only one sitting to be effective. / TRIARIGTAT UHTdt g o feld had 1 8
o (e BRar g
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3. Helps in working through personal problems that may affect academics or relationships. /

Oqlro\rd‘gl U137 & ATEHH ¥ HTH B4 H 7SS Hdl g ol fRrenfae) ar RNeal o uvifad &
bl g |

4, Students get counselling only because there is a counselor in school. / S Pl had 2gfau
TRTAR] AT 8 riifep faereara # R=iarar 3|

Correct Answer :-

« Helps in working through personal problems that may affect academics or relationships. /

oufon*lg U137 & ATEHH ¥ HTH B4 H A Hal g ol fRrenfae) ar Real & uvifad &1
ghdl el

10) Which of the following provides excellent resources to explore? / FufafRada s

TdT T (TR R $3) & I ISPy H18= UeT H3dT 82
1. LCD projector / Tagret ISR
2. Intemet/é?@_c'

3. Interactive smart board / '{;C\QECd H—Ilé dls

4, Language Lab / RICEASES

Correct Answer :-

o Internet/ s’aﬁa

11) Which memory is connected with episodes and events? / TG 3N gedTsi & 91y

o9 W Wfa St et 82

1. Long-term / zfrgn’afﬁ

2. Episodic / AT Wi (TUife®)
3. Semantic / Y (A (FTHCH)

4. Short-term / 3{eUTalY

Correct Answer :-

. Episodic / U Hfd (TS h)

12) The type of personality called ‘Asthenic’ was introduced by / Rif e AHe Aafea
forad gRT yRgd fosar mar

1. Freud / /1S
2. Sheldon / Silﬁq
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3. Kretschmer / ShRIHY
4, Jung / Q,"T

Correct Answer :-

« Kretschmer / SHRHER

13) The 3 primary laws of Thorndike’s theory are: / %ﬂ:i?ﬂw & Rygid & 3 i A

1. law of readiness, law of exercise, law of effect / TR BT FTH, 31T BT [HTH, YU BT
R

2. law of intensity, law of analogy, law of assimilation / GIEGIEE ﬁ?m, Y DI ﬁ?m,
STHIATABUT DT FTH

3. law of action, law of experience, law of result / S BT fam, YT Pl faq, gfvomg &1
[BRE)

4. law of use, law of practice, law of disuse / TN BT W, 3T &1 471, 3w &1 ™

Correct Answer :-

« law of readiness, law of exercise, law of effect / AU bl ﬁ'CI'JI[, S b1 ﬁm:r, UHTd &b

14) Minnesota Multiphasic Personality Inventory (MMPI-2) has / e b ioe

qHTerd) Sded (THTHdeE2) A A= B
1. Above 400 items / 400 3TScCH ¥ i

2. Above 500 items / 500 3MTgCH I 3fed

3. Below 500 items / 500 3T3¢H ¥ HH

4. Below 300 items / 300 Gﬂ?ﬁﬂﬁm

Correct Answer :-

« Above 500 items / 500 3TSCH T 3H(PH

15) In which of Piaget’s substages of sensorimotor stage to children repeat pleasurable

actions that first occurred by chance? / forars #t ﬂaw TMTHD ARIT (ﬂa’cﬂ
UM SaAT) B Fordd SUSTRIT A T ITHGETAP BTl DI GIgRTd & ol
Ugdl IR ST 9 g Y2

1. Primary circular reactions / PIKitac Q?ﬂ-q &w
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2. Secondary circular reactions / TTT0T Q?‘ﬂ'q W
3. Use of reflexes / Sl m&h GRS

4, Mental combinations / Iﬂ:ﬂ%ﬁ; ﬂ-&[w

Correct Answer :-

« Primary circular reactions / EIT%F&W Q?ﬂ-q 3’|Il a5 3 Q

16) What have the children developed when they are aware of their own mental processes? /

aﬁg@ﬁwﬁwﬁamﬁ%wwmwmﬁﬁm
BId 82

1. Metalinguistic abilities / SfETHTHTS &HATY (HeTfelidiRed Tdiferd)

2. Metacognition / \wa (ﬁwﬁ:ﬂﬁﬂ)
3. Meta-awareness / STISTRE S Al (HET-3ATRAY)

4. Metamorphosis / TATIRUT (HETHIG RI¥)

Correct Answer :-

« Metacognition / &mﬁ (ﬁE‘WT:ﬂﬁFD

17) What is the smallest unit in the writing system?/ G yuITelt # 9ad Sidt WI% T
82

1. Nouns / 31T

2. Verbs / fopan

3. Phonemes / WfAH (Cl'ﬁeﬂ:l)
4, Graphemes / gfofe (‘;lTaﬂ:\‘:D

Correct Answer :-

» Graphemes / aftfa (‘JITaW\‘:I)

18) What cognitive principle does a child possess when she understands that the amount of

clay in a 2cm ball remains the same whether the ball is flattened or made into a stick? / U

T B T GFFATHS FAGid YT HR AdT 8, 59 98 59 JHSH § J&H
giar g P 2 At arat v T § ) (@) B AT g el @ 918 e B
YucT fhaT SITe 91 39 Sl & ¥ H STdT wiTe?
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1. Conservation / &0
2. Volume / 3TId-
3. Hypothesis / TR &I

4. Trreversibility / STTEhHUNIT

Correct Answer :-

« Conservation / &0

19) What are the characteristics of scientific inquiry?/ aﬁT&ﬁ? EIEEd] ﬁ'@'q_d'lﬁ' w1 gt

82

1. All of the above/ SURIGRT FHI

2. Learner engages in scientifically oriented questions only./ ﬁT&‘ITQﬁaW ¥ Y Had 3HY
Ui B e gId 5 |

3. Learner gives priority to evidence only. / Rremff Hae Teg o1 Urufiiear %I

4. Learner formulates explanation from evidence only./ fi’r&ﬂ%ﬁ%ﬁ 1&g @' W a?ZIR
RGN

Correct Answer :-

« All of the above/ U 4t

20) Children who come from homes with good parent- child relationships tend to be

R o_Y & AR SR Il Py SFOT I S AR g El
1. Intolerant of others /m & ufd W%ml
2. Impulsive / 3ot (ETG%HT:I)

N A .
3. Posses weak intellectual control / PHGIR &g P [GRELRCILS

4. Successful in social participation / qrEToie HRTGR! # 9% d

Correct Answer :-

« Successful in social participation / qrEToie HRfGR! # 9% d

21) Kohler’s insightful learning proved that learning is ./ aﬁw % GI?ITE:@
3R A Ry o 6 aiftema gl

1. an autonomous random activity / (P 44T L||‘zE'.|(-'CE9C‘4’> Tﬂ%lﬁﬁ[
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2. an event of trial an error / YUd 3R _ar% G| Udh Yc-l

3. a new perception of the total situation / quf fRfq &t Udh :l_ﬁc 3‘@‘1-‘[[%[
4. a connection between stimulus and response / B?ﬁ‘l:ﬂ 3‘?'? PIRIERI] & d dh g9y

Correct Answer :-

« anew perception of the total situation / Hq\uf fufq ot Uh Ts“ 3133-‘[[%[

22) Vygotsky places considerably more emphasis on factors contributing to

cognitive development./ CIENIR k| W R dgd 3f¥re ok fear 8 =it
HIHTHS fIHT | aTeH od &

1. Personal / SfaiTdl

2. Social / ATHTS

3. Emotional/ HIdTHP
4. Cognitive/ GIHTHD

Correct Answer :-

« Social / AR

23) According to Piaget, what method of processing information helps in the creation of

schemas? / TORTSl & IR, @11 ufshare=ur &t S1F-A faftr sifafa aien
&@an) & frafor d veg sdt 22

1. Questioning / YIS (FARIT

2. Motivation / STHURUI (HIfeaTH)

3. Deliberation / fO=R famef (Sferferzm)

4. Accommodation / THGI (THIHISTM)

Correct Answer :-

« Accommodation / FHGSIH @ﬁm

24) Maslow’s five-stage model is in the shape of a / ATl & Uid-3aRIT HiSH TH
& APRA I

1. Pyramid ACRIEE]
2. Square |
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3. Rectangle / 31Ud
4. Circle / dd

Correct Answer :-

« Pyramid / foRifere

25) Ankit cheats on his exams and ends up failing in his final assessment. This can be attributed

to his: / 3ifpd T A TN} HYaT 7 3R 3UA SifaH spa A B d gl ST
21 5T U IS T PRUI $ STRICR 38T ST Hahdl 8:

1. Lack of parental involvement / ard-fodar s ﬂglﬂﬁ?ﬂ I AHYHId
2. Poor reading comprehension /'q'—c(r god ﬁ S{IYRUN

3. Lack of self-esteem / STH-HHTT a’ﬁ Wﬂ

4. Dependence on others / w U ﬁﬂ-TTdT

Correct Answer :-

« Dependence on others / gﬂﬂ R AvRar

26) According to the theory, men and women are different and unchangeable due to

their intrinsic differences between the sexes. /_ﬁ?s{l?la? SRR, Wﬁﬁ Gﬁ?tﬂ%?ﬂ\?rﬁ
& foiT & ot Sriafve Siav & FRUT ST 3R SufRad=ia 3|

1. Social constructionism / JTHTII HIUATE (RIS e aRI-oH)

2. Intersectionality / GI?ITH‘J-I'ITﬂ'q @?@Wﬁiﬂ)
3. Gender Essentialism / feT Sifarfar

4. Gender performativity / foiT QaQi:i

Correct Answer :-

« Gender Essentialism / feiT Sifarfar

27) The learning style that is greatly associated with activity is: / fafafyr & Ty dgd PO
W #Y Aeft 8-

1. Visual / <
2. Verbal /Iﬁm

3. Kinesthetic / m%

4, Auditory / #dUl
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Correct Answer :-

 Kinesthetic / EIO_IE_"I@W

28) Which of the following is not true about constructive teaching approaches? /ﬁgm

A B TP 107 TRH0 & IR ° I 8 32

1. It allows the teacher to focus on important and relevant information. / Zl's’ ﬁT&W ﬁ W 3‘ﬁq
TG S RI TR & Hiad B &1 S a1 e

2. Students learn to value the opinions of each other. / €912 U Cc'q\{-l\{ % Hd ﬁ Hedd 2'0‘”
A gl

3. It helps to customize the curriculum to each student. / & H@Id” 91A ﬁ UlodenH ﬁ
S & ATIR §9H # Hag dral gl

~\ o
4, Discussions on the thoughts and ideas of a student are used. / L €914 % Hid @T Ia Ellil U

T} BT ST fhaT ST 5 |

Correct Answer :-

« It helps to customize the curriculum to each student. / g HCSIGD 91A ﬁ Uldden H ﬁ
& & ATIR §9H H Heg Hral gl

29) Erikson, a follower of Freud’s synthesized both Freud'’s and his own theories to create
___ stages of human development, which span from birth to death. / WPTdS &

AT TRSE 3, WIaS 3R 3T WY & Rigidl ») 7a e &
a1l B I & fore Axaifvd far, s 571 F g 9@ gt 21

1. Ethological / 3@[?1%%

2. Epistemological / IHEHHE
3. Psychosocial / TN
4. Conventional/ UXHIR[Td

Correct Answer :-

+ Psychosocial / TSR

30) children should start developing cognitive abilities before they can experience / Tsliﬁ' a?r
BT AJUT F TGP V Ugd, GFHTASD 1Sl &1 e S & H
CEIEIY

1. Fear / &Y
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2. Embarrassment / W
3. Anger / 1[&T
4. Disgust / YUl

Correct Answer :-

o Embarrassment / W

Topic:- General English(L1GE)

1) Fill in the blank with the correct option in the given sentence:
Obsessions to detail may be treated as a compul-- disorder.

1. -sorily

2. -sively

3. -sive

4, -sion

Correct Answer :-

2) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the
identification of problems and the search for solutions to those problems. Many of us are good at
working out solutions, once we are given a problem, but what about the necessary first step,
that of actually figuring out what the problem is? In science and in all academic disciplines,
knowledge grows because we see gaps in understanding that we seek to fill. Seeing the gap,
therefore, becomes an important initiator of this process. And then we need to understand the
nature of this gap — what exactly is its shape and size? What are its consequences? The ability to
see a gap, to describe it in a way that allows us not only to imagine what it looks like but what it
means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is
worth cultivating.

According to the writer, what are we not good at?
1. Identification of the problem

2. Solution of problems

3. Understanding solutions

4. Academic disciplines

Correct Answer :-
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« Identification of the problem

3) Read the following passage carefully and answer the question that follows:

We all are familiar with the saying ‘Health is Wealth’. Academics serve the purpose of nourishing
the mind. But we must remember that ‘a healthy mind resides in a healthy body’. One can
develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic.
They also boost metabolism. Games and sports burn excessive and unnecessary increase the
circulation of blood. They calories .They also improve our respiratory and digestive systems.
When we play games various exercises are performed automatically. Athletics, cycling, skipping,
swimming and other games tone up the body. Mild exercises invigorate our minds and bodies
and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football
and lawn tennis. Unfortunately, we give so much importance to academics in schools and
colleges that we hardly get any opportunity to do any physical work.

What does the writer advocate in the passage?
1. Importance of outdoor games

2. Importance of academics

3. Importance of healthy mind

4. Importance of games and sports

Correct Answer :-

¢ Importance of games and sports

4) Read the following passage carefully and answer the questions that follow:

We all are familiar with the saying ‘Health is Wealth’. Academics serve the purpose of nourishing
the mind. But we must remember that ‘a healthy mind resides in a healthy body’. One can
develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic.
They increase the circulation of blood. They also boost metabolism. Games and sports burn
excessive and unnecessary calories .They also improve our respiratory and digestive systems.
When we play games, various exercises are performed automatically. Athletics, cycling, skipping,
swimming and other games tone up the body. Mild exercises invigorate our minds and bodies
and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football
and lawn tennis. Unfortunately, we give so much importance to academics in schools and
colleges that we hardly get any opportunity to do any physical work.

What does the writer mean by ‘They also boost metabolism'?
1. Organic processes for maintaining our health is improved.

2. Mental health is improved.
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3. Academic performance is improved.

4. Discipline in life is improved.

Correct Answer :-

« Organic processes for maintaining our health is improved.

5) Read the following passage carefully and answer the questions that follow:

We all are familiar with the saying ‘Health is Wealth’. Academics serve the purpose of nourishing
the mind. But we must remember that ‘a healthy mind resides in a healthy body’. One can
develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can’t be minimised. They keep our body alert, active, youthful and energetic.
They increase the circulation of blood. They also boost metabolism. Games and sports burn
excessive and unnecessary calories .They also improve our respiratory and digestive systems.
When we play games, various exercises are performed automatically. Athletics, cycling, skipping,
swimming and other games tone up the body. Mild exercises invigorate our minds and bodies
and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football
and lawn tennis. Unfortunately, we give so much importance to academics in schools and
colleges that we hardly get any opportunity to do any physical work.

What is the unintended consequence of over emphasis on academics?
1. We get hardly any time for our family.

2. We get hardly any time for our hobbies.

3. We get hardly any time for games and sports.

4. We get hardly any time for doing other activities.

Correct Answer :-

e We get hardly any time for games and sports.

6) Read the following passage carefully and answer the questions that follow:

We all are familiar with the saying ‘Health is Wealth’. Academics serve the purpose of nourishing
the mind. But we must remember that ‘a healthy mind resides in a healthy body’. One can
develop and maintain a healthy body by actively participating in games and sports. Importance
of sports and games can‘t be minimised. They keep our body alert, active, youthful and energetic.
They increase the circulation of blood. They also boost metabolism. Games and sports burn
excessive and unnecessary calories .They also improve our respiratory and digestive systems.
When we play games, various exercises are performed automatically. Athletics, cycling, skipping,
swimming and other games tone up the body. Mild exercises invigorate our minds and bodies
and keep us physically fit and strong. Outdoor games include cricket, hockey, basketball, football
and lawn tennis. Unfortunately, we give so much importance to academics in schools and
colleges that we hardly get any opportunity to do any physical work.
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What happens on an involuntary basis when we play games?
1. Our health improves automatically

2. We grow strong automatically

3. Various exercises are performed automatically

4. Our marks improve automatically

Correct Answer :-

» Various exercises are performed automatically

7) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the
identification of problems and the search for solutions to those problems. Many of us are good at
working out solutions, once we are given a problem, but what about the necessary first step,
that of actually figuring out what the problem is? In science and in all academic disciplines,
knowledge grows because we see gaps in understanding that we seek to fill. Seeing the gap,
therefore, becomes an important initiator of this process. And then we need to understand the
nature of this gap — what exactly is its shape and size? What are its consequences? The ability to
see a gap, to describe it in a way that allows us not only to imagine what it looks like but what it
means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is
worth cultivating.

What is important to be articulated?

1. To fill up gaps in understanding

2. To acquire skills in understanding

3. To prevent a problem in the first place

4. To imagine the in advance

Correct Answer :-

« To fill up gaps in understanding

8) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the
identification of problems and the search for solutions to those problems. Many of us are good at
working out solutions, once we are given a problem, but what about the necessary first step,
that of actually figuring out what the problem is? In science and in all academic disciplines,
knowledge grows because we see gaps in understanding that we seek to fill. Seeing the gap,
therefore, becomes an important initiator of this process. And then we need to understand the
nature of this gap — what exactly is its shape and size? What are its consequences? The ability to
see a gap, to describe it in a way that allows us not only to imagine what it looks like but what it
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means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is
worth cultivating.

What is the second step in the search for solution?

1. Understanding the shape, size and consequences of the problem
2. Understanding how effectively one can find a solution

3. Understanding alternative solutions to the problem

4. Understanding effective and speedy resolution of the problem

Correct Answer :-

« Understanding the shape, size and consequences of the problem

9) Read the following passage carefully and answer the questions that follow:

No matter which field you are in, or hope to be, one of the driving forces of growth is the
identification of problems and the search for solutions to those problems. Many of us are good at
working out solutions, once we are given a problem, but what about the necessary first step,
that of actually figuring out what the problem is? In science and in all academic disciplines,
knowledge grows because we see gaps in understanding that we seek to fill. Seeing the gap,
therefore, becomes an important initiator of this process. And then we need to understand the
nature of this gap — what exactly is its shape and size? What are its consequences? The ability to
see a gap, to describe it in a way that allows us not only to imagine what it looks like but what it
means, and then to articulate a way to fill it — or to conceive a way of solving it — is a skill that is
worth cultivating.

What does the writer advocate in the passage?
1. Acquisition of skills

2. To fill up gaps in understanding

3. Importance of understanding

4. Understanding consequences

Correct Answer :-

o To fill up gaps in understanding

10) Which of the following options best combines the following sentences?

You should control weight. You should stop thinking about being healthy.
1. You should control weight but you should stop thinking about being healthy.

2. You should control weight and you should stop thinking about being healthy.
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3. You should control weight or you should stop thinking about being healthy.

4. You should control weight so you should stop thinking about being healthy.

Correct Answer :-
¢ You should control weight or you should stop thinking about being healthy.

11) Identify the most appropriate indirect speech statement for the given sentence:
The clerk said, "I am here to settle accounts today.”

1. The clerk said that he is here to settle accounts the following day.

2. The clerk said that I am here to settle accounts the following day.

3. The clerk said to settle accounts this day.

4. The clerk remarked that he was there to settle accounts that day.

Correct Answer :-

« The clerk remarked that he was there to settle accounts that day.

12) Read the sentence carefully and choose the option that has an error in it:

When the soldier returned home, his wife welcomed him with opened arms.
1. When the soldier

2. returned home,

3. with opened arms.

4. his wife welcomed him

Correct Answer :-
» with opened arms.

13) Fill in the blank with the correct option in the given sentence:

Action will be taken against those who --appropriate funds.
1. dis-

2.in-

3. mis-

4. un-

Correct Answer :-
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14) Choose the right tag:

Let's plan a picnic, ?
1. shan't we

2. shall we

3. won't we

4, don't we

Correct Answer :-
e shall we

15) Choose the option that substitutes the given phrase appropriately.

The gradual recovery from illness
1. Emancipation

2. Connoisseur

3. Convalescence

4. Cosmopolitan

Correct Answer :-

e Convalescence

16) Rewrite the following changing the passive sentence to active.

Mistakes were made by them.
1. They had mistakes.

2. They made mistakes.

3. They are making mistakes.

4. They make mistakes.

Correct Answer :-

* They made mistakes.
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17) Choose the appropriate antonym for the highlighted word in the given sentence.

The burglar moves gingerly so as to avoid making a sound or being detected.
1. rashly

2. charily

3. stubbornly

4. warily

Correct Answer :-

 rashly

18) Choose the appropriate prepositions for the given sentence:

Break this chocolate _ pieces and share it all the children.
1. to... with

2. off... from

3. into.. between

4. into... among

Correct Answer :-
e into... among

19) Choose the appropriate synonym for the highlighted word in the given sentence.

The demand for computer-controlled robots is rapidly increasing.
1. price

2. appeal

3. right

4, offer

Correct Answer :-

* appeal

20) Choose the appropriate conjunction for the given sentence.
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You have to go down thisway __ reach the CEO’s office.
1. as

2. unless

3. although

4, in order to

Correct Answer :-
e in order to

21) Choose the appropriate option that rewrites the given sentence in its active voice.

Sarah was bitten by the cat.

1. Sarah biting the cat.

2. Sarah was being bitten by the cat.
3. The cat was bitten by Sarah.

4. The cat bit Sarah.

Correct Answer :-
o The cat bit Sarah.

22) Choose the appropriate tenses to fill in the blanks in the given sentence:
_ _youever______ how the people of the Harappan civilization ?
1. Do... wonder... is looking

2. Have... wondered... looked

3. Will... wondering... looked

4. Did... wonder... are looking

Correct Answer :-

o Have... wondered... looked

23) Choose the appropriate tense to fill in the blank in the given sentence:

We on the new product launch for weeks when management decided to shelve the
project.


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

1. has worked

2. has been working
3. had worked

4, had been working

Correct Answer :-

 had been working

24) Choose the most suitable pronouns for the given sentence:
____are the new trousers which ___unclegot for ______

1. These ... my ... we

2. Those ... my ... me

3.1t..you're ... us

4. This ... your ... me

Correct Answer :-

e Those.. my.. me

25) Choose appropriate articles for the given sentence:

Pass me newspaper. I want to read article about the kidnapping.

1. the.... the
2. no article required... the
3.an...a

4. the... no article required

Correct Answer :-

26) Choose an appropriate article for the given sentence:

apples are grown in Jammu and Kashmir.
1. An

2. No article
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3.A

4, The

Correct Answer :-
e No article

27) Choose an appropriate determiner for the given sentence:

The country has water resources like dams and lakes that water the crop all year
round.

1. many
2. afew
3. alittle

4, least

Correct Answer :-

28) Choose an appropriate modal for the given sentence:

She___ climb the neighbouring hill in twenty minutes when she was young.
1. can

2. must

3. could

4, does

Correct Answer :-
e could

29) Choose the option that best explains the highlighted expression:
Rajesh finally made it. He's an excellent lawyer.

1. succeeded

2. struggled

3. aimed high

4. prospered
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Correct Answer :-

e succeeded

30) Choose the right tag:

Sita didn’t do her homework last Monday, ?
1. did she

2. would she

3. does she

4, can she

Correct Answer :-

e did she
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frtTTaTE FvaT a8 2, wiet uftsd sritenfig SuteATa gRafier a1 g 3, iR a8T & avia (fdw) wga
F YUTATHTUS g | T BT 8l fb AW & A1y [l T a8l a=0= W firam | weadt &1 aney a |
e & 1¢ ATy g3l 1910 $.8 TRY # ugd 97y frdft & urg wrwadt ¢t ik A uer oft | Areqw
T8 ITPT fohanT =T g Tu ¥ 3rar 7| & Yaa: 3¢ 1 faardf uri & @ & w3 rgaR faar quiuren
g oA g1 o 51 3PS WRHR B AR | Fdt T Iufem utar f1 e Aol & g 3¢ gen
Sfrard oT1 IRHN FREUA BT I | T HId A1 ST U&UTd & SR G I, Uers TS| TR
TP UgA T UTI I, & 1Y 3R Ixpd i ug, dt & sro=it wran gt st 21
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ST T B UgH A1 T 7T ¥Y BT IR 9ad133:
U= - TRDORI SIS AfUHT=T foa yrem § gam aea A2
1. BRY!

2. §&pd
3.3g
4. f&dt

Correct Answer :-

17) At G & IRY H IR BT YHRM T & e v sraruror gear A, Rrast gar 39 a9g T8t
T, T qHY & HTY Y § T T BT AW ufeet uger #7 3rerarg ford & Fremararg s & g am
fremaTaTe T a8 3, et ufvea srtemiis Suram sReify It gon 3, ok 951 & aedita Fifse) wpar
F YUTATHTUS g | T BT T8l fb AW &A1Y JXEdl T a8l e=1= W firam | weadt &1 amea pa a
e & a1e ATgd goiml 1910 .8 §9RA § Ugd 9ay fHlft & urd IRwadt & iR At ver oft | aregw
T3t ITBT fhamT 3T gt wHer | et 41| ® gerd: I &1 e un1 R A &+ sguR famn gufaren
WD o= & o TS| AW WPR B AwR F R v Iufda wrwr f wert Aefat & g 3¢ e
AT AT IR BRI UGBTI I¢ | §HT B A1 ST Y&UTd & SR G Ig UGS TS| TR |
TP Ug o ATI I & 1Y 3R I¥pd i ue, ot & erawit wrar g1 st 21

IUYe TRIIR P UgHR -1 IR 7Y UY BT IR 9d133:

U - 3 PR o1 2P | fFd foa yor ot wrom i 2
L. phH

2. BIedHD

3. JUfard

4. UfSdTS

Correct Answer :-

18) THdl TSt & RY | Tl T YHIRM Fd & e uep sraruror geAr A, Rrast yar 39 a9g T8t
T, T qHY & AU Y §) T T BT AW ufget uger #7 3rorarg ford & Fremararg s & g am
fremaTaTe T a8 3, et uftea srtemiis Suramg ey Ut gon 3, ok 951 & aevita Fifse) wpar
F YUTATHTUS g | T BT T8l fb AW & A1y [l T a8l e=0= W firam | weadt &1 v pa |
e & a1e ATagd g9l 1910 .8 99 § Ugd 9ay fHlft & ur IRwadt & R AR ver oft | aregw
T8t ITBT fpamT 3T gt e | Srar 41| ® gerd: 3¢ 31 e un1 = A &+ sguR famn gufaren
WD e & o TS| AW WPR B AwR F R v Iufda wrwr f et Aefat & fg 3§ e
AT AT IR BRI UGBTI I¢ | T B A1 ST U&UTd & SR G I, UGS TS| TR |
TP Tg o UTI I & 1Y 3R Iwpa i ue, ot & sraeit wrar g1 et 21

IUYe TRIR Y TSP 19 IR 7T UY o7 IR Id133:
U= - 4G A O5pd Ug-T fhd qex | Jran
1. ST
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2. 9RY
3. UIgTd
4, ISl

Correct Answer :-

19) At T & IRY H TR BT YHRM T & fore vep sraruror gear A, fraet gar 39 a9g T8t
W, TR Y F 1Y W 1 7| WG BT AW ufedd uget H7 1onnTs forel & Fromrarg o 3 g ol
fremaTaTe ST 981 3, Set uftsq srteniie Surea eRaffer Uer gan 9, ok a8l & deita (fSe) wea
& YUTHTHTIS g | I BT 8l [ AW &A1Y JXEqdt T agl o= W firan | weadt &1 urea pa 9
fFrpeq & a1e ATgd g9l 1910 .8 §9RA § Ugd 9ag fHlt & U IRwadt & iR Ara ver oft | Argw
T8t ST foraa o1 gt quer & et 41l A gaa: 3¢ o1 faendf un1 & @ & wg srgaR fam aufaran
WD o & o 1 3N PR B AR F R e Iufda wmwr f wert et & fg 3¢ e
SRt YTI IRHR SIS UG ¢ T g HId A1 S U&UTT & SR G IS¢, UgIg T3 | TR |
TEpd Ug- T UTI I &A1Y 3R Iwpa i ue, ot & srawit wrar g1 5ireit 21

ST TR B UghR 1A YD T UY BT IR qa13d:
U - HIETe BT 31 1 glar 82
1. Tfgr

2. ST
3. oA

4, gaIfd

Correct Answer :-

20) dI9dl G & ARY H I[REAP BT YHIRM ) & 10 T sranuror wen <&, et ar 39 w01a =61
T, TR AHY S /Y T €T TG P A Ufedt uget 8 Sirere et & fArrararg s § g ol
fremTaTe T ad 3, et ufvtsa srtemniie Surama ey It gon 3, ok 951 & aaita Fifse) wpar
F YUTATHTIS g | T BT el fb AW &A1Y JXEqdt T agl o= W ffran| wreadt &1 umea pa 4
Frreq & a1e ATgd g9l 1910 .8 99 § Ugd 9ag fHlft & ure IRwad) & iR Are ver oft | argw
T8t ST fran o1 gt quer & orar o1l § gaa: 3¢ 1 faandf un1 & @ & we sgaR fam aufaran
WD o & o TS| 3N PR B AR F R e Iufda wmwr f wert At & g 3¢ e
SR YTI TRBR IS UG ¢ T g HId A1 S U&UTd & SR G IS¢, IS5 T | TR |
TP Ug- o UTI I &A1Y 3R Ixpd i ue, ot & srawit wrar g1 wireit 21

ST TR B UGB 1A YD T UY BT IR qa13:

UL - TR & AR WHRI NHial & fRore S1F-AdY yrar ugar sifFart ar
1. BRE!

2. §&pd

3.3g

4. St


https://applink.adda247.com/d/XhqWf9lSap
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Correct Answer :-

21) dI9dl G & ARY F IR BT USRI [ & 10 T srmuror ge= <&, e var 39 wwg =8t
T, T qHY & AU Y §) T T BT AW ufeet uger #7 3rrerarg ford & Fremararg sw & g am
freTaTaTE T a8 3, et ufvea sratemiis Sutemg sReffy Ut gon 3, ok 951 & asvita Fifse) wpar
F UYTITHATIS Ig | T§ BATA a1 [ ATH & TTY It BT 98T &=+ i fen | It &1 aeey a J
e & 1¢ ATy g3l 1910 $.7 TRY # ygd 9wy frdft & ur wreadt ¢t ik AT uer oft | Arew
8t ITPT fHanT 3= gt wHer | et 41| # gerd: 3¢ o1 e un1 B am &+ srguR famn gufaren
A o &Y o T 1 U PR B AR Fd v Sufda wwr ft wwert e & g 3¢ e
Sfrard oT1 IRHRN FREUA SHfUHir I | g HId A1 ST U&UTd & SR G S, Uers TS| a9k
TP UgA T UTI I, & ATY 3R Ipd i v, dt & sroeit wran gt st 21

ST TR B Ugh -1 IR T U T IR qa133:
U= - frd Tl § TRadl’ T USRI R g2
1. Srgdl gl & Sfd |

2. Sal 1 & HeATs |

3. ddl 94l &) PEra |

4, IFHIGA! Gl b URH |

Correct Answer :-

. Sl &t Bl g |

22) dI9dl G & IRY H I[REGA BT USRI ) & 1w v srmuror ge <&, Syt uar 39 wag =8
T, T AHY & AU Y §) T T BT AW ufget Uger #7 3irerrg ford & Fremararg s & g am
frtrTaTe Fvar a8t 3, et uftsa st Sureara gRaffy 3ar gan 3, 3k 751 & qeeita Fifye) wear
F UYTTHATIS Ig | T§ BATA ! [ ATH & TTY IRt BT 98T &=+ i fe | IReadt &1 aeey a d
e & 1¢ A1y g3l 1910 §.8 TRY # Ugd 9Hy foredt & ur Jwadt ¢t ik AT uer +ft | Areqw
8t ITPT fpanT 3= gt waer | et 41| ® gerd: 3¢ o1 e un1 B am &+ srgaR famr gufaren
W o & o 51 3 WHR B AR ¥ e v Iufda wwr ft wwert et & g 3¢ e
Sfrard oT1 IREN FREUA ST I | g HId A1 T U&UTd & SR G S, Uers TS| TR
TP UgA M UTI I & 1Y 3R Ipd ot ug, at & sro=it wron gt st 21

ITYe TRIR P UgHT 14 U 7T Uy 6T IR Id133:

U= - $I fremrere dedta (fde) v § yurrames 42
1. 3T I Yol

2. BfefiRRUr Ta

3. HETdR UHIG fgad]

4. SRR Iureary <gRafe

Correct Answer :-

. e Iurenr <gRafier
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23) dHdT A & ARY H TIGAY BT YH1RA {31 & forg Tar SraryrRon ge= &, forasp1 uar 39 a0y 8t
I, T AHY & HTY WY §) T T BT AW ufget uger #7 3rrerarg ford & Fremararg sw & g am
fremaTaTe T a8 3, et ufvea srteniie Suramg ey It gon 3, ok 951 & aadita Fifse) wpar
F YU ¥ | I8 BT g1 fb 0 & A1y WREqdl &1 981 o=+ W} ffrar | wRaedt &1 uereg woa @
frpeq & a1e ATqgd g9l 1910 .8 99RA § Ugd 9ay fHlt & e IRwad) & iR At ver oft | argw
T8t IBT franr i1 gt qugr & orar o1l A gaa: 3¢ 1 faandf ur1 B @ F wg srgaR fa avfaran
WD o= & o TS| 3 WPR B AR F R v Iufda wmwr f wert Aefiat & g 3¢ e
AT AT IR BRI UG I¢ | T B A1 ST Y&UTd & SR G Ig IS TS| TR |
TP Ug- o ATI I &A1Y 3R Iwpa i ue, ot & sravit wrar g1 et 21

ST TR B Ugeh? -9 YD T UY BT IR qa13d:

U - WGl BT YHTRH 3l & e e g ot gemr &t
1. 3HIYRT

2. Sifed

3. ffHRET

4, gHTY

Correct Answer :-

o STHIYRUT

24) 194l GE & ARY F IR BT UHRMA ) & 10 T sramuror gen <&, Sy var 39 wwg =8t
T, T qHY & AU Y §) T T BT AW ufeet uger A7 3irerarg ford & Fremararg s & g am
fremaTaTE T ad 3, et ufvea srteniis Sutemy sReffy Ut gon 3, ok 951 & aevita Fifse) wpar
F YUTATHTUS g | T VAT 8! fb AW &A1Y [l T agl o= W firam | weadt &1 v pa a
e & 1¢ ATy g3l 1910 $.7 TRY # Ugd 9wy frdt & urg wReadt ¢t ik A uer oft | Aregw
8t ITPT fHanT 3= gt wHer | et U1 ® gerd: 3¢ o1 e un1 & am &+ srguR famn qufaren
AR SO &Y o T W PR B AR Fd v Sufdm wwr <t et Al & g 3¢ e
Sfrard oT1 TRHN FREUA SHfUBIRT I | g HId A1 ST Y&UTd & SR G S Uers TS| R
TEPd U @ UTI Jg, & AT SR Wxpd it ue, ot & sroft urom g1 st 81

IUYe TRIR Y UgHR 14 IR 7T UY BT IR 9133

W - SATeATRig IuTeaTy <giRafier &1 9 f5a ova o gam um
1. FemHTETE

2. 3ISHITe

3. AR
4. G

Correct Answer :-

25) dI9dl G & ARY H [REGA BT USRI [ & 10 T sramuror ge <&, Syt var 39 wag =8t
T, T qHY & AU Y §) T T BT AW ufeet uger #7 3rerarg ford & Fremararg sw & g am
FremaTaTe Fvar a8t 3, et uftsa sriteaRis Surwry givsiy et gon 9, ofik a8t & qevita (fse) w@a
F YUTHATATUS g | T BT T8l fb AW & 1Y [l T a8l e=0= W firam | weadt &1 aerea a d
e & 1¢ ATy g3l 1910 $.8 TRY # ugd 9wy frdft & ur wReadt ¢t ik AT uer oft | Arew
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T SHBT fhaAT i gt quer # Smar AT1 § gard: 3¢ 1 faendt ur f§ o & o7 srgar fa=r quiamar
WD o € o TS| 3N PR B AR F R o Iufda wmwr f wert et & fg 3¢ e
SR YTI IRHR IS UG ¢ T g HId A1 T USUTT & SR G IS¢, UgIg T3 | TIRT |
TEpd Ug- T ATI I & A1 3R I¥pd i ge, ot & sravit wrar g1 wireit 21

ST TR B UghR -1 YD T UY BT IR qa13:

U - AGP B! Tpd I fAba & q1g 71 ATqH §3i?
1. 3G YT

2. UhIRH

3. YRG! BT HIETE
4. fgt ot wgar

Correct Answer :-

« TR BT HIGTH

26) dI9dl G & ARY H IREAP BT YHIRM T & 10 T sranuror wen <&, et uar 39 90a =61
I, W Y F 1Y W 7| WG BT AW ufedd uget 37 onnTs forel & Fromrare o 3 g ol
freTTaTe T a8 3, et ufvsa srteniie Surm ey It gon 3, ok 951 & aaita Fifse) wpar
F YUTATHTUS g | I8 BT el [ AW &A1Y JXEddt T agl o=+ W firan | wreadt &1 amea pa 4
e & a1e ATgd g9l 1910 .8 99 § Ugd 9HY fHft & ure IRt & iR AreR uer oft | Argw
T2t ST franr o1 gt quer & et 41l § gaa: 3¢ 1 faandf un1 & @ & we srgar fam avfaran
WD o= € o TS| 3N PR B AR A R e Iufda wmwr f wert Aefiat & g 3¢ e
SR YTI TRBR SIS UG ¢ A g HId A1 T USUTT & SR G IS¢, UgIg T3 | TR |
TP Ug- o AT1 I &A1Y 3R I¥pd i ue, i &t Srawit wrar g1 st 21

ST TR B UG 1A YD T UY BT IR Ia13:

U - AP & IR =) 3ru=t YT 9 ) wArelt 82
1. 9%d 3R Rl Uer W

2. THd & 1Y Ig e |

3. TP d & HIY Aeh-HTH TG+ TR

4. 3UST & TIY WXPpd U W

Correct Answer :-

. IPHd & Y Ig U R

27) 1Al G & ARY H I[REAP BT UHIRM ) & 10 T sranuror wen <8, e ar 39 w019 =61
T, TR AHY S /Y T €T TG P AT Ufedt uget 8 $ireree et & fArrarare we § g ol
fremTaTe T a8 3, et ufvsa srteniie Suram sReffy It gon 3, ok 951 & aaita Fifse) wpar
F YUTATHTIS g | T BT el fb AW &A1Y JXEGdl T agl a=1= W firan | weadt &1 amea pa 4
e & a1e ATgd g9l 1910 .8 99 § Ugd 9ag fHlt & U IRwadt & iR AreR uer oft | Aargw
T8t ST fran o1 gt quer § et 41l A gaa: 3¢ 1 faanff ur1 B @ & wg srgaR fam avfaran
WD o= & o TS| 3 WHR B AR F R e Iufda wmwr f wert Aefiat & fg 3¢ e
SR YT| IRBR IS UG ¢ T g HId A1 S U&UTT & SR G IS¢, UgIg T | TR |
TP Ug- o AT1 I &A1Y 3R Iwpa i ue, ot & sraeit wrar g1 5t 21
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IUYF TR B YD -1 I T YUY HT IR d133:

T - Tt &1 b1 fgdt & forg sramuror ge-n 4t ug «a Ty gan 2
1. GG & 1Y

2. TGP b gAUA H

3. qE §1G

4, TGN & &G BH & dIG

Correct Answer :-

o gD Y

28) diadl Tl & ARY F ‘WREGdl’ T YHIRM 84t & e v sramuror gear A, RrasT uar 39 aug
T &, WR U & Y WY g AT W T A ufed ugd A7 serwre ford & fAsmmerg s o
AT uT| FAeITATeTe et 9@l 8, el ufvsa srtaii Sutear gy’ A1 gon ¥, 3R a8t & deuiia
(Fifse) Tpa & uuTTeaTUS 3| U8 |ATE T8l P AW & A1Y Il b1 a8l o=+ ot firam | aadt &1
BT ¥ d ¥ fAeaq & 91¢ HIgH g3l 1910 3.9 T9RY ¥ Ugd 9wy fordfl & Uy Tt 3t iR
aTTHR ygr Wt | ATy T IuwT fhanr o g3 qwsr A 3imar Atl § gaa: 3¢ 1 faendf ur) @i &
T AR 31 quiarer Jg o= & o 15 | 3PS WRBR Ft AR | e v Iufdra uren ot et
Howfedl & fore 3¢ uenr Sifart 4Tl SRS SRR SHftrwi=r 3¢ A gom Hvd A1 3 vauTd & SR g
3¢ USTs T3 | R W TXPpd Ug o UTI g & WY 3R Txpd i ue, ot fEdt sra=it wrar g ot 31

IUYT TR B UGHR A4 I 7T UY HT 3% 9d154:
U= - 3= 1 faeity & gime?
1. g

2. HIT

3. 3d
4, 3fe

Correct Answer :-

29) Siudl 9dt & RY W T’ BT UHIRMH fEdl & e v srryrRur gen A, e var 39 99y
T &, WR JHY & Y WY 8 AT WG T A1 ufed ugd A7 serre ford & fAsmmare s o
1 1| fAeirTaTe B 9l 8, el ufvsa sratearRig Suteamy efvaiy’ AT gor 4, SR a8l & dgdta
(Fafsen) Tpa & uuTTeaTIS 38| U8 |ITE T8l & A & A1 Il b1 a8l o=+ ot firam | aadt &1
e W d | fAea & a1g ATy g3l 1910 3.9 TR § Ugd 90y fhlt & Ui Iad 3t ik
Tt vet W | ATy T8 SuHT fhan i g uwr A omar Tl # goa: 3¢ 1 faandf un) Fh am &
P2 AR a1 quiamen Ha sra= €t o | IS AR Y ToR ¥ & vw Suféa uran &t wert
Al & e 9¢ ueHT Sifart U1l SRS SRISTUR SHfRIFHI=T I¢ A g3 HRd A1 T Y&uTd & BRI g3t
3¢ USTs T3 | R W TXpd Ugn o UTI IS¢ & 1Y 3R Txpd Wi ue, ot f&dt sra=it wram gt ot 31

ST T DI UGHT A1 I Y ¥Y BT IR qa184:
U - AGF {59 ER § Tad! A el A 2
1. dRY
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PRI
3. faeett
4, TGTS

Correct Answer :-

30) SI9dl & & RY H "G’ BT YH1RH fZdl & e v srareyrur ger A, e var 39 999
T8 O, IR THY & 1Y WY AT WREGd] BT A9 ufed uge B9 sere ford & fAeimarae e o
1 1| feIrTaTe Hwar 9l 8, et ufvsa sraearRig Suteamy efvsiy’ 9T gor 4, iR a8l & dgdta
(RIfEe) Yoa & UUTATHATUS T8 | U8 I 8] [P AW & 1Y [l BT 981 o= ot firar | wreadt &1
e W d & fAea & a1¢ ATqH g3l 1910 3.9 TRV § Ugd 90y fhll & Ui IRad 3t ik
Tt vet W | Ay T8 IuST fhan it g ausr A omar Tl # goa: 3¢ &1 faandf un) FHh am &
P2 AR o= quiaren W sra= €t o 1 3N AR @Y ToR ¥ & vw Suféa uran &t et
il & e 9¢ ueAT Sifart U1l SRS SRISTUT SIS I¢ F g3 HRd A1 T Y& & HROT g3t
I¢ USTs 5 | R T TXpd Ug o UTI IS¢ & 1Y 3R Txpd i ue, ot f&dt sra=it wram gt ol 31

ST TR P UG 12 IR T Uy HT IR Iad133:
R - AW gaa: fa urar & fendf 82

1. H&pd

2. 3%

3. HeTgd

4. fedl

Correct Answer :-

Topic:- HINDI (HIN)

1) S =1 ForaT Siedt Sta ST 8 98 ST 6 oo -
1. UgdIg
2. forgar g
3. 8HAIg
4. QAT

Correct Answer :-

. JRATe

2) 79 T YT Rrgor #Y gAfar € -


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

1. SR gt

2. Had ATHRON Y JRIEI Aol
3. Had Uo o T fd gAlfaar

4. Had oG- o TR gAIfaar

Correct Answer :-

o JWRIad It

3) 99 A fPH B¢ & Ud® TR0 # A8 16-15 P fOTH A 31 90f §1d &1 PEl-Pgl 8.8,8, 3R
1 guit R ot afar &1 faem 9 simar 81 g9 sifaw auf 1o g 21

1. ST g
2. AT B¢
3. ORI B

4. PUSTT &<

Correct Answer :-

. TR B

4) - IRBR U7 A T qTqd 32

1. T BRI ATABRT GRT GAR IRBRT ABRY D feran Tar sfienies u=|
2. U RPN ABRI GRT GIR IRBRT ST 1 feram T Soiies ust |
3. U Hfad GRT ISR ST B fordT 71 U3 |

4. BRI BRI gRT il Ut o1 feram a1 u=|

Correct Answer :-

. TH WBRT VSR GRT IR WK SHABRT ! ferar 71 s |
5) SIgT 3R AT B¢ & YU A B9 A1 B¢ AT 82

1. W ¥«

2. ITIERT B

3. PUSAT &<

4, Hidd Bq

Correct Answer :-

. pUSferI BT


https://applink.adda247.com/d/XhqWf9lSap
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6) ‘39t g9 TS W A7 A fFad gri fafda Fau 82
1. TR} e fgad

2. UgHATd JATdATd

3. SIOR[PR JHIG
4. YWY Rig fgar

Correct Answer :-

. IMYR g faqaR

7) 98 3BT ATGHI T B 1’ BT FyuTaras areg Fafif@a d A s ara?
1. 98 G0 SGH 5

2. I8 3T 3EH B

3. 98 B orwgT 3MeHt g

4. I8 & 3T M B

Correct Answer :-

. 97 31 SeH 5|

8) “TRUGN IR’ fHad gRI IR ATe® 772
1. gET PAR

2. B9 TR

3. fawg] guTaR

4, HaRT&Y

Correct Answer :-

S EIEIGECIN

9) YR TFAY’ T WY & ATYR R g fhasd gR1 A forar o 81 v a4 o wwvan 82
1. Rigfe gR1 Urard !

2. Top fR1&1eh gRT g2 fRefed Bl

3. BTHI/BH gRI fRigie Bl

4. U DA GRI GER DA

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
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10) fFa AeHt & TR Y & fawa &1 o Hfa & R gdo faadw= fearsmar g 1
1. ST et

2. YR et

3. faag Rt

4. JHN et

Correct Answer :-

. Y A

11) AP fHg ITHTT (@l ) Ft aielt 82
1. foemt fe<l

2. ST fget

3. URTS fedt

4. BiNTTe! feal

Correct Answer :-

o oy

12) =9 fou ¢ faweut # A fra »fa B ARa Sifea He1 s g?
1. fogrd

2. famufa

3. HRTTE

4. 3HR G

Correct Answer :-

13) o F JH S GUYUT TUT G BT fAe™ GHT g1 g
1. SHTHR0T
2. TTH A BIS e

3. 3(gaTe
4, F=gf


https://applink.adda247.com/d/XhqWf9lSap
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Correct Answer :-

14) YRAY ST P {7 AR fhd il d1 g1 8?2
1. URE
2. 318

3.9

4. QI8

Correct Answer :-

15) WA Afaafad 8q SATHRUl $ ATIRTSHaT gl &, dTfb:
1. SRIad Tt

2. Hdd dTeidh UIdl DI g TU H o HR b |

3. had HINT Hadt sffteafa &1 fasr gl b |

4. I WRI & RIE-3(ARIE Td TN Bl AL b |

Correct Answer :-

. JWidd gl

16) T & 31 &1 SR HH B2
1. Y, URY, SR, 3id

2. URY, GHEIEH, 3id, HeldR,

3. URY, YWY, HalaR, 3fd

4, URY, 3id, GHIeE, HaaR,

Correct Answer :-

« URYH, JHIEE, Haar, 3id

17) WMwﬁmﬁa@%mﬁaﬁﬁaﬁﬁmﬁaﬁﬂﬁWﬁw
ST 82

1. 3TgHT FRreg
2. 3TTHT SRATNATS!


https://applink.adda247.com/d/XhqWf9lSap
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3. 3MqT Iret
4. 3TAHT TS

Correct Answer :-

o 3MTUeT It

19) HTHT HrEA & UHE RO R -
1. IWRIad gt

2. Had gl

3. had fergT

4, Had FHIAT

Correct Answer :-

o SWRIad gt

20) HTYT RIUTHTALTE -

1. AT AU BT f[dhTg

2. HHAIY YT & f[ahr
3, HINT ot I 3R HfNfad o1 fdpr
4. YTUTS T I YT HRAT

Correct Answer :-

. HTST 1 JHS 3R i &1 faem

21) HTYT & WU W T TIRT HS A Sl 3R TSl & S P Ul HINT Hgd 82


https://applink.adda247.com/d/XhqWf9lSap
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1. 3faeft
2. A TS
3. g it

4. faumaT

Correct Answer :-

o faum

22) HTYT PN HT TP YPR 81 ¢ -
1. aR

2. A

3. 44Ul

4, dld-

Correct Answer :-

23) YO BN P fobeq TR -
1.dR

2. T

3.ql

4. d4

Correct Answer :-

24) UG B RIS P! PHT Hd USIRIA 32
1. 971936 3.
2. 91942 3.
3.9 1920 5.
4.9 1947 .

Correct Answer :-

. T19367%.
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25) & A A 3 ey &1 3 A B2
1. fawR

2. IRA-fE

3. Y{HhT

4, JUIER

Correct Answer :-

o IR0

26) fay ¥ T it ST W P G fFa ST H 22
1. 3@R®T

2.4

3. YRd
4, AT

Correct Answer :-

3. 3BT
4. IR [awg-a%] &1 UG B 4

Correct Answer :-

28) fufafad ® & $19-91 9 =T IEP’ & A § 9l =81 32
1. SH gGI BT Siidd 9o fhar T g |

2. U8 U faRg- w1 8|

3. U8 U YRR I I 8|

4. U8 g T§HM gRIIAA B

Correct Answer :-

. W ggl &1 Sidd quiH e T g |



https://applink.adda247.com/d/XhqWf9lSap
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29) fFrafafed & @ o9 YRag @A FdysR 76 32
1. UdTg AR fHy

2. SRR YIS

3. TR AR

4. SICIP T He

Correct Answer :-

o STORIHR UG

30) frafefaa o & SA- snfewrd arfte ot wmar A8t 82
1. S BT

2. N HT

3. Jfaged o1

4. R w1y

Correct Answer :-

31) Fafafaa A @ o fagm 7 sy &1 Qe & adf a2
1. BRI TG fgadt

2. TSR T et

3. A el

4. g P AT

Correct Answer :-

- BRI vrTe fgael

32) Fafafed ® oI a1 sdaR §2
TeRY, JTERT AT HaTT|

o fou fam qa fa frg, ds werg vt
1. ST SABR

2. G SHADR

3. ©UD AADR
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4, 3UHT PR

Correct Answer :-

« KA 3HADR

33) fraferfaa o & o & fore Suged exu-oo0 Al § -
1. &, TURBTER

2. g, Wdld

3. /P TS, PR

4, diaTsq, difear T

Correct Answer :-

. WP IS, HFHXR

34) g gt o @ w91 furde a2
1. 1 HA QHT @M1

2. T1GG U WHT I

3. A M1 Tgl @i |

4. §HA GHET QA

Correct Answer :-

. U W QR

35) g A q -1 FY GuIeH o1 ford §F a1 U & Ty § 319 872
1. U8 U7, GHEIR U3 & YUIGH &l UIds & gRI foral S g

2. T8 UF, ANhDHTUIBRI TIorT3N & e 7 S BT 3T Bl g |
3. U8 U7, YuTea & forg quf w0 & B1ur Sifard et 8 |
4. T8 U4, 3R # &Y 781 g1 =l

Correct Answer :-

. Ig UF, YUIGH & oTE gul &0 J BT 31fard 751 51|
36) foH & & P-91 BT erSiar & & e ganm @2
1. -HEM! AT

2. 75 B! SHTaIeH


https://applink.adda247.com/d/XhqWf9lSap
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3. YR BT TIer
4. AT BB I

Correct Answer :-

. YRATT B! Mo

37) o & A T @) {5 Sarl &1 T U Uh Uy 32
1. Q9 DI Id

2. d1aH

3. TSl & Radrs!

4. STl arelt fagan

Correct Answer :-

38) A & & Si- fardrwan omard goit yee fRad) & Fee & =181 s usdi 32
1. forsitfaun

2. i idd dd

3. AT HIGHT

4. TSI feia

Correct Answer :-

B REA LR

39) Fafafaa Wl A P T o< @2
<t gitra Ry g1, 7= ras sav a6 |
B3 I WIS, IS AR GH 1 T 1|
1. GR31 B4

2. TifdeT B¢

3. AT BC
4. RAB<

Correct Answer :-

. ARSI B


https://applink.adda247.com/d/XhqWf9lSap
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40) YgTIS JTHN BT -1 AT ST § -
1. G-
2. Hicwd
3. o
4. hidd

Correct Answer :-

41) Tt w-uRsT & Hures & e & A 5y U &1 o 18T feran < Apar 82
1. WFIHIU Haeh o=

2. UG I

3. 19 1 RIbraa e o

4, Rirad o

Correct Answer :-

42) STAD] B HIP WG | 3¢ BT FHd fha Rigiad & Sl giar 2
1. SafaaTd frerar o1 Rigia
2. foramefierar &1 Rygid

3. gH9g &1 RIgid

4. 3D FT Riid

Correct Answer :-

. Topamfiaa &1 Rigia

43) TREY & T DI A?
1. HEAR

2. ARG

3. AR

4. TG

Correct Answer :-

. TG


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

44) I 1 fou ¢ faeweat § A fHaeT Samrue -
1. SWRIad gt

2. had Yol AUl BT

3. Bad =X Yl &1

4. TG4 AU BT

Correct Answer :-

« $Had g Il &

45) SIgY BT Y AT ggray o1 3 § -
1. faRueht g

2. TRy # 91d HATI

3. a4l d1d HeTl
4. 3OHM Fgh Hi gU &1

Correct Answer :-

o S{UHH FgHR Hi U IEI

46) gIf¥e, YHHc B fhd BT &1 U 82
1. T &I R0d

2. Tt giRdT

3. P

4. 3G

Correct Answer :-

47) TP TAD TUTH 16 AEATE gicit 31 i § Y 1Y 31a| - SIS fawan fra s< #1182
1. <IUTE B

2. RN awf &<

3. AT B4

4, AP B<

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
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g;?@wmm-ww@wﬁ%waﬁmﬁﬁvﬁﬁw%wﬁaﬁ’%ﬁw

1. MY
2. fagammy
3. QAR
4, TG

Correct Answer :-

49) “TP YT HIfd & URT | P R TR AT eRT 11

RT3 98 YTl fibe | At 399 T 1 R 117 - 39 el & dad &I 9 oid 82
1. HAR

2. faemufa

3. 3R GI@A
4, TR

Correct Answer :-

. SERGWI

50) "WgUUI B wHET fa 4ot o1 ey 32
1. QP

2. 3YH

3. gHW Y4

4. AT

Correct Answer :-

. U UYH

51) gl &1 J=A frd-it AT STel 82
1. SHITE

2. IR


https://applink.adda247.com/d/XhqWf9lSap
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3. 3
4, foRu=

Correct Answer :-

U Y HIA arelt wAfaa 21 ofteq & fafyy =< & A IRga FRAT A FTHH B

4. Rsg dcd

Correct Answer :-

. HAIdd

53) fedt afera Ay o1 Twfta d wd9y swaer s w1 wmar 32
1. faenfAare oy

2. gdpid FAurdt fARTen

3. TS A gt

4. STRHR YIS

Correct Answer :-

. faenfAara fy

54) fEdtar Ut ST B AIGUTIT DY ST R1gre & forg -
1. B

2. A B

3. AUl g |

4. ARy 5|

Correct Answer :-

. Aol B

55) Faferfad ufemal § S19-a1 seeR 82


https://applink.adda247.com/d/XhqWf9lSap
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$d ¥R HR & 3r<X 3§ A,
&4 IR WX & 3G @I &
1. Y 3ABR

2. JHP 3TADPR

3. TUD 3ADBR

4, 3UHT 3[APR

Correct Answer :-

o JHD HADR

56) U UUR # 4 8 WG $O T 1 47 P Yo o) 957 B SIET A gt &t T B 1 WA 1 sfere Soraw 3w

3R IITET1 g3-g¢ B WA AT, at 3! fafea gf wimewn fr et g Iur #wa €, o fe g s
3T fIBTY 9@ ) dUR Teq 8, e ¥fa aias @R & e 80 sMe @ & RS [ a919) TS $4d 3,
IBIH TUGT FH T YT THT 5! faardT 4T, Ifep 3511 $ T F1 fhy A s aewr g9 vud I $ifts geaa
Tuga g1 A @ & Sitas &1 3L Fad IUAT TERAT 8, IAP! UfAsT $U g3 21 itz srawyt & 3% fvd A got
P A8 811 5 R, TUar U 3R Weltd it arn @11 Bt A S a@ 7 7% 3 B4 & 3R wei e aee
e Wil srazy B, WR 98 Tard @Y SURHT HA71 81 AFan | 3§ 3 8 g9 W 7, el 3ruA sftae &t srftfa s
Y A &1 uivay fear g1

IugF ulsde &) Ug@r - feu T uy #1 I fafe:
TR ® 49 & gerial @t or afd gl 82

1. 3 TRAID B TAT IR 5 |

2. 37T AT 3R ATH & H 751 I8 Il

3. 3! U gIe &

4. 9P WRD U S1d & |

Correct Answer :-

. 3! UfAET 3R =19 ST # 781 T8 Sl

57) 59 GOR ¥ 49 €t 99 $© T8 81 47 3 YT o 9gd A el § gt 3w 7w B AR o1 s
IoTHR AT 3R ISEIT §e-g¢ PR AMA AW, @Y 3mueh! fAfd 81 wirewn & et g0 Surar -4 €,
¥ 1T 59 oA ST fABTT 99 @) dUR g4 7, et |fa sRiaren wam & R 89 M @RE & WIRS
g FTHR WS HRA 7, S U1 FHM | U1 Gy ) fYaran 1, 9fer 391 7o T v fer 2
o wewr g vud [ e Yeuar Jugd €1 o @ & Siia &1 3ER9 $ad $udl 9eRAT 7, SAP!
wfasT 4 g3 81 R sawt A 37 et A w1 9o =81 3= o o, $uan wuman ok wRele @t
T F1 Bt A 1 9 T8 76 3 B9 A 3R HT | wHa JuTe Wil srawy §, R a8 w@rd @1 U
FHRAT AR AT 3 B IS o1 §, g 3= ShiaH 3t srftfa wa wua agsaa w1 uikeg fear g

ST URwde &l Ugde i fIu T uy &1 I« fafQu:
N TR F1 I e T g AHar g2

1. Sita T A&

2. =0T & Hgdl


https://applink.adda247.com/d/XhqWf9lSap

AddeE
Google Play

3. 3O SHHU™T
4, Y= P Tl

Correct Answer :-

. Sftaq BT

58) 39 UUR ¥ ¢ 31 WG $O eI 31 YT B TSN l Igd HH STe! A gl oW TS ¢ | HAR BT 3fded
IoTHY AT 3R IEIERT gg-ge PR A+ AW, A 3muah) fafda gt wimen % et g0 Surrar v &,
o fore & oA 3iTE fASTE @ &1 dUR Yed §, A Wfa aRiaren vE & i g6 sMe ave & WRS
g STHY WS FA ¢, I TUUT HAM F IUAT Y9 T f¥arar on, 9@ 39 7o 39 o fHu 3
o vt g TUA ¥ Siftre Yeuar quga 81 o @i & Sfia &1 3ERY Had SUAT ISRAT 8, D!
TasT $U g3 81 AP sawt A 3% fHlt 7 go1 a9 71| IR o0 o, $uan wumn ok Wals o
g &1 | fadt A o 99 78 % @ 19 A iR Pl eI ure g Wl srawy 8, W a8 wrd Y Iurgen
HAT T8I et | 3 W 3 € g o §, RregiA orum shtaq 1 siftfa wva wwa g &1 ai=a fear 21

Sudad ufisde Bt ugHR - T T uy #1 S« ffR:

IRwG & AR §H T B | YT HHY gl faar1 arfgy 2
1. St wqgor o

2. 30 HHM H

3. UfasT HHA

4. 3aATERUI gg H

Correct Answer :-

. Y HAMH

59) 39 HUR # 4 g1 A9 $© 761 81 YT B TSN I Igd HH SNTe! A gl g@ TS ¢ | HAR BT 3fderd
BT AT 3N ISTETVI ge-ge PR UM W, af 3! fafed g wiewn for e g0 Surgn o
fo% I 30 oA ST fIaTT a9 @1 dUR TEd §, et Jfa aRiaren vam & 1T 89 3Me @ & WRS
fRIe TR WS F §, ST AT HHA A U1 UG 8 faaman u1, 9fp 3911 7o T o fee 9
o wewt 5 vU @ Siftre Yeuar quga 81 o @i & Sfia #T 3ERY $ad $UAT IERAT 8, D!
wfagt &4 g5 21 R srawt A 37 el Ayt 9o =gt 3= o Roran, $uan Human ok WRele @
e $t| fHA A w1 9 98 6 @ P 2 3R Fel T ArHa gHS Wrdf srawy 8, wR 98 Wrd $ SurgEn
FRAT AR ST 3 B A §H U o §, R 3rm Shiaq 3t siffa wa wua agsra w1 uRea fear g

IUYa Ufvde &I Ugdy I feU 7T Uy &1 3« forfau:
T B TSI A FIT AU 32

1. Tt g7

2. X &1 AT HAT

3. ¥R ST

4. AT o forg Site Siftfd H=eT

Correct Answer :-

o rff g
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60) 39 TUR ¥ ¢ g1 A9 $© eI 81 YT B TSN il Igd HH TGl A gl oW TS ¢ | HAR T 3fderd
ISR Y 3R ISTETVI ge-ge PR A W, af 3! fafea g wiewn fr e g0 Surgn o= &
% I 30 oA ST fIsTT a9 @1 dUR TEd §, oMt Wfa aRiaren va- & 1T 89 sMe @ & WIRS
I TR WS F §, I YT HHA A =1 JHY 8 faaran u1, 9f@p 3211 7o T o fee 9
o e gu Tud ¥ e Yeuar JHgd €1 o @ & Siia &1 39 $ad $udl 9eRAT 8, S9!
wfast 4 g3 21 ARE sawt A 37 el Ayt 9w =8t 3= o o, $uan wuman ok wRele @t
e $t1 fHA A o1 9 98 6 @ P A 3R Fel T AHa g Wrdf srawy g, wR 9 Wrd $ SurgEn
FHRAT AR AT 3 B 3§ IS o1 §, R 3rm ShiaH 3t siftfa wa wua agsa w1 uRkeg fear g1

ST TR FY ugHr 1 3y T vy &1 Ik fifae:
TR # {59 YR & A7 B ToI gt 82

1. TS ¥R o8 §91E 7|

2. ForgiA T Bt g Bl

3. foTg 1A 310 STaH & AI%@ & g 37001 & |
4. fog17 ggudd 4= wwm|

Correct Answer :-

. 581 o Siige &Y Hgsra & forw srdur &6z |
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PROFESSIONAL
¥ Tl EXAMINATION BOARD
@bgg%rrndmotion Middle School Teacher
Eligibility Test - 2018
9th Mar 2019 02:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) Which theory laid the foundations for behaviorism? / %3 Rigid A ggRare &t g @

1. Functionalism / UBTIATG (baRHeISH)

2. Gestalt / TRElec
3. Connectionism / GAISATG @%ﬁ@)
4. Structuralism / GG

Correct Answer :-

« Connectionism / GITSATE (ﬁ%ﬁ@)

2) yygotsky's work serves as foundation for researchers in / Wﬁw G|

BT H Mywdie & e g o1 w19 Fear g1
1. cognitive development / T fAHT

2. pedagogical skills / Q& TOIH HIYA

3. emotional intelligence / HTA-TcH® §f

4. reflective practices /ﬁi?ﬁ?ﬂﬁ 3T

Correct Answer :-

« cognitive development / {-iill"lld-lcb EEILS

3) Which of the following is the most appropriate approach for conceptual learning?/

fFafafad & ¥ dfive oiftrm & fore 9o Sugad s s @2
1. Deep learning approach / e 3‘|'f€|1m gf@a%w
2. Surface learning approach / ¥ 3TETH m


https://applink.adda247.com/d/XhqWf9lSap

e
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3. Strategic learning approach/ W &rf‘EITITr m
4. Memory based learning approach/ F:jﬁ‘{ TR S1fETH W'UT

Correct Answer :-

« Deep learning approach / 1e 3fETH %’@Hﬁm

4) On what is based the need for teaching philosophy of education? /ﬁT&‘IT 37

fRreror gz &t sTawgedr e wR snuTRa 82
1. All pupils are not alike /Hﬂ-ﬁfﬁww@@rﬂ%’rfﬁﬁl

2. Different systems of education found in different countries / S{AIT-3A AT a_Qﬁ H 3el-
3T R1efor yronfert & STl g |

3. Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ

SRR A TR1&1T & B U TR S1eHT-3{elT TV 01 o fhT|
4. Different ways of teaching-learning /fQT&l'UT-&@Tm & faft & |

Correct Answer :-

» Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ[

SRR A TR1&1T & B U TR S1eT-3Hel] VD01 o fhT|

5) OCD does not affect which of the following cognitive constructions?/
S Frrafefaa Sxmres fFafon & & fed gwifaa 98 srar 82
1. Believes about inflated responsibility/ Sifafad IRalRid & ufd fay
2. Underestimation of personal ability/ G &HAT B HH i1

3. Intolerance of uncertainty / ST &adr &t W’%’@Fﬂ

4, Control of thoughts/ foaRl o= gz

Correct Answer :-

+ Control of thoughts/ faaR W g0

6) Emotional development is part of ./ HIGATHS fapT™ Ca) %T\‘IT %I

1. Motor development / fhaTd® (HIeR) fawr

2. Cognitive development / ST [AHT

3. Psychosocial development / RIS fawT


https://applink.adda247.com/d/XhqWf9lSap
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4. Sensory development / Fddl (HER) fadbra

Correct Answer :-

« Psychosocial development / AAIITHTINT faH™T

7) A child has been bullied in the bus every day on the way to school. Now, when he hears
the sound of any bus approaching, he begins to panic. What principle of learning explains
this behaviour? / % T= P W@ e SITd §E B ST o1 {1 1aT ¢ 1 319, o9 +ff a5 faeht
T & URT 31 Dt AT T 3, O 98 TG a1 3 | AR &1 B 1 Rigia 59
HGER 1 TSI ST o2

1. Reinforcement / gﬂé?ﬁ

2. Punishment / ¢8
3. Stimulus generalisation / I U JrHhR]
4. Stimulus discrimination / 3&19% favdiau

Correct Answer :-

« Stimulus generalisation / BE‘TW AR

8) A child is motivated to jump from the first floor window to the ground because it gives
her a thrill. What motivation theory best describes this kind of motivation? / ¥ dl m
Hfora ot fas®! & 9H WR B & fore aiva giar 8, Fife g8 39 g dar 31 fra
PR P RN RAGid 39 YPR B U0 BT a4 33T qui- HId 82

1. Arousal theory/l;h_fﬁ'qq Rigid CRENN @ﬂ)
2. Incentive theory / Uicie Rigid

3. Drive theory / §Igd Rrgia

4. Instinct theory / Qﬁf Rygid

Correct Answer :-

» Arousal theory/thﬂel'q:[ Rigid (RT3 ?Ihﬂ)

9) Which of the following sentence is TRUE in the context of guidance and counselling in

school?/ FFrafAfEd & A ®19 O1 919, Y@@ § ARfeRi i W=t & Hef o gl 32

1. Talking about my problems, in counselling or otherwise, isn’t going to help. / HTITIHT T 3=

H A8 guersli & IR H 91d HA 4 H DS Hea el 7 @l B

2. Counselling takes only one sitting to be effective. / TRIARIGTAT UHTdt g o feld had 1 8
o (e BRar g


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Helps in working through personal problems that may affect academics or relationships. /

Oqlro\rd‘gl U137 & ATEHH ¥ HTH B4 H 7SS Hdl g ol fRrenfae) ar RNeal o uvifad &
bl g |

4, Students get counselling only because there is a counselor in school. / S Pl had 2gfau
TRTAR] AT 8 riifep faereara # R=iarar 3|

Correct Answer :-

« Helps in working through personal problems that may affect academics or relationships. /

oufon*lg U137 & ATEHH ¥ HTH B4 H A Hal g ol fRrenfae) ar Real & uvifad &1
ghdl el

10) Which of the following provides excellent resources to explore? / FufafRada s

TdT T (TR R $3) & I ISPy H18= UeT H3dT 82
1. LCD projector / Tagret ISR
2. Intemet/é?@_c'

3. Interactive smart board / '{;C\QECd H—Ilé dls

4, Language Lab / RICEASES

Correct Answer :-

o Internet/ s’aﬁa

11) Which memory is connected with episodes and events? / TG 3N gedTsi & 91y

o9 W Wfa St et 82

1. Long-term / zfrgn’afﬁ

2. Episodic / AT Wi (TUife®)
3. Semantic / Y (A (FTHCH)

4. Short-term / 3{eUTalY

Correct Answer :-

. Episodic / U Hfd (TS h)

12) The type of personality called ‘Asthenic’ was introduced by / Rif e AHe Aafea
forad gRT yRgd fosar mar

1. Freud / /IS
2. Sheldon / Silﬁq
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3. Kretschmer / ShRIHY
4, Jung / Q,"T

Correct Answer :-

« Kretschmer / SHRHER

13) The 3 primary laws of Thorndike’s theory are: / %ﬂ:i?ﬂw & Rygid & 3 i A

1. law of readiness, law of exercise, law of effect / TR BT FTH, 31T BT [HTH, YU BT
R

2. law of intensity, law of analogy, law of assimilation / GIEGIEE ﬁ?m, Y DI ﬁ?m,
STHIATABUT DT FTH

3. law of action, law of experience, law of result / S BT fam, YT Pl faq, gfvomg &1
[BRE)

4. law of use, law of practice, law of disuse / TN BT W, 3T &1 471, 3w &1 ™

Correct Answer :-

« law of readiness, law of exercise, law of effect / AU bl ﬁ'CI'JI[, S b1 ﬁm:r, UHTd &b

14) Minnesota Multiphasic Personality Inventory (MMPI-2) has / e e ioe

qaHTeId) §ded (THTHdeE2) A A= B
1. Above 400 items / 400 3TScCH ¥ 3w

2. Above 500 items / 500 3MTgCH I 3fed

3. Below 500 items / 500 3TS¢H ¥ HH

4. Below 300 items / 300 Gﬂ?ﬁﬂﬁm

Correct Answer :-

« Above 500 items / 500 3TSCH T 3H(PH

15) In which of Piaget’s substages of sensorimotor stage to children repeat pleasurable

actions that first occurred by chance? / forars #t ﬂaw TMTHD ARIT (ﬂa’cﬂ
UM SaAT) B Fordd SUSTRIT A T ITHGETAP BTl DI GIgRTd & ol
Ugdl IR ST 9 g Y2

1. Primary circular reactions / PIKitac Q?ﬂ-q &w
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2. Secondary circular reactions / TTT0T Q?‘ﬂ'q W
3. Use of reflexes / Sl m&h GRS

4, Mental combinations / Iﬂ:ﬂ%ﬁ; ﬂ-&[w

Correct Answer :-

« Primary circular reactions / EIT%F&W Q?ﬂ-q 3’|Il a5 3 Q

16) What have the children developed when they are aware of their own mental processes? /

aﬁg@ﬁwﬁwﬁamﬁ%wwmwmﬁﬁm
BId 82

1. Metalinguistic abilitics / SfETHTHTS &HATY (HeTfelidiRed Tdiferd)

2. Metacognition / \wa (ﬁwﬁ:ﬂﬁﬂ)
3. Meta-awareness / STISTRE S Al (HET-3ATRAY)

4. Metamorphosis / TATIRUT (HeTHI RI¥)

Correct Answer :-

« Metacognition / &mﬁ (ﬁE‘WT:ﬂﬁFD

17) What is the smallest unit in the writing system?/ G yuITelt # 9ad Sidt WI% T
82

1. Nouns / 31T

2. Verbs / fopan

3. Phonemes / WfAH (Cl'ﬁeﬂ:l)
4, Graphemes / gfofe (‘;lTaﬂ:\‘:D

Correct Answer :-

» Graphemes / aftfa (‘JITaW\‘:I)

18) What cognitive principle does a child possess when she understands that the amount of

clay in a 2cm ball remains the same whether the ball is flattened or made into a stick? / U

T B T GFFATHS FAGid YT HR AdT 8, 59 98 59 JHSH § J&H
giar g P 2 At arat v T § ) (@) B AT g el @ 918 e B
YucT fhaT SITe 91 39 Sl & ¥ H STdT wiTe?
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1. Conservation / &0
2. Volume / 3TId-
3. Hypothesis / TR &I

4. Trreversibility / STTEhHUNIT

Correct Answer :-

« Conservation / &0

19) What are the characteristics of scientific inquiry?/ aﬁT&ﬁ? EIEEd] ﬁ'@'q_d'lﬁ' w1 gt

82

1. All of the above/ SURIGRT FHI

2. Learner engages in scientifically oriented questions only./ ﬁT&‘ITQﬁaW ¥ Y Had 3HY
Ui B e gId 5 |

3. Learner gives priority to evidence only. / Rremff Hae Teg o1 Urufiiear %I

4. Learner formulates explanation from evidence only./ fi’r&ﬂ%ﬁ%ﬁ 1&g @' W a?ZIR
RGN

Correct Answer :-

« All of the above/ U 4t

20) Children who come from homes with good parent- child relationships tend to be

R o_Y & AR SR Il Py SFOT I S AR g El
1. Intolerant of others /m & ufd W%ml
2. Impulsive / 3ot (ETG%HT:I)

N A .
3. Posses weak intellectual control / PHGIR &g P [GRELRCILS

4. Successful in social participation / qrEToie HRTGR! # 9% d

Correct Answer :-

« Successful in social participation / qrEToie HRfGR! # 9% d

21) Kohler’s insightful learning proved that learning is ./ aﬁw % GI?ITE:@
3R A Ry o 6 aiftema gl

1. an autonomous random activity / (P 44T L||‘zE'.|(-'CE9C‘4’> Tﬂ%lﬁﬁ[



https://applink.adda247.com/d/XhqWf9lSap
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2. an event of trial an error / YUd 3R _ar% G| Udh Yc-l

3. a new perception of the total situation / quf fRfq &t Udh :l_ﬁc 3‘@‘1-‘[[%[
4. a connection between stimulus and response / B?ﬁ‘l:ﬂ 3‘?'? PIRIERI] & d dh g9y

Correct Answer :-

« anew perception of the total situation / Hq\uf fufq ot Uh Ts“ 3133-‘[[%[

22) Vygotsky places considerably more emphasis on factors contributing to

cognitive development./ CIENIR k| W R dgd 3f¥re ok fear 8 =it
HIHTHS fIHT | aTeH od &

1. Personal / SfaiTdl

2. Social / ATHTS

3. Emotional/ HIdTHP
4. Cognitive/ GIHTHD

Correct Answer :-

« Social / AR

23) According to Piaget, what method of processing information helps in the creation of

schemas? / TORTSl & IR, @11 ufshare=ur &t S1F-A faftr sifafa aien
&@an) & frafor d veg sdt 22

1. Questioning / YIS (FARIT

2. Motivation / STHURUI (HIfeaTH)

3. Deliberation / fO=R famef (Sferferzm)

4. Accommodation / THGI (THIHISTM)

Correct Answer :-

« Accommodation / FHGSIH @ﬁm

24) Maslow’s five-stage model is in the shape of a / ATl & Uid-3aRIT HiSH TH
& APRA I

1. Pyramid ACRIEE]
2. Square |


https://applink.adda247.com/d/XhqWf9lSap

e
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3. Rectangle / 31Ud
4. Circle / dd

Correct Answer :-

« Pyramid / foRifere

25) Ankit cheats on his exams and ends up failing in his final assessment. This can be attributed

to his: / 3ifpd T A T HYaT 7 3R A SifaH spa A B d gl ST
21 5T U IS T PRUI $ STRICR 38T ST Hahdl 8:

1. Lack of parental involvement / ard-fodar s ﬂglﬂﬁ?ﬂ I AHYHId
2. Poor reading comprehension /'q'—c(r god ﬁ S{IYRUN

3. Lack of self-esteem / STH-HHTT a’ﬁ Wﬂ

4. Dependence on others / w U ﬁﬂ-TTdT

Correct Answer :-

« Dependence on others / gﬂﬂ R AvRar

26) According to the theory, men and women are different and unchangeable due to

their intrinsic differences between the sexes. /_ﬁ?s{l?la? SRR, Wﬁﬁ Gﬁ?tﬂ%?ﬂ\?rﬁ
& foiTl & ot Sriaf¥e SiaR & HRUT ST 3R Sufkad-ia 3|

1. Social constructionism / JTHTII HHTUATE (RIS e aRI-oH)

2. Intersectionality / GI?ITH‘J-I'ITﬂ'q @?@Wﬁiﬂ)
3. Gender Essentialism / feT Sifarfar

4. Gender performativity / feiT QaQi:i

Correct Answer :-

« Gender Essentialism / feiT Sifarfar

27) The learning style that is greatly associated with activity is: / fafafyr & Ty dgd PO
W #Y Aeft 8-

1. Visual / <
2. Verbal /Iﬁm

3. Kinesthetic / m%

4, Auditory / #dUl
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Correct Answer :-

 Kinesthetic / EIO_IE_"I@W

28) Which of the following is not true about constructive teaching approaches? /m

A B TP 107 TRH0 & IR ° I 8 32

1. It allows the teacher to focus on important and relevant information. / Zl's’ ﬁT&W ﬁ W 3‘ﬁq
TG S RI TR & Hiad B &1 S a1 e

2. Students learn to value the opinions of each other. / €912 U Cc'q\{-l\{ % Hd ﬁ Hedd 2'0‘”
A gl

3. It helps to customize the curriculum to each student. / & H@Id” 91A ﬁ UlodenH ﬁ
S & ATIR §9H # Hag dral gl

~\ o
4, Discussions on the thoughts and ideas of a student are used. / L €914 % Hid @T Ia Ellil U

T} BT ST fhaT ST 5 |

Correct Answer :-

« It helps to customize the curriculum to each student. / g HCSIGD 91A ﬁ Uldden H ﬁ
& & ATIR §9H H Heg Hral gl

29) Erikson, a follower of Freud’s synthesized both Freud'’s and his own theories to create
___ stages of human development, which span from birth to death. / WPTdS &

AT TRSE 3, WIaS 3R 3T WY & Rigidl ») 7a e &
a1l B I & fore Axaifvd far, s 571 F g 9@ gt 21

1. Ethological / 3@[?1%%

2. Epistemological / IHEHHE
3. Psychosocial / TN
4. Conventional/ UXHIR[Td

Correct Answer :-

+ Psychosocial / TSR

30) children should start developing cognitive abilities before they can experience / Tsliﬁ' a?r
BT AJUT F TGP V Ugd, GFHTASD 1Sl &1 e S & H
CEIEIY

1. Fear / &Y
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2. Embarrassment / W
3. Anger / 1[&T
4. Disgust / YUl

Correct Answer :-

o Embarrassment / W

Topic:- General Hindi (L1GH)

1) fia, erfid, B G 82
MR 4 favg #t afeit
Fadt gt STl 3,

foa sareT B o BT
SUdl § $B Hedl ol ¢
¢ W TP 19 Hi,
"3d TR afe gt faer,
3T AR & Ul BT

# oft 51 1 3fte G|
M- % o1 s,
UTed 9P @S d¢ W B
1fia, arfla, #19 Jex 82
3T Y I T ST W
St @id TR BT At
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P! 93 IS & Aelt|
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forg, It & Ma IASHR
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<t it 8 1l o o
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g1 TR SHD! YT Y
W ¥ gl dig a3l
T-at @St i Ft
o § fSUs? gt 8,
'gs 9 I A HS Wa B
faemT, of 79 & R 1
98 a1, W fosft o |
T Y61 3P 3R 8
ifa, enfid, $19 Few 82
ST TR $I Ugh 1 TS WA aTd YA BT IR Ja1s¢l
TY: ‘ISl g BT R 34 §2
1. 3T Y PIS 78T

2. MaR & Il

3. JUATS §8 dl

4. fHARI 9

Correct Answer :-

. RIS

2) 4, srfta, 19 Ger 82
MR 1t favg Ft afe-it
Tt Tl Al B,

e ga@T HX A4 B
3Udl |/ $B bedt ol 2|
¢ W TP AT Wl
"gd ¥R afe gt faurar,
30 UdAsR & Ul BT

& oft w71 &Y e gATan”
- g8 6 I,
UTed Y& W31 d¢ R 2l
wfiq, enftd, 19 G 22
3T P I T STA W
it @id W ST &l

Ug ar A @id o
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@ 35 32 T I
AT YD o9 fhor axiedt
Fot 3T ol § B
forg, It & Ma IAgHR
g STd 8 § q1|
IS 76T P T &R I F,
BT T YD BT W B
ifra, enfid, $1H v 22
3 O € ugl, T o
TEAT TR SHD! 7T Y
WX 9 981 Wid a1 g
- @S i
o1 § 5T g 8,
'gs 9 F A HI Wa B
faemT, o@f 7= & R
95 TaT, R feet
B TET THDT 3ieR &
ifia, enfid, $19 Fw 82
ST Ui $I UgH 1 TS WA aTd YA BT IR Ja1s¢l
T "3UA TAsR & U &1 & o1 oY it gAmar ¥ fraet snwien 82
1. qdi ol

2. b Dt

3. QTS &l

4. YD1 P

Correct Answer :-

« T[T Bt

3) 4, orfid, 19 Hax 32
T e favg @t afesit
Tt SEedt o 8,

faa o1 X 1 31

SUdl |/ $B Hedt oIl 2|
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9 W TP 19 Hi,
"&d TR afe gt faer,
3T YA & Ul BT

# oft 51 3t 1fte G|
M- 8 T e,
UTed Y& Tl d¢ W ¢l
ifia, enftd, H1H v 32
3T P I T ST W
it @i TR B et

U par i @id o

@ 33 32 & I
Tl P o fhor axieht
Fot 3T ol § BA@R|
forg, It & Ma IAgHR
TE STd g § q1|
IS 76T P T &R I F,
AT T B HT R
ifia, enfid, $1H v 32
3 0 € ugl, T o
UEAT TR SHD! 7T Y
W | g5l Eia A gl
- @S i
1T § s g 8,
'gs 1 7l & H Y Ha B
faemT, of 7= & R
9% Ta, R fedt o d
B TG THDT 3ieR &
ifia, enfid, $19 Few 82
ST U F UgHR A2 IR A ard Y= $T Ik qarsy|
WY: AT Y[b o fHvor aid it 3T uof | Bev sueT way fFad 82
1. THT B & auH
2. U0 AT Hare 9
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3. Yb-Y[H! & YA quA
4. Tt O et

Correct Answer :-

. YHIH & I U Y
4) g, srfid, B9 Hex 82
MR 4 favg #t afeit
e Tl W €,

fa st B o BT
SUdl § $B Hedl ol ¢
¢ W TP Y19 Hi,
"3d TR afe gt faer,
3T YAgR & U BT

# oft 51 Y 3fte G|
M- 9% ¥ R,
UTed 9P @S d¢ W B
i, srfia, @19 ger @2
3T P I T ST W
St @id TR BTan At

U par g wid §

P! 93 IS & Aeltl

AT YD o fhor axieht
Fot 3T ol § B@R|
forg, It & Ma IASHR
TE STd g # q1|

IS 76T P T &R I F,
AT T YD BT W B
ifia, efia, B9 R B2
<t it 8 1l o o
UEAT TR SHD! 7T Y
W | gl dig a3l
TNY-aRY WSt i @t
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o1 § 5T g 8,

g8 9 i A H3} e B

faeET, o@f 7= & R

9% al, W fedt o d

B TET THDT 3ieR &

i, srfia, ¥ grex 82

STT Ui P UgHR 1Y YR oF T U= $T Sk qaige|
wy: Wi 3rfia’ &1 Fsta uTa &1 32

1. I9Gad il

2. 38 Had goT Upid B iU 3Fd Higd & TR i TS 5|
3. 3O Pad GER 3R T HiaT3 &) qer 8 |

4, HIA A4 B JAT [ &b A I B TS §

Correct Answer :-

. IuYad ol

5) i, srfld, B Yar 72
MR id favg @t afet
Fradt Tgdt St 3,

f&et goT B A7 B
SUdl |/ $B Hedt oIl ¢l
e W TP 19 Hi,
"3d TR afe gt faur,
3T YagR & U BT

# oft 51 1 e g
- e T I,
UTed 4o Tl d¢ W ¢l
ifia, erftd, H1H v 372
3T P I T STA W
it @i TR B &t

UG e A @id o

& 33 33 & I

Tl YD oI fHor axieht
Ft 3FT ot § BB
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forg, It & Ma IHEHR
TE STd 8 # qa1|
IS 76T P T &R 3§,
BT T YD BT W B
ifia, erfi, B R B2
3 O+t B e, U v
gl TR IAD! AT B
W gl dig a3l
- TS i
T § f5ues gt B,
'gs A 71 & H Y Ha B
faeET, o 7= & R
9% a1, W fedt o d
B T8 THPT 3ieR &
wfia, enfia, B g 82
SUd U $ UgHR AR IR WH aTd U= $T Sk Ja1se|
wy: 1! fHad a1d Hd gU 98 W 82
1. faurar g

2. e

3. YH-YH1 A

4. fPARI

Correct Answer :-

. R

6) i, orfla, #17 Yo 272
MR M favg #t afe-it
Fadt gt STt 3,

fa sareT B o BT
SUdl § $B Hedl ol ¢
¢ W TP 19 Hi,
"3d wR afe gt faer,
3T AR & U BT
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# oft 51 1 1fte gET|rn”
M-TTER 9% 81 e,
UTed g @S d¢ W B
ifia, erfi, B9 R B2
3T Y[ I AT BTA W
S @id W T &t

Ug ar - @id o

P! I3 3 7 /M
AT Y@ o9 {07 aeht
Fdt 3T ol § B
firg, gt & e IHEHR
TE STd ¥E # q1|

I 76T P T &R I F,
BT 7 Y BT W 2
wfia, erfid, B R B2
3 O+t B e, U v
gl TR IAD! AT B
W | gl dig a3l
A-aRT TSt Hiw Bt
T § f5ues gt B,
g8 T A Bt I B
faeET, @ 7= & R
9% a1, W fedt o d
T 8T THPT 3R 3
wfia, enfia, B g 22
SWT U F UgHR AR IR WA ard Y= $T Sk Ja1gy|
TY: IF FHART HIGHT 5161 WX TIS 3P H qI6R 3Tell ¢ df 39 T $8d 82
1. Feiy

2. 7

3. BEMI

4, DAl

Correct Answer :-
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7) 4, enftd, B JYev 82
MR ia favg Ft afe-h
Fradt Fgdt S 3,

fa soreT B A BT
3Uel | T Bl ol g
e W TP 19 Hi,
"3d TR afe gt faer,
3T AR & Ul BT

# oft 51 3t 1fte G|
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98 T, R feedt R

T 61 SHST SR B

wfia, enfia, B9 gee 82

SWT U F UgHR AR IR WA ard U= $T Sk Ja1gy|
TH: OTE PIg HIGAT 3R & el 8 ot IS4 FT $5d 82

1. Tt

2. i

3. 9@

4. 37

Correct Answer :-

8) i, arftd, F1 Y 72
MR 4 favg #t afeit
Fradt ggt ST 3,

fa saeT B A BT
SUdl § $B Hedl oIl ¢
¢ W TP 19 Hi,
"3d TR afe gt far,
3T YAgR & U BT

# oft 51 1 1fte gET@rn”
- 8 o1 s,
UTed g @S d¢ W B
ifra, enfid, $1H v 32
3T P I T ST W
<t @id W o At
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P! 93 IS § Al
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Fot 3T ol § B
forg, It & Ma IAgHR
g STd 8 § q1|
IS 76T P T &R I F,
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Bl W YIB! T W B

wfia, erftd, P19 o 22

3 O+t B e, T o

gl W) SHD! AT Y

W 9 951 dig a3

- T

o & fyues g

'gs 9 0 & 3 Wa
faeET, o 7 & T

9% T, W et o |

Bl TET SHDT 3R &

M4, 3rfla, FH = 82

ST TR $I UgH A TR W aTd YA BT IR Ja1s¢l
Y: 39 HiadT & W "3ATeRT Xeg BT 747 313 72
1. T -1d &1 A

2. T FRIfSar 1M

3. & AID-HId BT A §

4. Teb T[eTTS BT AH

Correct Answer :-

. U ANb-PHI HIAH T

9) i, anfid, F Yax 82
MR Tt favg ot afe=it
Fradt g STl 3,

foa sareT B o BT
IUel A $O Hgdl Sl g |
¢ W TP aTd Al
"3d TR afe gt faur,
3T YAgR & U BT

# oft 51 Y 1fte gET|rn”
M- 98 ¥e1 Fsid,

UTed 9P TST d¢ R B
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M4, 3rfla, $H Yz 82

3T P I T ST W

i @id W BT &t

U e A @id o

@ 35 33 & I

AT Y& o fhRor aiedt

Fel 307 yvf | BB

fg, g1 & 1Mia IugHR

T 9ITd Fg | 9|

ST Y& b T TR I H,
AT T B BT R

M4, 3rfla, $H Yz 82

@ Ut § 9gT, U e

gl TR SHD! YT Y

W ¥ gl Wia a2
TN-TRY @St A @t

o § fSusy gt 8,

'gs 9 I & FS Wa
faeT, o 7 & T

9% T, W fdt o d

Td 38T §HST X B

ifa, orfid, $19 Frax 32
ST TR $I UgH 1 TR WA aTd URA BT IR Ja1s¢l
WY H1a uget g1 ufda # Fa1 HaTd a1 32
1. FTH A HIS Tl

2. Md faxg s afef g

3. 14 9gd Al §

4. 1 31 Y § fos srfia

Correct Answer :-
. T St Ye & o srfta

10) W, srfid, B Gz 82
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e ga®T HY A4 B
Sudl |/ $B bedt Sl 2|
¢ W TP AT el
"gd ¥R afe gt faurar,
30 YR & Ul BT

& oft w71 &Y 1fte AT
- e 6 I,
UTed Y& W31 d¢ R 2l
wfiq, erftd, P19 o 272
3T P I T ST W
it @i TR B &t

UE ar A @id o

P! 93 IS § el
AT Y& e fhRor aiet
Fell 307 yuf & BB
fg, gt & 1Mia SugHR
@ Td Vg ® 99|
[T Y& b T TR I H,
AT 7 Y BT R 2
Ma, 3rfla, $H Yz 82
3 O+t € e, TP e
gl ¥R SHD! AT Y
W ¥ gl Wia a2
TN-TRY St <fiw @t
T # foues gt B,
'gs 9 0 & $ Wa
AT, of g7 & et 21
9% T, R feet an
T 38T SHST 3 3
Ma, 3rfla, $H g 82
ITed U 6l UgHR R U WF ara U= BT IR Ia13¢|


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

wY: Fa 7 afe=ir fod w1 82
1. 7¢I & St g8 arelt A1 Pl
2. U Sl ol
3. Yb-Yb! Bl
4. Tt 1 981

Correct Answer :-

- el & offe g dTell Tl

11) 4, 3rftd, P Yax 22
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At et et 3,
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g1 TR SHD! 7T Y
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. 7El TR Raet T[era o
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@ 35 33 ¢ A
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Fot 3T ol § B
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1. Rl &

2. SFaRI &

3. P

4. 9PpfA &

Correct Answer :-

. UHAF

13) 4, 3rfia, B Y 22
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AT BN Wi Bt Fwed F a - Wi A Rme S fawedt # gfawr dura-sare #it
TrIforpar &) AR <, -3 ALY T I A I W | I Iadt 9dl & Ugdd-ugdad, aen 8, W
YTHTEA BT AeT-aNAT T aRE IG SIg|

W TG & T aH g o1 W1 faamdf geuiy sarar 8 for sferar &1 uri 371491 8, 9l sRaEw 21
TRIE! R SRS F YfAST W Igar 3 9emn| IuH ¥ eRd-w@rfiue W) # ardt gamn T8 g
T fapfa & & 8t 38t aTRfA® Juer & 9 A W9 JaTd SaTaT1 §, [SUH AR71 Hg dId- avrar §, 9y
IAPT TUEHT WA Y3t Stb arar 31 31U fR1a & a8 St € i ¥7 31 Tgash 9 Hgrufed 3 anft
IR Y Ui Y |1 T 1942 F A G F UR Sia-arae? T8 G TE-9pd €, @ 7§ Y-y
wrar @ fp ool favrra & ufa @i o §1 geuiey w3 % ues-oura @rdl & Wid I@R 3@
AESAIS o T TGP AP A SR B Y BT T TPhd ¢ 78 & | Gevl-¢cd BT Y gl 3 3R
TMa-7TTa § gaara Eie Areny & ol 3t 9gdt s g Y 75 Hae B a1 ¢ W 8 P T A Twdd
STYFH I A P 711 ATHd g1 33 @ b LY WIS Fal I AX 3(°d Pt awUNs &1 R4 g1 39T 8, i
?gugﬁw?m%ﬁﬁﬂﬁmﬁmﬁmﬁu@ﬁwﬂ%lW%ﬁwﬁmmﬁﬂmﬁr
TR

ST TR B Ugh 19 IS 1T U= BT Sr Jarsu|
TY: SFBIIA! T P UGTIA-Ugdd AR UTHIG BT T G a6 dga STgm?
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1. Ag-ARA
2. dicl-eldl
3. gldd-dlcd
4, QiTq

Correct Answer :-

. IR

24) W UTHEd ¥ 3eR et 7t doft 3 aa 71 81 SuRiaTed eTdl $1 sare! Ush qeHl | IS sl
ST 38T 8| AT §, STET & ANl B TRPR 7 1Y B a1 & fb 7 & 5 U &1 gpraen H31 § a8
TE &M 2, T8 oo fame T8 wed, ok el fumza ¥ W a3 o €1 7ifa ®1 I8 959 VT B, W
R ¥t 71 S AT RIeraa #3d 7 % Wiiaaral &1 1id ¥ 949 39 61 §1 9% g 61 § fh Fiust oik
AT F WRY B STEBR AN UFBT UHTH 941 T8 8, I AR el & TO-HaR 32 &1 Ry as1 IR 9 &
YT B S 960 I8 |, AT @ TH-UTHS B HIEPHR g1 Sars! U 3(d Sg1-HIT At e, gga-ard
P g9 ¥ W< f3ar s AnR $f 9 fRw § Iag, Tas neHl # uefa-uReR & ufa erfy gedt smeatt
AT BN Wi Bt Fwed F a - Wi A Rme S fawedt # gfawr dura-sae #it
grIforpar &) AR ¢t -3 ALY AT A T W | e Iadt 9dl F Ugad-ugdd, e 8, WY
YTHTEA BT AGT-aNA T dRE IG SIg|

W TG & T ad Mg o1 W7 faemdf geuiay sarar 8 fo sferar &1 uri 337149 8, 9t sReEw 21
Tl UR SRS Y YfABT W g 3 9Rman RuiH & eRd-w@fiuE W) # ardt gamn T8 gl
T fapfa & & gt 38t aTfA® Juer & aR A W9 JaTd STa1 §, [SUH AR71 Hg dId- avrdr §, 9y
IIPT AU WA g3 Steh TTar 81 3 R91e | 98 1o 8 | 381 81 Ugash 9 werufea 3 anft
SR 3 Ui Y |1 T 1942 F A G F UR Sia-arae} T8 G TE-9pd €, @ 7§ snyr-ay
wrar @ 5 eroel favraa & ufa @ o §1 geuied gX @ % ues-oura @rdl & Wid JaR 3@
SIS o T Ugh AP A SR B Y BT T TPhd & 78 & | Gevl-¢od BT Y gl 3 3R
Tig-Tifa # Temara sl A1eaw & el @1 gedl WIS i P 7 Bae B GaT ¢ W) ¢ P oot | St
YT &1 oI B i TP 81 S & b AT A Fodl & A 3T BT TS PT U=y 1 T8, 3R
?gu?wg%&ﬁﬁw%.a%uﬁaﬁmﬁmﬁmﬁﬁuﬁaﬁwﬂ%lWﬁmmmﬁﬂwﬁ‘a’f
TR

UL T B UgHR A2 TR 7Y ¥¥H P I« IA15T
WY 7T aTell BT HET A A 3°C 38T 82

1. IR

2. feeett

3. DDA

4, TG q

Correct Answer :-

A4

K

25) WY urHiEd ® 3eR Fafvert 7t doft 3 9a 71 81 SuRiaTedt eTdl $1 3are! ush qHHl d IS sl
ST 38T 8| AT §, STE & ANl B WRPR 7 14 B a1 & fb 7 & w5 U &1 gopraen H31 § ag
TRE &M 2, T8 oo fame 78 wed, ok el ez F W a3 o €1 7ifa ®1 I8 959 W8T B, WHT
fraR 78?1 S A Rierad #va € 7% iaarel o1 g ¥ 749 39¢ 9T 81 6 9 6T § fF v ok
ATt F WRY B STEHR AT UFBT UHTH 941 T8 8, 39 AR el & TO-HaR 38 &1 Fory as1 IR 9 &
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YT Bt T 9a Ig1 8, ARTT 8 1H-UTHS B HICHR g¥ GIdlol UR 3(F Sgl-BIia-1 AUt sreeh, aga-aid
P g9 A We f3ar sirewm | AnR $f 9 fRw § Iag, Tas et # uepfa-uReR & ufa srfy sedt smeatt
AT TEN WY F Reea A d AR WY A Rme WA e # glawr Dura-srara it
TrIfopar &) AR ¢t SuR-3ue ALY AT I A I W | I Iadt 9dl & Ugdd-ugdd, aen 8, W
YTHTEA BT AGI-ANA T aRE IG SIg|

W SIS & T adNg Tia 1 AR faendf qeway sarar @ & aferar &1 urt ge1 991 8, Ardt sREw B
THEl R SIS Pt YT UR Tgar § aferdn] YIuNT & eRA-af i W § drdt IeEn ag Al
grTfore fapfa @ & 8t 8 IR Wuer & 9 A Wie Jara ISTa1 §, (UKW AR1 e a1 avrar €, 9yt
DT TUEHT WA Gt Stb aran 31 31U iR1a & a8 St €t i ¥7 31 Igasil o Hgrufed 3 anft
IR Y Ui Y |1 T 1942 F A G F UR Sia-arge? T8 G TE-pd €, @ 7 F Y-y
wrar @ 5 oroelt farmaa & ufa & o §1 gouiea gw @ % ues-oura @rdl & Wid d@R 3@
SIS 364 daTdl UaP AP WY SR P THfg BT W Hhd ¢ I8 &1 Gevl-¢cd BT TS Sidl AP 3R
Tiq-Tifa # Temara sl d1eaw & el B gedt WS i P 7 BHae B Ga1 S W) ¢ P oot | St
MYFIP a9 S B 7T AT 81 IS ¢ [P TY-I¢ AP Fadl § AY 3iael B THUMS BT yik=y g @1 8, 3R
?ﬁuﬁﬂ?&ﬁv%a@.@uﬁﬁmﬁmﬁmﬁﬁuﬁaﬁwﬂﬁlWﬁﬁwﬁmmﬁ%rﬁ’ﬁ
TR

IUY o T B UGH A9 YD T U= BT Sk qarsy|
WY ST BT 1 agd AW MR T Igd SRE 27
1. Bd, Uit

2. qIdl, dldd

3. 39, |hd

4. gL, ATST

Correct Answer :-

. .q-l:ﬂ-,]:”_Cﬂ-

26) X ymHTEd ® 3eR Fufuorf 7t aoi A T 871 81| SuRIar a8l $T 3aTeT Uad Al | Y gl
ST Y87 8| AT B, 16t & ANl &l IRPR A ATY $R a1 § b 717 & 5 ©u &1 gobraen o34 § ag ¢
TE & 2, o 7O frs T8 o, ok Tedt RWEa F W 1 it §1 T P71 A5 9a 6T B, WM
fraR W B1 o 9 Rieprad #3a € % Tiaaral @1 g § 79 SUe T 21 916 $a 39T ¢ P giugt ek
ATE F WA P BT AN UFHT HHH §91 2 8, 39 TR et A JoI-HaR I8 &1 o a5 7R a§ &R
YTHTEA B S 950 Ve B, ANTCT & FHH-UTHS Pt HIeH g gIams W 3(d SR1-H1ieHt Jdt e, sga-ard
P g9 A Qe f3ar s AR $f 9 e § Iag, a8 el # uepfa-uReR & ufa srfy sedt smeatt
AT TEN WY B Reed d d R WY A Rme Wi e # glawr Dura-sara it
TrTforear &) AR ¢t SuR-3ue ALY AT I A I W | I Iadt 9dl F Ugdd-ugdd, aen 8, W
YTHTEA BT UG- TR aRE IG SIg|

W SIS & T adNg Tia 1 AR faendf geway sarar @ & aferar &1 urt ge1 491 8, Ard sREw 21

THEl TR A3 Pt YT uR Tgar g aferani W%WwﬁnﬁwﬁMaﬁmﬂﬁm

grTfore fapfa @ & 8t 78 IR Wuer & 9 A Wie Jara ISTa1 §, TUH -1 HE dre avrar §, 9yt
mmﬁmﬁg@mmélmﬁwﬁﬁmﬁmm%m@vﬁaﬁmﬁwﬂ
TR B U= B B 1 T 1942 F SN SfigiaT & U Srd-grads a8 Wl 7d-3pd @, 9 79 H Y-
wrar @ 5 oroelt farmra & wfa & o §1 qouea gw @ % ues-oura @dl & Wid I@R 3@
SIS 364 daTdl UaP AP WY SR P THfg BT WE Hhd ¢ I8 &1 Gevl-¢cd BT TS Sidl AP 3R
Tig-Ta # Teard S A1 & Wl @1 el WS g $1 95 Hac &1 a1 ¢ I 8 fF STt | wiedt
Y o1 oI B T TS 81 IS ¢ [ T-T AP il & 7Y 3 P TS PT U=y g1 T 8, ok
?ﬁuﬁﬂ?&ﬁv%a@.@uﬁﬁmﬁmﬁmﬁﬁuﬁaﬁwﬂﬁlWﬁﬁwﬁmmﬁ%rﬁ

T3

IUYa TRIIRT B USHR 19 U T U= $T @ 9a13¢|
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wy: fpgi anht afern 3t y=iar #9182
1. BRI yre fgddt

2. gy R

3. fawIaid <l

4, HETUTEd gl Sl

Correct Answer :-

. HEIUfSd g it

27) W umHiEd ¥ 3eR et adt doft A 9a 71 81 SuRiaTh eTd) $1 sare! ush aeHl A 9YS sl
ST Y87 8| AT B, T8t & AN ) IRPR A ATYRd P far 8 f 71 & T ©u &1 garaar w34 § ag ¢
TRE &M B, T8 7o fame T8 ged, ok e e $ W a3 o §1 7ifa ®1 I8 989 W8T B, W
fraR W 31 B A RieTad #a § % Tiaaral @1 g ¥ 79 S9e @1 81 9w d 39T ¢ % Fiug sk
AT F WA P STEHT AN UFHT HHH §7 2 7, S AR et A Jo-HaR 8 &1 o a5 7R § |
T $t R 9T I8} ], AT @ FH-UTHS B HIePHR g1 avar UR 3F Sgl-HIi At e, sg@-ara
P g9 A Qe faar wrewm | AR 3 @1 fRwa § Iag, Tag el # uepfa-uRer & ufd srfy sedt simeatt
AT BN WY Bt Rwed F a - Wi A e wred ) fawedt #Y gfawr dura-srarg #it
grTforpar @) AR S, -3 ALY AT A T W | e iadt 9dl F Ugud-ugad, e 8, W
YTHTG BT Ag1-aRA G aRE IG o SIg|

W UG & T adta a1 A7 faemdf qeuiaw garar 8 {6 aferan &1 urh g1 99 B, At sRaEw 81

T W SALAT Bt YD1 WX Igar § I ey & R R & ardt garn T8 arganl
I AP @ & 8 6 IR Juer & TR o e Jard IoTdl §, TOUIH AT Yg a1 T 8, JuThy
IAPT TUSH WA g3 St arar 31 31U fR1e & ag S € i ¥eT 31 Igash 9 Herifed A anft
ST &Y U= B ] 1 T 1942 F ST SfiGia & U Sra-araeds 78 N 7d-3pd @, 9 79 W smyra-ate
et g % St faRTaa & ufa i 9ot €1 geuied X @ fF ues-ouRard el & Wi Wa¥ I} &
ATSAaIS 334 a1 UaP HHTH W JaR Pt YFG BT TS HPbd ¢ B 8| Gevl-¢cd BT Y gl MTdd 3R
Tiig-Tiig # Temare SRSl AT F wpel B agdt Wi i 3 7§ FYae 3 gEn S @ ¢ o | wwd
YIS I S B Ta AT 8l IS ¢ [P TU-I¢ AIGH Sl § AY Sidel B GHUMS BT Y=y 8 T8, 3R
?ﬁ?ﬂ?&ﬁ?%ﬁ%ﬁ%uﬁaﬁmaﬁmﬁ%ﬁﬁuﬁaﬁwﬂ?lW#ﬁﬂmaﬁ%rﬁa‘f

TR

IR T B UGHR -1 IR T U= BT Ik 9a13¢ |

UY: TH-UTHS DI HICH 3d gL GIaT U T YT STEH?
1. JO-THA

2. El-pIaT

3. QIIH-99d

4. SAITAE

Correct Answer :-

. LI

28) W yTHIAd # 3R sl i st & 79 61 81 SWRIAT STg! BT FATHT Udd AHTH] & S gl
ST X1 8 | 7T 2, TTet & @I ol IRBR 7 Y FR & 2 f 717 & ¥ U &1 gavraen s+ & a8 Tl
TE &M 2, T8 7o fme T8 ged, ok e o $ W a9 o €1 7ifa ®1 I8 959 T B, W
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R ¥t 31 33 T Rreraa #vd § % wiiaaral &1 1id @ 949 39e @7 81 9% <Ra T § fh giud oik
A F WY Y AEHR AN YFPT HH & 32 T, SH AR et # T-HIR Ve &1 O A TR 9 AR
T $ R I I8} |, ANTET @ FH-UTHS B HIePHR g1 A UR 3F Sgl-HI At e, sg@-are
DI a1 | W faar s | AR $ @1 fRva & I, Tas st ¥ upfa-uiwR & ufd iy gt smeett
AT BN WY Bt Rwed F a - WY A Rme wred ) ot #Y gfawr Dura-srarg #it
grTforpar @) AR St -3 Y. e A T W | e iadt 9dl F Ugad-ugTd, e 8, W
YTHIGA BT Ag]-aRA T aRE IG STg|

W S[UE F T q Tig o1 MR faendf geuiay sarar 8 f aferar &1 ur g1 39 8, 91 sRaEw 21
TGl R SRTSAT Ft YfABT W g4l ¢ Iieran| [Iuiy & eRdl-@riue W) § ardt gamn T8l argdnl
TR fapfa A &rd 81 78 TIRB® Yuer & 9R A &« Fard IS1T §, T6IaH A1 4 a1+ oirar 8, aumfy
IAPT TUSH WA g3 Stb arar 31 3u fRme | ag St € Wi veT 31 gash o) Herufed A anft
ST &Y U= B B 1 T 1942 F SN Sfigia & U Sra-arasds 78 Nl 7d-3pd @, 9 79 H Y-t
Tt @ f oot favraa & ufa @ivr Oomt 1 e 9w 8 6 nes-sura el & g Yav W) &l
ATSAIS I3 AT UeP AP WY SR Pt T BT W HHd & 2 21 Te9-3d BT GG SIdl TP 37
Tig-Tig o Teqara el AreaH & Tl P gedl Wis g B 9E Bae B gun 2 @ 8 P o) A St
MYFIP 91 M P 71q TP 81 IS & [P TC-AT ATed Gl A WY €A P TIUINS BT IR 81 @1 &, iR
?ﬁgﬂﬁﬂ?&ﬁ?%ﬁ%ﬂ%uﬁaﬁmaﬂmﬁmﬁﬁuﬁaﬁmﬂ%lW#ﬁwﬁmaﬁ%nﬁf
TR

IUYe TR B UgH 19 IR T U= $T S« 9d13¢|

UY: DURIATA! STa! BT SATHT A ABI & TS gidl oIl 78T 872
1. Ui Eg g T

2. Udah

3. &

4. Y

Correct Answer :-

29) W urHiEd ® 3R Fafuert 7t doft 3 e 71 81 SuRlaTeh 28l HT saTeT UFh AHHl A TS sl
ST X1 8 | 74T B, STE & @I ol IRBR 7 Y $ fean 2 fp 717 & ¥ U &1 gavraen s & a5 T
IRE Y& ¢, oTEl 9O s 78 god, 3R wedt fewiga & W a7 @il €1 7iid PT AT et 6T §, W7
R ¥t 31 S T Rreraa #vd § % wiiaaral &1 1id ¥ 949 39 7 81 9% <Ra T § fp Sius oiR
A F WY Y TEHR AN UFPT HH ST 32 ¢, S§ ATR et F FoFaR 2 T ﬁmﬂaw@rﬁ’\f
YT B R I I8} 8, AT @ TH-UTHS B HIEHR 81 SamS! U 3(d Sgl-H1i- At smeft, sga

P a1 | W faar s | AR i @) fRva o 3asm, mm:&mw*mmmm.
AT BN WY B Rwed F a - W A Rme wred ) fawedt # gfawr dura-srarg 3t
griforpar @) AR G, -3 ALY e A A T W | e iadt 9dl F Ugad-ugTd, e 8, W
YTHIG BT Ag1-aNA G aRE IG SIg|

W U F T q Tig o1 W7 faemdf geuiay sarar 8 f aferar &1 urh g1 39 8, 9rd) sRaEw 21
Tl R SRTSAT $t YfAST W Il ¢ Iieran| [Iuy & eRdl-@ie W) § ardt gamn T8l argdnl
TR fapfa A &rd 81 78 TIRB® Yuer $ aR A & Fard IST §, T6IaH A1 4 a1+ irar 8, 9umfy
IAPT TUSH WA g3 St arar 31 3u fRTe | ag St € i veT 31 Igash o Herufed A anft
ST &Y U= B B 1 T 1942 F ST Sfigia & U Sra-arads 78 Nl 7d-3pd @, 9 79 F Y-t
raT 8 f oot favraa & ufa @ivr IomT 1 e 9w 8 6 nes-sura el & g Yav W@ gl
ATSAIS I3 AT UeP AP WY SR Pt Tl PT W HHd & 2 21 Te9-3d BT GG Sl TP 3R
Tig-Titg ® Feqara 3l AreaH & Tl P gedl Wis ig B 7E Hae B gun 2 @ 8 P o) A St
MYFIP 91 M P! 7q TP 81 IS & [P TT-AT ATed gl A WY 3= P GHUINS BT IR 81 T &, iR
?ﬁgigaﬁﬂ;%&ﬁ?%a%ﬂ%uﬁaﬁmaﬂmﬁmﬁﬁuﬁaﬁmﬂ%lW#ﬁwﬁmaﬁ%nﬁf
TR
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SUYE T BT TP 19 I MY =7 PT S qarsyg |
uY: Tial ¥ 39 fha e F R e @t g2

1. e

2. I TR

3. gglat

4, HETTRIT

Correct Answer :-

30) W IHEd ¥ 5tR FAafoart 9t Iht @ aa 361 8 | SuRIATd STEl BT SaTHT Uad HBTH A Y gl
ST 38T 8| AT §, STET & ANl B WRPIR 7 ST B a1 & f 7 & % U &1 gpraen B3 § a8 T
TE &M B, T8 oo fame 78 wod, ok e e ¥ W a3 o €1 7ifa ®1 I8 959 @1 B, W
fraR 78?1 S A Rierad #wd € 7% iaarel o1 g ¥ 749 39¢ 9T 81 W6 9 6T § 5 Fiud ek
AT & WRY B STEBR AN UFhT UHTH &1 T8 8, 39 AR el & JO-HaR 38 &1 Ry as1 IR 9 &
YT B S 90 TE) B, ANTT @ HH-UTHS Ft HIeH? g SIams! W 3(d SEl-HIie At e, sga-ard
F g | Qe faar s | AR I @) e & S, Tag st § upfa-ufRR & ufa srfr agdt smett
AT BN Wi Bt Rwed F @ - W A e S fawedt # gfawr dura-sarg #it
grTforpar ®) AR ¢, e ALY T A I W | e iadt 9dl F Ugad-ugdd, aen 8, W
YTHIES BT Ag0-aNA T aRE dga Q|

WY SIS & T a1 Tia 1 A7 faendf qewiay sarar § & aferar &1 urt ge1 a9 8, At sREw 21
Tl UR SRS P YfABT W g4 3 9feran| GIEiH & Rl W) # ardt aeEn T8} el
T fapfa & & 8t 38t aTRfA® Juer & 9 A W9 Jard STa1 §, [SUH AR71 g dId- avrar §, 9y
IAPT TAUSHT WA Y3 St Trar 31 31U fR1e & a8 S € i ¥eT 31 Igash 9 Herufed 3 anft
ST &Y U= B ]1 T 1942 & ST Sfigia & U Sra-arads a8 Nl 7d-3pd @, 9 79§ smyra-ate
wraT € o oot favraa & ufa &ivr ao 81 Ui g¥ @ 5 Aes-surad ekl & g av W@ gl
ATSAaIS I3 a1 Uadh HHTH WX TR I Y BT TS HPHd ¢ 2 8| Gavl-¢d T HYX gl Tad 3R
Tiig-Tiig # Temare SRS ATew F wpal Bt agdt Wi i 3 7§ FYae I gEn 2 @ e oo s
YT &1 oI B 7T SATHd 81 IS & I TL-AT A Fodl & WY 3T BT TS BT U=y g1 T8, 3R
?ﬁ;ﬁ%ﬂ?&ﬁ?%a@-ﬁuﬁﬁmﬁmﬁmﬁuﬁaﬁwﬂ%lWﬁﬁﬂmmﬁ%rﬁa’f
TR

ST T B Ugh? A9 IS 1T Y= BT Sk Farsy|

wy: fraa fRwa o Sagre, 1as aneth # yefa-uReR & ufa st 9g smweft:
1. TR B

2. AR B

3. GeY 3T

4, GTR =4

Correct Answer :-

Topic:- General English(L2GE)
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1) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in a
person'’s life. Though it gives him great pleasure in the initial stages, as time passes, it will lead
to several health hazards. The first symptoms of smoking are chest burning, asthma, wheezing,
cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. “Today’s
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

Which are the branches of study that have helped him to have a comfortable life?

1. Electronics
2. Medicine and science
3. Architecture

4. Biology

Correct Answer :-

e Medicine and science

2) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in a
person’s life. Though it gives him great pleasure in the initial stages, as time passes, it will lead
to several health hazards. The first symptoms of smoking are chest burning, asthma, wheezing,
cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. “"Today'’s
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

Which is the first symptom of the harm that smoking does?
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1. Chest burning
2. Chest congestion
3. Breathlessness

4. Death

Correct Answer :-

¢ Chest burning

3) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in a
person'’s life. Though it gives him great pleasure in the initial stages, as time passes, it will lead
to several health hazards. The first symptoms of smoking are chest burning, asthma, wheezing,
cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. “"Today’s
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

What deadly habits has man become a slave to?
1. Drugs and smoking

2. War mongering

3. Drugs only

4. Smoking only

Correct Answer :-

e Drugs and smoking

4) Read the following passage and answer the question given below:

Today man has reached great heights. He has invented many things previously unknown to him.
Moreover, he has created great progress in fields such as medicine and science, which have
helped him to lead a comfortable life. But man has also created poisons, bombs, guns and lethal
weapons too. Also, there are some things which give him great pleasure but later on prove fatal
to mankind.


https://applink.adda247.com/d/XhqWf9lSap

AddeE
Google Play

Taking drugs and smoking are two of the deadly habits man has cultivated. Though drugs have
been controlled down to two percent, it is still on the prowl. But smoking is the worst poison in a
person’s life. Though it gives him great pleasure in the initial stages, as time passes, it will lead
to several health hazards. The first symptoms of smoking are chest burning, asthma, wheezing,
cold etc. which cause difficulties in regular breathing. In the end, the person dies of
breathlessness. Smoking has to be banned in all places. But many people are careless and shut
both their ears to what the world has to say. All of us are familiar with the saying. “Today’s
children are tomorrow’s citizens.” But if today’s children are smokers, then tomorrow there will
be only smoke in the mouth and fire in the stomach.

How can one say that man has reached great heights?

1. Because he can talk.
2. Because he has invented many things.
3. Because he has evolved fully.

4. Because he is the most intelligent of all animals.

Correct Answer :-

e Because he has invented many things.

5) Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!'

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!"

'And how do men keep women sweet?'
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.
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How old was the poet when she wore pigtails?
1. 15 years
2. 16 years
3. 13 years

4. 12 years

Correct Answer :-

® 16 years

6) Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!'

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!"

'And how do men keep women sweet?'
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

Why did the poet need to learn cooking, according to her mother?

1. To set up a class for cookery.
2. To be able to cook when she stayed herself.

3. To satisfy her future husband.
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4. To satisfy her parents.

Correct Answer :-

 To satisfy her future husband.

7) Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!'

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!"

'And how do men keep women sweet?'
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

Why did the poet's mother flick the duster?

1. To teach her how to dust.
2. To urge her to dust her room.
3. To urge her to dust the house.

4. To wake her up.

Correct Answer :-

» To urge her to dust her room.
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Read the poem and answer the question given below:

A pigtail dangled down my back,

I was just sixteen years.

One day my mother came and flicked
a duster round my ears.

'Don't sit there writing poetry,

go dust your room instead!

With all this nonsense you won't earn
the butter on your bread!'

She often scolded me, but I

stepped lightly as a bird

and went on dreaming through the day
as if I had not heard.

What could I say? My mother
would never understand.

So I wrote only secretly,

the duster in my hand.

When finally I learned to cook,

I often heard her tell,

'To keep your future husband sweet,
you'll have to feed him well!'

'And how do men keep women sweet?’
She gave me no reply

but went on cooking, and I saw

her shake her head and sigh.

What reason did the mother have, for asking her daughter not to write poetry?
1. It would make her sleepy.

2. It would make her lazy.

3. It would not let her buy butter.

4. It would not give her a livelihood.

Correct Answer :-

It would not give her a livelihood.

9) Which of the following options best combines the following sentences?
I will win the scholarship. That is certain.

1. I should win the scholarship that is certain.

2. It is certain that | will win the scholarship.

3. I will win the scholarship; so certain | am.
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4. | will win the scholarship so | am certain.

Correct Answer :-
e Itis certain that | will win the scholarship.

10) Read the sentence carefully and choose the option that has an error in it:

He drank once again as he was feeling very thirsty.
1. very thirsty.

2. No error

3. He drank once again

4. as he was feeling

Correct Answer :-
¢ No error

11) Read the sentence carefully and choose the option that has an error in it:

When the topic of absenteeism was rised, she had a scornful look on her face.
1. When the topic of absenteeism

2. on her face.

3. she had a scornful look

4, was rised,

Correct Answer :-

e was rised,

12) Fill in the blank with the correct option in the given sentence:
Some of the parents talk in parent-teacher meetings.

1. sensible

2. sensibly

3. sensation

4, sensitive

Correct Answer :-
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» sensibly

13) Choose the right tag:

)

We are dining out today,
1. are we

2. aren't we

3. can we

4. don't we

Correct Answer :-

e aren't we

14) Fillin the blank with the most appropriate preposition in the given sentence.
The store employees do a lot of work most of the customers.

1. to

2. from

3. of

4, for

Correct Answer :-

o for

15) Fill in the blank with the correct option in the given sentence:

That which cools is referred to as a cool--.
1. --er

2. --ent

3. --ant

4. --ing

Correct Answer :-

16) Fill in the blank with the correct option in the given sentence:
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A --vention is the coming together of a large number of people.
1. pre--

2. inter--

3.in--

4. con--

Correct Answer :-

e Con--

17) Choose the most appropriate determiner in the given sentence.

I think express train is running late. It was to arrive at 9’0 clock.
1l.a

2. the

3. no determiner

4. an

Correct Answer :-
o the

18) Choose the appropriate antonym for the highlighted word in the given sentence.

Her pain was aggravated by his words of consolation.
1. erased

2. alleviated

3. escalated

4. compounded

Correct Answer :-

o alleviated

19) Choose the appropriate prepositions for the given sentence:

The files are the alphabetical order, so don't meddle them.
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1. in, with
2. from, in
3. by, through

4, into, around

Correct Answer :-

e in, with

20) Choose the appropriate synonym for the highlighted word in the given sentence.

The company'’s decision to close down its branch office is an irrevocable step.
1. changeable
2. temporary
3. unalterable

4. irreplaceable

Correct Answer :-
e unalterable

21) Choose the appropriate pronouns for the given sentence.

The family are to be blamed for misfortunes.
1. their, themselves

2. themselves, their

3. himself, his

4. ourselves, our

Correct Answer :-
¢ themselves, their

22) Choose the appropriate option that rewrites the given sentence in its active voice.

Only one day was taken by him to pick up skills in skiing.
1. He took only one day to pick up skills in skiing.

2. He was taking one day to pick up skills in skiing.
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3. He was taken one day to pick up skills in skiing.

4. He has taken only one day to pick up skills in skiing.

Correct Answer :-
* He took only one day to pick up skills in skiing.

23) Choose the appropriate option that fills in the given sentence correctly:

He will not be taken back he apologizes to the other players.
1. in order that

2. unless

3. although

4, because

Correct Answer :-

e unless

24) Choose the appropriate tense to fill in the blank in the given sentence
Most children by the age of three.

1. learns speaking

2. are learning to speaking

3. learn to speak

4. learned to have spoken

Correct Answer :-

* learn to speak

25) Choose appropriate articles for the given sentence:

Applicants should prepare for role-playing, which is __ essential part of __ interview
process.

1. a, no article required
2. an, no article required
3. an, an

4. no article required, the
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Correct Answer :-

26) Choose an appropriate modal for the given sentence:

In order to gain respect, we be respectful to others.
1. must
2. might
3. could

4. can

Correct Answer :-
e could

27) Choose the option that substitutes the given phrase appropriately.

A mixture of metals
1. Fusion

2. Admixture

3. Amalgamation

4. Alloy

Correct Answer :-

28) Choose the option that best transforms the sentence into its Indirect form:

My uncle said, ‘We have moved into our new flat. We don't like it nearly as much as our last one.’

1. My uncle had said that they were moving into their new flat but that they don’t like it nearly as much as
our last one.

2. My uncle said if they have moved into their new flat and that they didn’t like it nearly as much as their
last one.

3. My uncle said that we had moved into our new flat but that they didn’t like it nearly as much as their
last one.
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4. My uncle said that they had moved into their new flat but they didn’t like it nearly as much as their last
one.

Correct Answer :-

* My uncle said that they had moved into their new flat but they didn’t like it nearly as much as their last
one.

29) Choose the option that best explains the highlighted expression:

'Why've you got such a long face?'
'My boyfriend doesn't want to see me anymore.'

1. look bored
2. look sad
3. look anxious

4. look excited

Correct Answer :-
e |look sad

30) Change the given statement to indirect speech.
The teacher said, “The planets revolve around the sun.”
1. The teacher said that the planets revolved around the sun.
2. The teacher said that the planets revolves around the sun.
3. The teacher said that the planets revolve around the sun.

4. The teacher said that the planet is revolving around the sun.

Correct Answer :-

o The teacher said that the planets revolve around the sun.
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4 UR HER P 3 @ Y,

$2 O HeX F ST WA 7

1. Y SADR

2. JHS AAPR

3. TUSD HADR

4, 3UHI PR

Correct Answer :-

o JHD HADR

56) 39 TUR ¥ U7 € W9 O TEI 31 U7 B YA ol 95 B SRTE! S I T B 1 HAR 37 5w IoTw @Y
3R IETERVI ¢&-g¢ R THA AT, Y 3mue! fafea &) sirem for o 50 Suraen #va §, oFd fie gw sram
3T fIBTT 9 B dUR 54 ¢, et Wfa aRiars @ & i g0 3R @i & WRS g T a TS Fa 8,
I TUAT HHM | U1 T T f9aran o1, afep 3511 5O T &1 fpy & Rt wgwr 59 98 & 3ifts geaa™
Tuga g1 o1 @ & Sias &1 3L Fad IUAT TERAT 8, IAP WIS $U §3 o | ifUwizr syt # 37 fvdft A gt
TP 8T | ST 5= T, TudT HHET 3R WRare & I $1 | B 3 i 9 781 6 3 #19 A ok $8l eI JEa
TuTe WA ez B, WR 9% Tard @Y SURET HRA1 A1 ST | 3§ 3 81 g W 7, gl 3o oftae &t arftfa v
TG A &1 uivay fear g1

ST ufrwde &Y Ugde A AT T vy &1 3« fafa:
TR ¥ ¢F ¥ qeinial Bt o i gt 82

1. 4 IRAD &I IAT IR & |

2. 31! TTAIST SR ATH 1 H =761 X8 i

3. JD! JUNHT BIe & |

4. 3T TRD T S & |

Correct Answer :-

. ! UFAST 3R 19 o § 78} X8 S|

57) 9 GUR § ¢ € 99 $© T8 81 97 Y g d) 9gd $A wel § et 35 7 §) 9OR 1 shw™
IoTHR AT 3R ISTEVT ge-ge PR A AT, aY 3mus! fafead @) wimem fr et g0 Sura=n &vd €,
% 1T 30 oA ST faTT a9 @1 4R T8d €, et Wfa aRiaren wam & e 59 sme @ & WIRS
e ST WS BRA €, ITI BUUT HHM | U1 IHY e famar ot 9few IR po 09 o 3
o wgT g vud ¥ e Yeuar Jugd €1 o @ & St &1 3ER9 $ad $UdT 9eRAT 7, P!
TiasT $U g% 1 PR sawt A 37 fHlt A go1 9o 7| IR o R, Tuan wumn ok Wald &
e &1 | fredt A o 9% 78 % 3 19 A iR Fef eI wrg g Wit srawy 8, W ag wrd Y I
HAT A8 ST 3 B A §H S o §, R 3= Shiaq &t siftfa wa wwy agsaw &1 uR=a fear g1

Iuad Ul &1 Ugde - AT 7T uy #1 IR fafdu:
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39 TR BT Sfad e w1 g1 Jedi 32
1. Sifa- &1 A&
2. 90 &t gl
3. 3O STy

4. Y= D Hgl

Correct Answer :-

. Sligq B AL

58) TH YUR # ¢ €1 ¥4 $© el ¢ | U= B YOl dl gd HH STel § gl & 7% ¥ WAR 1 gfaegr
JoTHR AT 3R ISEIT §e-g¢ PR A AW, Y 3mueh! fafda 81 wimewn & et g0 Surar &7 €,
¥ e 59 oA T faBTT 99 @) dUR g4 7, et |jfa siaren wam & i 89 M e & WIRS
g TR WS FRA 7, I U1 HHM F 9T Ty ) fYaran 1, 9fer 391 7o T W feu 2
o wewr g vud ¥ e Yeuar Jusd €1 o @ & Siia &1 3ER9 $ad $Udl 9eRHT 7, STAP!
wfasT 4 g3 81 RE sawt A 37 et A w1 9o =8| 3= o o, $uan wumn ok WRele @t
T F1 Bt A 91 9 T8 76 3 19 & 3R HeT | wHa JHTe Wil srawy §, R a8 w@rd &1 SurEn
FHRAT AR ST 3 B § IS o1 §, g 3re Shiaq 3t siftfa wva wua agsaa w1 uikeg fear g

ST URwde &l Ugde i fIu T uy &1 I« fafau:

Uftsde & AR 80 TSI § (YT U &1 faar=T a1iee 2
1. Sita= gador &

2. 30 HHH I

3. UfIST A H

4. JaTEU ggl H

Correct Answer :-

. S0 HAAH

59) T TOR & ¥ € 99 O T8 ¥1 47 I Yo o 9ga HW Sl § Sl I E 1 HER 1 3w
IoTHR AT 3R ISTEVI ge-g¢ PR WA AT, dY 3mue! fafea @) wirem fr Rt g0 Sura=n #va €,
% 1 30 oA ST fIaTe a9 @) R T8d €, e Wfa aRiaren wam & e 59 sMe @ & WIRS
e ST WS BRA €, ITI TUUI HHMA | U1 IHY e farar on, 9fep IR po 0 o P 3
o wgeT g vud ¥ ife Yeuar JuEd €1 o @ & Siia &1 35R9 $ad $UdT 9eRAT 7, P!
TiasT $U g% 1 Sfeiwr sawt A 37 fHlt A go1 a9 7| 3R o R, Tuan wumn ok Wald @
e F1 Bt A 1 9 T8 75 3 D19 & 3R HT | wrHa wate W@l srawy ], R 98 w@rd @ SurEn
T 11 ATl 3 § 3 €1 qot Wira &, Rrgie orue Sftaet & siftfa wvd wwa agwae &1 ufvaa e 21

ST URwSE $I UgH - 3T T vy &1 I« fafae:
e B TSI A T AU 32

1. TTff ST

2. 1 1 HT HIATI

3. R JIT|
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4. TTd & o Sia siftd =

Correct Answer :-

o reff g

60) $H TUR # ¢ €1 ¥4 $© 6] ¢ | YT B Ol dl Igd HH Te] § gl < 7% 81 WAR 7 gfaerw
BT AT 3N ISTETVI ge-ge PR UM W, af 3! fafed gt wiewn for e g0 Surgn o= €
fo% I 30 oA ST fIaTT a9 @1 dUR TEd §, et Wfa aRiaren vam & 1T 89 sMe @ & RS
RIe TR @S F §, ITIA AT HHA A U1 UG T8 faaman u1, 9fp 3911 7o T o fee 9
o wewt 59 vUA W/ Siftre Yeuar Guga 81 o @i & Sfia &1 3ERT Had $UAT IERAT 3, D!
TAST $1 g8 21 AP w1 § 3% fhlt 7 go1 9o 71811 IR o0 o, $uan wumn ok wals &
T Ft | Bt 7 o 9 98 15 3 B & 3R Hel | wHa gare W@l eawy 8, R 98 w@rd a1 urEn
FHRAT AR ST 3 B 3§ S o §, e 3rm Shiaq &t siffa wa wua agsaw w1 uReg fear g

ITYF T3¢ B Tgas A 3T ¢ uy &1 Ik fifle:
R # f5d UPR & A $1 Io gt 22

1. oM ¥R g sAE |

2. fSrgi Tl bt g 1

3. fOg 1A 310 STt & AIS@ & ford 3701 & foa|
4. fgi1 ggudd ¥ HHET|

Correct Answer :-

. TSFgiA 3o St &1 I & farg $idur & fear|
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A PROFESSIONAL EXAMINATION BOARD
Phseiee  Middle School Teacher Eligibility Test - 2018
oth Mar 2019 02:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) Which theory laid the foundations for behaviorism? / f#d Rigid 7 SrdgRarG &1 a w&i?

1. Functionalism / TShTIATG (GraRTAfereH)
2. Gestalt / TRETeT

3. Connectionism / TATSIATE, (ﬁ%ﬁm
4, Structuralism / TRIATATG

Correct Answer :-

« Connectionism / TSI ﬁﬁﬁ?q)

2) Vygotsky’s work serves as foundation for researchers in / a’r{!ﬁ?\‘l’cﬁ DT BTH ﬁ' !ﬁﬂaﬁﬁ'&ﬁ a?
o ffq &1 P BT B

1. cognitive development / GITTH® fomrg
2. pedagogical skills / Q&1 BT

3. emotional intelligence / HIATH®D g@

4. reflective practices /ﬁiﬂ:mﬁa G{W

Correct Answer :-

« cognitive development / W ﬁm

3) Which of the following is the most appropriate approach for conceptual learning?/ fFrafafaa ¥ @ 3ale siftrm & m GiER:]
g VP10 T 32

1. Deep learning approach / 161 W ‘E’WUT

2. Surface learning approach / qg W ?:’f@?ﬁUT

3. Strategic learning approach/ W &rfiﬂm E@aﬁm

4. Memory based learning approach/ -‘Q:ﬂ%f 3‘”9-”?\’_('[ W ‘e’@ﬁm

Correct Answer :-

« Deep learning approach / 7Te-1 SfRTH E@W

4) On what is based the need for teaching philosophy of education? IﬁT&‘IT & QT&'TUT a"\’f:l'-‘lTIW P ATIRYFHAT fhg R
TG 82

1. All pupils are not alike /H'l-ﬁ R W@“@[T&%ﬂﬁl
2. Different systems of education found in different countries / STCI-3{¢T é? {7 SIT-3IeT ﬁT&‘rUT WW%@GFTT %:|
3. Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ m I e B Ugc] UR 3{cIT-

3T ERHIv e fhu|
4, Different ways of teaching-learning /ﬁ[&M—W CACIREKRCA

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
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« Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ SRR A e o B Ug WX 3{cl-
3T ERDIU Had U

5) OCD does not affect which of the following cognitive constructions?/
S Fufafea dgmmee il & @ f5g wwfya =8t sar a2
1. Believes about inflated responsibility/ SfaRad ITRaRicd & ufd oy
2. Underestimation of personal ability/ G &A1 Bl HY 3T

3. Intolerance of uncertainty / SffAf¥adr &t &RT%W

4. Control of thoughts/ ARl W =

Correct Answer :-

« Control of thoughts/ Rl W =

6) Emotional development is partof ./ HId-ITHD oo™ | e gl
1. Motor development / ERIRED (Ih??) R

2. Cognitive development / IS fae™

3. Psychosocial development / TS fadmr™

4. Sensory development / Hadt (M famra

Correct Answer :-

« Psychosocial development / ARG faeT

7) A child has been bullied in the bus every day on the way to school. Now, when he hears the sound of any bus approaching, he begins to
panic. What principle of learning explains this behaviour? / TP TR D pd TG BT A & fpar wraT B 3rq, o9 ot 98 fHdft s
F T 31 P} IS a1 8, o 98 YR a1 8 | FRTH &1 1 A1 Rsid 39 SATeR 61 SRS Bl 82

1. Reinforcement / W:f

2. Punishment / 8

3. Stimulus generalisation / WW
4, Stimulus discrimination / mﬁﬂw

Correct Answer :-

« Stimulus generalisation / I&UP AMHTHROT

8) A child is motivated to jump from the first floor window to the ground because it gives her a thrill. What motivation theory best

describes this kind ofmotivation?/WWWW@W@WW@%WWW%WW@WW%I
o TR & Mo Rigid 39 TR 3 IR0 T I 35T qui H3d 82

1. Arousal theory / Fhfrqtf Rrgia (SRI3SIcT aZhﬂ')
2. Incentive theory / Uiere Rigia

3. Drive theory / STd Ryaia

4, Instinct theory / Qﬁf Rigid

Correct Answer :-

« Arousal theory/ljl—iﬁ'q:f Agic (CREEER Qﬁlﬂ)

9) Which of the following sentence is TRUE in the context of guidance and counselling in school?/ faffRadasa CICU RS 35| |

ARTeR o el & e d wdt 32

1. Talking about my problems, in counselling or otherwise, isn’t going to help. / BTIH e AT 3 H T sl & R B a1 H 9 o g
Heg el A w8

2. Counselling takes only one sitting to be effective. / URTHRIGId JHTA! Eﬁﬁ%ﬁiﬁ Had 1 _59[33_05 (@1 T )W%I


https://applink.adda247.com/d/XhqWf9lSap
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3. Helps in working through personal problems that may affect academics or relationships. / fGdTTd TERISH & T Y HH H § Jag
& ol Fefael a1 Rl 1 gifd o) I gl

4, Students get counselling only because there is a counselor in school. / B B Had 3T TR e % Fiife faeraa § wmRferar %I

Correct Answer :-

« Helps in working through personal problems that may affect academics or relationships. / I THTSN & ATH I HTH FH J Aag
T 3 o Rigaer a1 Redl &) yHifad R ged 3

10) Which of the following provides excellent resources to explore? / fFrafafea & @ o9 91 war @ m ﬂ'ﬂﬁ) ¥ ﬁl’E SpY
HHTY UG BT 82

1. LCD projector / TeRiTS! Uiolaex

2. Internet / EE@?‘.'

3. Interactive smart board / gﬁm e
4. Language Lab RGEERSE]

Correct Answer :-

« Internet/ s’aﬁa

11) Which memory is connected with episodes and events? / T 3R TeAT3 & 1Y B W Wfa F 2l 32
1. Long-term / aﬁ*afafﬂ

2. Episodic / UTHRTE W (TUATEH)

3. Semantic / 3% Wi (FAfe®)

4. Short-term / 3TATATY

Correct Answer :-

« Episodic /Wﬂﬁ (Qﬁ@lﬁs’a?)

12) The type of personality called ‘Asthenic’ was introduced by / Rifve e Aafera fFad grRT Udd forar o
1. Freud / /PIIS

2. Sheldon / RS

3. Kretschmer / AR

4. Jung / {PT

Correct Answer :-

« Kretschmer / =R

13) The 3 primary laws of Thorndike’s theory are: / 2I'IT".S'I'E'FF FRIgiad 3 Wzmﬁtﬂ:l'%

1. law of readiness, law of exercise, law of effect / TR b ﬁm:r, S dT ﬁm:r, 4G &1 a9

2. law of intensity, law of analogy, law of assimilation / e &1 ﬁm:r, qeg a1 ﬁ'qTL SMHAGTARRY BT FAug
3. law of action, law of experience, law of result / B BT ﬁm:r, S{IHI T ﬁuﬂ, gfvomy &1 fRaw

4. law of use, law of practice, law of disuse / TR BT ﬁuﬂ, S hI ﬁ'qtf, @Iﬂ'qmﬂa?—fﬁ'qﬂ

Correct Answer :-

« law of readiness, law of exercise, law of effect / TRAT BT TH, 33ATY &1 FAw, gHTd &1 Ao

14) Minnesota Multiphasic Personality Inventory (MMPI-2) has / fRer vedtbfore uﬁ#m‘é’rsﬁzﬁ (@@Tﬁsn'{-z) A= %z
1. Above 400 items / 400 HIRCH T 31
2. Above 500 items / 500 m@ 3ffdre
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3. Below 500 items / 500 WQW
4. Below 300 items / 300 sﬂsa:r@tw

Correct Answer :-

« Above 500 items / 500 3ISCH T 3fdm

15) In which of Piaget’s substages of sensorimotor stage to children repeat pleasurable actions that first occurred by chance? / ﬁt"ﬁ Tﬁ

me(ﬁaﬂnﬂumﬁWW&mﬁaﬁmWﬁm?ﬁWW
) i

1. Primary circular reactions / PIgiEc Q?ﬂ-q WTQ’

2. Secondary circular reactions /7o ?ﬁﬂﬂ &ﬁ%&m
3. Use of reflexes / T @S] m&h BT UGN

4. Mental combinations / AT JTRTYOT

Correct Answer :-

« Primary circular reactions / PIgiEc Q?ﬂ-q WTQ'

16) What have the children developed when they are aware of their own mental processes? /

T 3 # 7T AP RIa #vd & o9 98 U=t ArRe uftharsi ¥ 3ravrd gid 82
1. Metalinguistic abilities / SfIHTNTS &ATY (HeTferdifes Tdiferdh)

2. Metacognition / W (ﬁw:ﬁﬁﬂ)
3. Meta-awareness / STISTNRE @ dT (HET-3HATR)

4. Metamorphosis / TIATRUT (HETHTEH 1)

Correct Answer :-

« Metacognition / IRESHIE] (ﬁ'c’lﬂv“l’ﬁﬂﬁl’rl)

17) What is the smallest unit in the writing system?/ TG HoTmelt # T B 335T€ =T %?
1. Nouns / “’Eﬁﬂ

2. Verbs / ot

3. Phonemes / W H (lﬁﬁtl)

4. Graphemes / afofg (‘;ITa'JTFD

Correct Answer :-

« Graphemes / afofg (‘;ITQW«‘—'D

18) What cognitive principle does a child possess when she understands that the amount of clay in a 2cm ball remains the same whether
the ball is flattened or made into a stick? / T TN HI-T AT HATHD RIGTd UK X AT 8, 99 9§ 39 A A Fa&H
grar ¢ % 2 It ara ves e & gt (o) 31 amen auE Yl @ 91e Tig @) guet fhar ST a1 39 B8t & U I eren
oTg?

1. Conservation / W&‘IUT
2. Volume / 3TIdA
3. Hypothesis / CIWHT

4. Irreversibility / 3TIEhHUNTAT

Correct Answer :-

« Conservation / IR &UT
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19) What are the characteristics of scientific inquiry?/ aﬁl’lﬁﬁT \_ll'\l%l' B ﬁn‘ru?rr‘é T Eﬁ?ﬁ %'?

1. All of the above/ JURTaT TH

2. Learner engages in scientifically oriented questions only./ Rremeff aefe =9 Faa 3HY vl dav g %I
3. Learner gives priority to evidence only. / renff aa Trew B mufiedr %I

4. Learner formulates explanation from evidence only./ ﬁT&ﬂ?ﬁm 1&g @ WWUT aﬂﬂ ‘DIl %|

Correct Answer :-

« All of the above/ IURTaT Tt

20) Children who come from homes with good parent- child relationships tend to be . /ﬁF‘l’ TR § Arar-foar iR = 31
WY ST BT 8 Al = AT

1. Intolerant of others / §¥R [ % 'Qﬁf Gm-%-ml

2. Impulsive / m—lﬁ (ETEF%%IH)
3. Posses weak intellectual control / aﬂ:l\_lﬁT E?F@H? = Ut

4. Successful in social participation /TSI HTfterR) # 9w d

Correct Answer :-

« Successful in social participation / W Y ]i Q i ﬁm

21) Kohler’s insightful learning proved that learningis ./ ﬁ?ﬂ'\f * m SRR A ﬁa far {5 erferm %l
1. an autonomous random activity / b IATIT grefese nfafafd

2. an event of trial an error / I 3R & B U G

3. a new perception of the total situation / H'Q;Uf IRIGED] U Ts“ 3@@

4. a connection between stimulus and response / ST 3R UfAfhaT & §1F Ueh Ty

Correct Answer :-

« anew perception of the total situation / -‘V-I-Q,_;Uf @ﬁ ﬁ Th Ts: Glﬂ'lﬂﬁ

22) Vygotsky places considerably more emphasis on factors contributing to cognitive development./ a@ﬁ?\wﬁ 3
PRSI IR Igd 3ife SR fur @ & T A § aire &3 8

1. Personal / TG

2. Social / AHTSTEH

3. Emotional/ HIG"THP

4. Cognitive/ GMTHD

Correct Answer :-

« Social / TS

23) According to Piaget, what method of processing information helps in the creation of schemas? / forars & SR, AT

wfrareeor #t - fafyr sifFafa A (@t & fFmfor & geg wedt 32
1. Questioning / TEATS (FARIFT

2. Motivation / 3ITHURTT (HIfEa=M)

3. Deliberation / fOR famr=f (Sferfavem)

4. Accommodation / FHGIT (@ﬁ%—m

Correct Answer :-
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« Accommodation / FHGIT (@m

24) Maslow’s five-stage model is in the shape of a mmﬁ%uﬁmn"mw_% Wﬁ%l
1. Pyramid | frafirs

2. Square /it

3. Rectangle / 3lAd

4. Circle / 9d

Correct Answer :-

« Pyramid / fTRI&rS

25) Ankit cheats on his exams and ends up failing in his final assessment. This can be attributed to his: / 3iferd 'q-\&&ﬂ' o TR B %

3R 3U+ 3ifaH 3T a # AP gl SITdT 21 3P oY TP 0 PRUI B! TSR ST &1 Il 8-
1. Lack of parental involvement / FITCT-TUdT o AgHTRTAT BT S{HTT

2. Poor reading comprehension / G U3 P HIYRUT

3. Lack of self-esteem / SATE-HHTT &1 HH]

4, Dependence on others / m R fARar

Correct Answer :-

« Dependence on others / QFR R FRar

26) According to the theory, men and women are different and unchangeable due to their intrinsic differences between the sexes. /

__ fusia® agar, goul 3R afgarsit & R & i siafie s & SRT 3/e 3R srafvad-a &1
1. Social constructionism / TTHTRIE fFHTUETE (TRTT dHegarRI-eH)

2. Intersectionality / SARTIHTT (SeAaRMICICT)

3. Gender Essentialism / fefT Sffarfar

4. Gender performativity / feiTT T2

Correct Answer :-

« Gender Essentialism /ﬁ’iﬂ Sifardar

27) The learning style that is greatly associated with activity is: / fafaf & Iy dgd 99 I 31 Al %:
1. Visual / €Y

2. Verbal /Iﬁ@ﬁ

3. Kinesthetic /w%

4, Auditory / HdUT

Correct Answer :-

« Kinesthetic /w%

28) Wwhich of the following is not true about constructive teaching approaches? /ﬁm'a #A A P TWAHD ﬁT&l’UT m F

IR | I T8I 82

1. It allows the teacher to focus on important and relevant information. / El's’ ﬁTw 373[ W eﬁT Eﬂﬂm W TR &4 %@‘d Wﬁ ﬁ
3Hfa T

2. Students learn to value the opinions of each other. / 9T U §¥|§ A P Hed ?{'_ﬂ RRCT| %l

3. It helps to customize the curriculum to each student. /HEWW@W@W% SR &1 o Haq hdl %|
4. Discussions on the thoughts and ideas of a student are used. / QEB BIF| %?ﬁﬂ 3ﬁ? 3 T Q| R ﬂﬂfﬁ@ﬂﬂ ﬁﬂjﬂ STl % |
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Correct Answer :-

« It helps to customize the curriculum to each student. /WWW@W@W% SR &1 o Hag hdl %|

29) Erikson, a follower of Freud's synthesized both Freud'’s and his own theories to create stages of human development,

which span from birth to death. / YPTUS & Tt TRHTA A, wIUs R ISP WU & Rigial &) wrHg faw &
RIS Bt g9 F g Wzafva faar, St o9 3 gog 9 gl 2

1. Ethological / BRI Ca

2. Epistemological / RIEEsi i)
3. Psychosocial | AT
4. Conventional/ URFRTTd

Correct Answer :-

« Psychosocial / TS

30) children should start developing cognitive abilities before they can experience / g=I B BT AJHT DY IJH A q?ﬁ,
TAFHFTHS &I P fAB R He1 Y= B 1 1Tl

1. Fear / X

2. Embarrassment / 1%1%
3. Anger / 8T

4. Disgust / YUl

Correct Answer :-

« Embarrassment / W

Topic:- General Hindi (L1GH)

1) Tq, srfla, 9 Gex &2
e i fave 9 afeh
At ot W B,

e o PR o Y
Iyt § $© T o 21
e W TP T[erd Hie,
"3 R afe gt famar,
31U Ya3R & JUA! BT

H oft 51 1 e AT
M- 9% vE s,
Ied 0% el 9¢ W B
fiq, orfla, #19 e 82
3T YF I T STA W
St @i W B &

U par - Tl §
@t 96 3 7 At

T P A fHRr aieht
et o of & TR
g, Y1 & T SHgHR
g W W5 # 9|
ST 381 B BT R T 5,
T 7 P BT W B
i, enfia, #19 geR @2
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3 IR § 7El, v v
T3 W e T,
EAT &R SHP| AT BT
W ¥ 95T Wia w31
IR-T @S i Bt
o & foueR g &,
g AR F ot Ma A
ReEr, o 79 A A R
g T, R et A |
B Y6 THPT R T
iq, enfla, F19 gex @2
ST U B! UgHR 1 I T4 a1 U= BT I« Ia13¢l
U "Sudl’ Weg BT T 3 72
1. FTH Y HIS 76t

2. MR & I

3. JUMTS g8 ol

4. fHFIRI @

Correct Answer :-

. fFRie

2) Tq, orfq, T GR &2
MR M fawe #t afe+t
Faelt FEdt I 3,

e sa@T R AR B
Iudl & T Hedl ol 3
e W TP T[rd Hiel,
"3 R afe g faemar,
399 Ya3R & JUAT BT
# aft S Pt e AT
M- 9 Ve P,
Ied 9% el 9¢ W B
1, erfd, $19 Yer B2
3T Y& I T ST W
St @i W BT IR

T par - @le o
@ 35 3 7 et

T Y& oI fhor qeedt
gt ot of & s
forg, gt & Ma sHEHR
g WA W5 # 9|
IS Y61 P PTER T,
T B Y@ BT R B
i, snfta, B gav 82
3 ot € weT, T W

T3 Wi e M,
g1 TR SEP| YT I
W ¥ e EiT w31
- =S
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o § fSue gl 8,
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Topic:- HINDI (HIN)

1) Y s RoraeT Siedt Sern Hikadn 8 98 a1 8 et -
1. UG g
2. foraar g
3.39ae
4. AT

Correct Answer :-

. FEarg

2) 3R @ yTaT g7 P gAfoar € -
1. IWiad gt

2. HIT I Y TR T fear

3. Had TS § T FAfaar

4, Haq A I TR ot

Correct Answer :-

. IR g+t

3) 3T A 59 B5 F TP TR A TAE 16-15 P TR A 31 T01 G619 &1 HEI-Pa] 8,8,8, 3R TTa quit R +ft afer &1 fyem= AT SIram &1 591
Sifaw quf e AT 21

1. B TR
2. G B
3. el B
4. PUSIRAT 5
Correct Answer :-
. TERI B
4) RPN v A T AT 32
1. T BRI ATIHRY GRT G BRI HHRY 1 feran man sfoanes o
2. Ush IR ABRY GRT GER WRBRT AIBRY b1 ferar mar =i o |
3. TP o gRT ISR Hrterd ! forar a1 v |

4, R} Brated gRT it Ut o) forar mar o= |

Correct Answer :-

. TP WHR HAGRY GRT R WHR USRI feran man sr=nies v |
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5) GIgT 3R AT Bg & Y0 | B A1 B¢ I9a1 32
1. 9T B«

2. TR B

3. PUSRRT <

4. B T4

Correct Answer :-
. PUSRT®<
6) =i 7S W 79 A s gry forf@a fFaw @2
1. BRI vrTG fgadt
2. YgHeTTS! YelTelTel sReRit
3. SRR TG
4. YR Rig fgmaw

Correct Answer :-

. IR Rig faax

7) <% ST 3meHl el § 1° F1 Ryerraras o Fefif@a d s ar e
1. 98 T SMEH 31

2. 98 33T e &1

3. I8 B 3rST e B

4. 98 81 1 ST M B

Correct Answer :-

. 98 331 3eH

Correct Answer :-

- Bl AR

9) HRY TV T WY F YR TR T8 fopaes gRT fH foram =1 3871 U= 971 o 9t 82
1. Rigfeb GRT yreTd Bt

2. T TRrefeh GRT AR s bt

3. BHEI/ST GRI {18/ B!

4. TP ST GRT GUR BRI

Correct Answer :-
- BHEI/STH gRI Rigfeb !
10) frw At F AR Py & fawy &1 wra Af | fawR gde faae frarsmar 21
1. T Ryl
2. URT A
3. fagu it
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. g el

11) Aardt 3 IuuTar @l o) Bt el @2
1. fogr f&dt

2. oy et

3. gt fedt

4. e fed

Correct Answer :-
o o R
12) 13 fRu U fyeel #§ A fa ofd &) Afra Sifea s ware?
1. fogrt
2. faemfa
3. HRTaTS
4, IR GWY

Correct Answer :-

13) AT & S 00T quT e 31 e Gva T8 21
1. ST

2. TTH AP Tl

3. Sffdlg

4. @far

Correct Answer :-

14) YRHG 31 &1 U aR fpaq oiwl P 81aT 32
1. TRgE

2. 315

3.8

4, g

Correct Answer :-

15) MifE® sifiraafdt 8 s ol it sMazgwdl gidl 8, a1f:
1. IWiad qoft

2. $Had AP YTal B G U H o I o |

3. Paa W et Sifiveafad &1 fawr g 9o |

4. e TR & RIE-3ARIE Td TaATHIdl D1 G Hab |
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. IWRigd g+t
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16) U & 3N &1 IR HH 32
1. TEIYE, TRY, HAR, 3fd
2. TRY, JraieM, 3id, Haar,
3. URY, T, Hadr, 3id
4, URH, 3fd, TEIEH, HAR,

Correct Answer :-

o TIRY, TEIEH, HoaR, 3fd

17) IR TR U H oA & 951 & forg e & & w-3 e =18 Sugio & aman s 82
1. {101 Ry

2. STYDT RIS

3. 3MuehT |t

4. 3P ST

Correct Answer :-

o 3MOT TRt

19) 79T WREA & TG TWUTE -
1. IWIad qoft

2. Had ggT

3. Had g

4, Had JHLAT

Correct Answer :-

. IWRigd g+t

20) HTYT RA&UT ST AT R -

1. 3T LAY BT fawrg

2. AFAIT Hde &1 fadb

3. YIS &) I 3R 3Hfieafad o1 faera

4. 3TUTS UG T2 UTe BT

Correct Answer :-

. UV ) gH 3R Sifiefe o faer

21) HTYT & RIFT W & TART WG § St 3R ISl § S B U WINT H5d 32
1. 3faeht

2. HIFD HINT

3. g arat

4. faumy
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Correct Answer :-

o favmsm

22) THT I PT TP YR a1 8 -
1. §=IR

2. A&

3. 44Ul

4, 99

Correct Answer :-

23) YTHT BIA P fba TWOTE -
1.9R
2. dfg
3.3
4.4

Correct Answer :-

24) UG BT URIE O BB $ UHIRIG §52
1. 9719368,

2.9 1942 3.

3.9 19205,

4.9 1947 5.

Correct Answer :-

. T193638.

25) i Fm & A Fdy o1 T 32
1. fawr

2. IRE-fEm

3. Y

4. SUHER

Correct Answer :-

N REREEw

26) fay & wa Sifie ST9 Wi &t = fra A 32
1. 3R

2.9

3. URd

4. FFQATCR
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1. FRe
2. AP q

3. 3R
4. YT [A00-a%g 1 TG FA Y
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28) FfiTEd # @ $19-91 9 A T & Ha & we 81 37
1. 39 g &1 oitdd quiF far T g |

2. U8 0% fRg B1oa &1

3. 98 U& YRR I TU B

4. T8 $fog 0 TG GRI AU &1

Correct Answer :-

. 3% gl 1 oiidd quiF e T g

29) FraffEd & A $1H yRdax i FeveR T8 22

1. GdTY AR Ay

2. SRR G

3. TSRO Ae

4. P g

Correct Answer :-

. SRR UG

30) FroafafEa & @ F19-0 snfewr= wifta 3 = T8 32
1. S Breg

2. XM BT

3. Sfoged B

4. Rga=

Correct Answer :-
. Jfagad B
31) fafafea & & i fagm 3 s o) Qi iy =t A g2
1. BRI vrTe; fgadt
2. TR I et
3. A o
4, 7 ip g

Correct Answer :-

SR EICECE]

32) Fufafaa & o9 a1 sdeR 82
AR, AR A8 WA |

ar foe 37 &a fae g, 95 wrg wrtn
1. TSR 3ABR

2. AT SABR

3. TS APR
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4, JUAT 3TBR

Correct Answer :-

- SIS 3iefbR

33) Fafafaa & 3 o & R Iuge exa-yor anat @ -
1. Y&, TulkepTex

2. qARA, e

3. P S, HER

4. TiaTSq, difear g

Correct Answer :-

34) o IR & @ P11 e T 82
1. 1 B @ @RI

2. TG §HA GHET @/

3. §H @M g1 @

4. §HA @M@

Correct Answer :-
. T @ EE
35) U # & $1H-91 Y= AuTee $I ford oM 91 U7 & Hay | 3R 32
1. T8 U7, GARIR U & HUTedh B! UTod &b gRT foral Sl 3|
2. 98 U, AP HeUGR] Jror1si & el H Faad BT ST Bl o
3. 8 U7, WuTed & fore guf &0 & s1oem sifard 76t 31
4. 98 U7, PR & i 781 g anfe

Correct Answer :-

. U8 U, YUTE® & 1T quf &9 ¥ B0 Sifard et ] 1
36) R & | F1-T1 FeTI 3ia & A A gam &2
1. 31-HGHT eI

2. T& BRI ST

3. AR BB SaTaT

. o
4, JAdT Pl 3Tl

Correct Answer :-

. TR BB MR

37) 9 & @ Yadie 3 f5w Tt o1 4= U U ug) 82
1. QIS

PAGICIE]

3. TS & TSt

4. 9t arel fJea

Correct Answer :-

. QEHIAA
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38) e # @ - faiwar smard gomdt yang fgaddt & Faui # 781 fiewrd usdi 32
1. forofifaw

2. Gipla® dd

3. QTSI HTaHT

4. oI fefae

Correct Answer :-

. eI R

39) Fufufad dfema & o9 a1 o< 32
< gitra faft g, e sar e |
IS YT I, IS AR GH T e 1|
1. IRBT B

2. TiifdepT <

3. ST <

4. RAT<

Correct Answer :-

. RATBR

40) WIS ARTH BT S AT ST & -
1. S

2. AT

3. foars

4. Thleid

Correct Answer :-

41) 5 w-uPeT & Wures & e & A 5w ueR &1 v T foran o wehar 22
1. TSR et o

2. G A

3. A 1 Riprra dedt o

4, Rremad v

Correct Answer :-

. SRgET U

42) ! B HIP WG A 3T BT U fry Rigia & siarfa grar g2
1. Sfaad e o1 Rigid

2. Tepamefierar &1 fRygia

3. 99 &1 R

4. 3T T Rigid

Correct Answer :-

. Topamfierar &1 fRrgia

43) MY & TS B A2
1. HER

2. TGy
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3. AT

4, 98Ul

Correct Answer :-

. TAGTY

44) 9T A1 faw Y el & A fraeT IaeRuT R -
1. IWiad goft

2. Had T TR BT

3. $ad T IR B

4. TG4y A BT

Correct Answer :-

. Had T AU BT

45) Sgx BT He T GeTay BT A B -
1. foRreR g

2. fRy H I w1

3. $3d1 914 BT

4. 3O g ft U XG I

Correct Answer :-

« 30U g vt gu IE

46) 'FIfe, Y # frw Fer FTUA 2
1. @&

2. G dRl

3. BB

4. 338

Correct Answer :-

47) 39S YAD GRUIH 16 AT g1 & 1 3id & @Y -1 3| - SWiad faRvan frq o< o1 82
1A BT

2. Yy avi B

3. A B

4, P B

Correct Answer :-

. TS B

48) YRIE STUTYIITE I~ IR 301 & aral SR G W qTa-T Jwra Bt arat & dad S 82
1. ey
2. fagamy
3. GIAR™
4. ATHTET

Correct Answer :-

. MPay
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49) «TH YT A & URT | TP R TR Sffem eRT 11

IR 3% € YTell fihY | Al SHA TH TR 117 - 59 Uell 9@ I A ofrd 82
1. IR

2. famufar

3. 3R G
4, TIRETY

Correct Answer :-

. HRGWI

50) 'wgyUl B wHRr fHH Joft &1 ey g2
1. e

2. e

3. JHRUYE

4. TSI

Correct Answer :-

. g™ Yy

51) Fg) ¥t e feah ot ot 32
1. SR

2. IRRR

3. 83U

4, foRu=1

Correct Answer :-

Fq giY & arelt =i 21 St & fafay ezl &) wraa wRgd s st ST e Rl

4, s dcd

Correct Answer :-

o HeUAT dd

53) & afera Fray o1 wwftfa vd 949 swaier 4 oa1 9 g2
1. faeprama fay

2. gaia Brord fRrer

3. o7 fa aat

4, SRR UG

Correct Answer :-

o foenfar fay

54) fEdiar U SN @ ArguUTaT B ST e & R -
1. 3R
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2. 9 R

3, AU 81
4. faRI 3

Correct Answer :-

- 3|

55) FrafifEd ufeml & #1991 sdor 32
&3 U AR & IR G AN,

FA U HeR & A EA 3

1. Y SABR

2. THSD 3fTBR

3. TUF ATPR

4, IUAT 3ABR

Correct Answer :-
o JO® DR

56) THHUR & U4 8 99 T T8I 7| U1 Bt TS ot 95 TH TG A gl S TS 3| HHR T 55T ISTR AT iR SaTexvT §8-g¢ Y W AT, o eyt fafea 8t

ST {3 e g0 IUraAT Fed 7, o fR1e 3 o SifE fIsTy % &) GuR Y8d §, et Wi ajiarsn 3@ & oY 89 3A® ave & WRE g a9198 TS 314 8,
I ST BHM | U1 THG T} fyaran o1, afen S6i $o 3@ o 5y A Rt 7ewn g9 37 | S Yeaar awgmd §1 R @l & sha &1 3839 bad $udr SRk
B, ST UfasT U g3 81 ifwi=r et # 3% fonlt Ayt o 78l | 31 o foran, $uan HHm 3R Weile 31 9t ot | {6l A 51 a6 18 5 3 B9 A 3R Bl MU
T TS T A= B, W 98 W B SURHAT BT T SeaT | 3 B A € ge oa 7, R o shtas w1 oiftfa v W agwre a1 uivay fean @1

Ire IRDE B TgHT A4 3T T Uy o1 Sk Ff@e:
IR 47 & gornial St afd gidt 82

1. A RAS BT T R ¢

2. 31T UFINT SR AT S & 75} Xg S

3. 3! ST &I B

4. I WRS S A § |

Correct Answer :-

o 30! UfasT 3R ATH S H e 38 S|

57) 39 UUR & ¥ § 99 $© T8I ¢1 U7 P I df 95d B STEI § gIdl 3@ TS 31 AR PT SI6TH IoIHY AT SR IATER0N §g-g¢ P A W, o
3! fAfd 8 v % et 89 U #7d €, o e 89 oA 3T fIoTe 9@ &1 auR 84 €, et Wi ariaren w@a & 1T 89 3 avE & ®IRS
forg TR @S P4 B, I Tu HH A =1 wea T8N e o1, af®p 3% 3o 8% 7 v A et wer en v @ siflie egar whea €)1 R A
F Sfta T ILT B TUAT TR 8, STB1 U9 3 g3 81 i srawut & I fredt A yot 9 711 3617 o= foran, Fuam waman iR Wt 31 g #1
ot A T 9 ST {5 @ B A 3R wet Y A quTe W@ A=y 7, W 9% Wrd $t IURET BT 781 Swar| o § 3 €Y ge 91d €, el e sita &Y
3fifa Hed THg Agww o1 uREy ATl

Iuge ufvde F) ugHe A T T vy 31 IR ffa:
9 T 31 3fra e w8 wwar 22

1. S P A

2. 9 P HEdl

3. SO HYTT

4, Y9 Dt g

Correct Answer :-

« Siaq BT AT

58) 39 UAR ¥ U7 1 Wa $© T8 €1 U7 P o1 ot 9gd B STG! | giat gt 73 g1 AR PT 3IeT IoTae ST 3R IaTeT0M §e-g6 P A IV, ot
3TuehY fafea g e & Rt g3 UM #3d €, e 1T 89 orm SiiE 4B 7 &1 R T84 §, e ¥ifa aRiamen T & fiT 80 3Me @ & WRe
o TTHY WS P B, ST TUAT S H AT HHY ] [T AT, qfep I $0 U4 B oy A frTest wewn o0 v0 @ e Heaar wHeia 8| R e
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ftede & AR g9 71 B | S0 WY g1 faarn 4
1. Sffa gHdor §

2. 30 HUH T

3. UfasT AN H

4. SATRU g |

Correct Answer :-

. IPWHARH

59) 39 TAR ¥ ¢ € U9 $© 78I &1 U B YT dl 9gd HH el W ghell W TS B 1 VAR FT 38T ISTHR WY 3R IERVT ge-g¢ X A IQT, oY
3! fafdd g wimew 6 Rre g0 Iura #d €, e e 89 oA 3ifd fYeTe 9@ &) R 84 €, ret Wit wRiaen @9 & 1T 89 3 9w & Wk
g SR WS B 8, SR SUAT HHM F U THY T} fyaran o1, afwr 390 7o 1 #1 fHy A Ree e 70 70 R siftre gegars wwga §1 R @t
F Sfta $T ILT B TUAT IERAT 8, STB! U8 3 g3 81 i srawut # 3 fedt A umt 9 =gt 1 3517 o= foran, Tuan waman 3R Wl &1 9 31
forft A W 9 €Y fF @ B9 A 3R Bt Y A quTe W@t ARy 7, W 98 Wrd  IURET BT 781 Sar| o W 3 € go 9Td €, el e sita &Y
3fifa Hed THY A« S uR=y AT |

Iuge a3 F) gHe A T T vy 31 IR ffa:

e &Y gEIr A R AU 32

1. Treff g1

2. T B AT HAT|

3. ¥R a9 T

4, T & forg sita siftfa g

Correct Answer :-

 @rff g

60) 39 UOR & 4 € T4 $O TE 81 U7 B TSN Y 9gd H TG A i 3 T 31 AR 71 3faerT Soree ARAT 3R SereRw ge-ge B A AR, &
3Ty fafea 8 e & Rt g3 SuraT #3d €, e 1T g9 oA SiiE 4B a@ 31 R ted §, e Wifa aRiarsn T & fiT 80 3Me @ & WRe
g oo} WS R §, IR Tuan HHE A S T A faaran o1, afew 39 3o T o T A et we 6 R @ orftre gegar wwE §1 e it
¥ Sfa BT 33T Had SUUT ST 8, STB! UTIST $ g% 2 | 3ifIepizr a1 § 3¢ fonxit 7yt 9o Tet1 319 o1 R, o wuman 3k weils &Y amsn &
foraft A oI 9% €Y fF @ B9 A 3R wet T A quTe W@ 3awy 7, W 98 WY 3 SR BT 781 SIan| 3 § 3 € g 91 €, Rl 3= shae &t
3iftfa 0 THY AgsIa o1 ufvay A g1

Iuad TRee B Tga? 9 T 7T vy BT Ik fafRw:

TR # {5 UpR & A7 A gerr g1t 22

1. ’oF1% WIR® fawg s U

2. SR @ i St a3t

3. ol o= e Y Irgwra & forg srdor &6 f3ar

4. forgiA yguda eF o

Correct Answer :-

. ToFE o Siie &) Hyw@ & o sdor = el
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Topic:- Child Development & Pedagogy (CDP)

1) Which theory laid the foundations for behaviorism? / %3 Rigid A ggRare &t g @

1. Functionalism / UBTIATG (baRHeISH)

2. Gestalt / TRElec
3. Connectionism / GAISATG @%ﬁ@)
4. Structuralism / GG

Correct Answer :-

« Connectionism / GITSATE (ﬁ%ﬁ@)

2) yygotsky's work serves as foundation for researchers in / Wﬁw G|

BT H Mywdie & e g o1 w19 Fear g1
1. cognitive development / T fAHT

2. pedagogical skills / Q& TOIH HIYA

3. emotional intelligence / HTA-TcH® §f

4. reflective practices /ﬁi?ﬁ?ﬂﬁ 3T

Correct Answer :-

« cognitive development / {-iill"lld-lcb EEILS

3) Which of the following is the most appropriate approach for conceptual learning?/

fFafafad & ¥ dfive oiftrm & fore 9o Sugad s s @2
1. Deep learning approach / e 3‘|'f€|1m gf@a%w
2. Surface learning approach / J¥ 3TETH m
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3. Strategic learning approach/ W &rf‘EITITr m
4. Memory based learning approach/ F:jﬁ‘{ TR S1fETH W'UT

Correct Answer :-

« Deep learning approach / 1e 3fETH %’@Hﬁm

4) On what is based the need for teaching philosophy of education? /ﬁT&‘IT 37

fRreror gz &t sTawgedr e wR snuTRa 82
1. All pupils are not alike /Hﬂ-ﬁfﬁww@@rﬂ%’rfﬁﬁl

2. Different systems of education found in different countries / S{AIT-3A AT a_Qﬁ H 3el-
3T R1efor yonfert & Sl g

3. Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ

SRR = TR1&1T & B UG TR S1eHT-3{elT TV 01 o fhT|
4. Different ways of teaching-learning /fQT&l'UT-&@Tm & faft P |

Correct Answer :-

« Different philosophies expressed different points of view on every aspect of education /ﬁﬁ-ﬁ[

SRR A TR1&1T & B U TR S1eT-3Hel] VD01 o fhT|

5) OCD does not affect which of the following cognitive constructions?/
S Frrafefaa Sxmres fFafon & & fed gwifaa 98 srar 82
1. Believes about inflated responsibility/ Sifafad IRalRid & ufd fay
2. Underestimation of personal ability/ G &HAT B HH i1

3. Intolerance of uncertainty / ST &adr &t W’%’@Fﬂ

4, Control of thoughts/ foaRl o= gz

Correct Answer :-

+ Control of thoughts/ faaR W g0

6) Emotional development is part of ./ HIGATHS fapT™ Ca) %T\‘IT %I

1. Motor development / fhaTd® (HIeR) fawr

2. Cognitive development / T [AHT

3. Psychosocial development / RIS fasT


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

4. Sensory development / Gdal (HER) fadra

Correct Answer :-

« Psychosocial development / AAIITHTIGTS faH™T

7) A child has been bullied in the bus every day on the way to school. Now, when he hears
the sound of any bus approaching, he begins to panic. What principle of learning explains
this behaviour? / % T= P W@ d SITd §E < ST o1 {1 raT ¢ 1 319, o9 +ff a5 faeht
T & URT 31 Dt AT T 3, O 98 TG a1 3 | AR &1 B 1 Rigia 59
HGER 1 TSI ST o2

1. Reinforcement / gﬂé?ﬁ

2. Punishment / ¢8
3. Stimulus generalisation / I U JrHhR]
4. Stimulus discrimination / 3&19% favdiau

Correct Answer :-

« Stimulus generalisation / BE‘TW AR

8) A child is motivated to jump from the first floor window to the ground because it gives
her a thrill. What motivation theory best describes this kind of motivation? / ¥ dl m
Hfora ot fas®! & 9H WR B & fore aiva giar 8, Fife g8 39 g dar 31 fra
PR P RN RAGid 39 YPR B U0 BT a4 33T qui- HId 82

1. Arousal theory/l;h_fﬁ'qq Rigid CRENN @ﬂ)
2. Incentive theory / Uicie Rigid

3. Drive theory / §Igd Rrgia

4. Instinct theory / Qﬁf Rygid

Correct Answer :-

» Arousal theory/thﬂel'q:[ Rigid (RT3 ?Ihﬂ)

9) Which of the following sentence is TRUE in the context of guidance and counselling in

school?/ FFrafAfEd & A ®19 O1 919, Y@@ § ARfeRi i W=t & Hef o gl 32

1. Talking about my problems, in counselling or otherwise, isn’t going to help. / HTITIHT T 3=

H A8 guersli & IR H 91d HA 4 H DS Hea el 7 @l B

2. Counselling takes only one sitting to be effective. / TRIARIGTAT UHTdt g o feld had 1 8
o (e BRar g


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Helps in working through personal problems that may affect academics or relationships. /

Oqlro\rd‘gl U137 & ATEHH ¥ HTH B4 H 7SS Hdl g ol fRrenfae) ar RNeal o uvifad &
bl g |

4, Students get counselling only because there is a counselor in school. / S Pl had 2gfau
TRTAR] AT 8 riifep faereara # R=iarar 3|

Correct Answer :-

« Helps in working through personal problems that may affect academics or relationships. /

oufon*lg U137 & ATEHH ¥ HTH B4 H A Hal g ol fRrenfae) ar Real & uvifad &1
ghdl el

10) Which of the following provides excellent resources to explore? / FufafRada s

TdT T (TR R $3) & I ISPy H18= UeT H3dT 82
1. LCD projector / Tagret ISR
2. Intemet/é?@_c'

3. Interactive smart board / '{;C\QECd H—Ilé dls

4, Language Lab / RICEASES

Correct Answer :-

o Internet/ s’aﬁa

11) Which memory is connected with episodes and events? / TG 3N gedTsi & 91y

o9 W Wfa St et 82

1. Long-term / zfrgn’afﬁ

2. Episodic / AT Wi (TOife®)
3. Semantic / Y (A (FTHCH)

4. Short-term / 3{eUTalY

Correct Answer :-

. Episodic / U Hfd (TS ah)

12) The type of personality called ‘Asthenic’ was introduced by / Rif e AHe Aafea
frad gRT yRgd fosar mar

1. Freud / 1S
2. Sheldon / ﬁlﬁq


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Kretschmer / ShRIHY
4, Jung / Q,"T

Correct Answer :-

« Kretschmer / SHRHER

13) The 3 primary laws of Thorndike’s theory are: / %ﬂ:i?ﬂw & Rygid & 3 i A

1. law of readiness, law of exercise, law of effect / TR BT FTH, 31T BT [HTH, YU BT
R

2. law of intensity, law of analogy, law of assimilation / GIEGIEE ﬁ?m, Y DI ﬁ?m,
STHIATABUT DT FTH

3. law of action, law of experience, law of result / S BT fam, YT Pl faq, gfvomg &1
[BRE)

4. law of use, law of practice, law of disuse / TN BT W, 3T &1 471, 3w &1 ™

Correct Answer :-

« law of readiness, law of exercise, law of effect / AU bl ﬁ'CI'JI[, S b1 ﬁm:r, UHTd &b

14) Minnesota Multiphasic Personality Inventory (MMPI-2) has / e b ioe

qHTerd) Sded (THTHdeE2) A A= B
1. Above 400 items / 400 3TSCH ¥ i

2. Above 500 items / 500 MTgCH I 3fed

3. Below 500 items / 500 3T$¢H ¥ HH

4. Below 300 items / 300 Gﬂ?ﬁﬂﬁm

Correct Answer :-

« Above 500 items / 500 3TSCH T 3H(UPH

15) In which of Piaget’s substages of sensorimotor stage to children repeat pleasurable

actions that first occurred by chance? / forars #t ﬂaw TMTHD ARIT (ﬂa’cﬂ
UM SaAT) B Fordd SUSTRIT A T ITHGETAP BTl DI GIgRTd & ol
Ugdl IR ST 9 g Y2

1. Primary circular reactions / PIKitac Q?ﬂ-q &w


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

2. Secondary circular reactions / TTT0T Q?‘ﬂ'q W
3. Use of reflexes / Sl m&h GRS

4, Mental combinations / Iﬂ:ﬂ%ﬁ; ﬂ-&[w

Correct Answer :-

« Primary circular reactions / EIT%F&W Q?ﬂ-q 3’|Il a5 3 Q

16) What have the children developed when they are aware of their own mental processes? /

aﬁg@ﬁwﬁwﬁamﬁ%wwmwmﬁﬁm
BId 82

1. Metalinguistic abilities / SfETHTHTS &HATY (HeTfelidiRed Tdiferd)

2. Metacognition / \wa (ﬁwﬁ:ﬂﬁﬂ)
3. Meta-awareness / STISTRE S Al (HET-3ATRAY)

4. Metamorphosis / TATIRUT (HETHIG RI¥)

Correct Answer :-

« Metacognition / &mﬁ (ﬁE‘WT:ﬂﬁFD

17) What is the smallest unit in the writing system?/ G yuITelt # 9ad Sidt WI% T
82

1. Nouns / 31T

2. Verbs / fopan

3. Phonemes / WfAH (Cl'ﬁeﬂ:l)
4, Graphemes / gfofe (‘;lTaﬂ:\‘:D

Correct Answer :-

» Graphemes / aftfa (‘JITaW\‘:I)

18) What cognitive principle does a child possess when she understands that the amount of

clay in a 2cm ball remains the same whether the ball is flattened or made into a stick? / U

T B T GFFATHS FAGid YT HR AdT 8, 59 98 59 JHSH § J&H
giar g P 2 At arat v T § ) (@) B AT g el @ 918 e B
YucT fhaT SITe 91 39 Sl & ¥ H STdT wiTe?


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

1. Conservation / &0
2. Volume / 3TId-
3. Hypothesis / TR &I

4. Trreversibility / STTEhHUNIT

Correct Answer :-

« Conservation / &0

19) What are the characteristics of scientific inquiry?/ aﬁT&ﬁ? EIEEd] ﬁ'@'q_d'lﬁ' w1 gt

82

1. All of the above/ SURIGRT FHI

2. Learner engages in scientifically oriented questions only./ ﬁT&‘ITQﬁaW ¥ Y Had 3HY
Ui B e gId 5 |

3. Learner gives priority to evidence only. / Rremff Hae Teg o1 Urufiiear %I

4. Learner formulates explanation from evidence only./ fi’r&ﬂ%ﬁ%ﬁ 1&g @' W a?ZIR
RGN

Correct Answer :-

« All of the above/ U 4t

20) Children who come from homes with good parent- child relationships tend to be

R o_Y & AR SR Il Py SFOT I S AR g El
1. Intolerant of others /m & ufd W%ml
2. Impulsive / 1ot (ETG%HT:I)

N A .
3. Posses weak intellectual control / PHGIR &g P [GRELRCILS

4. Successful in social participation / TS HRTGRT # 9% d

Correct Answer :-

« Successful in social participation / qrEToie HRfGR! # 9% d

21) Kohler’s insightful learning proved that learning is ./ aﬁw % GI?ITE:@
3R A Ry o 6 aiftema gl

1. an autonomous random activity / (P 44T L||‘zE'.|(-'CE9C‘4’> Tﬂ%lﬁﬁ[



https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

2. an event of trial an error / YUd 3R _ar% & Udh Ycl

3. a new perception of the total situation / quf fRfa ot Udh :l_ﬁc 3‘@‘1-‘[[%[
4. a connection between stimulus and response / B?ﬁ‘l:ﬂ 3‘?'? PIRIER] & d dh g9y

Correct Answer :-

« anew perception of the total situation / Hq\uf fufq ot Uh Ts“ 3133-‘[[%[

22) Vygotsky places considerably more emphasis on factors contributing to

cognitive development./ CIENIR k| W R dgd 3f¥re ok fear 8 =it
HIHTHS fIHT | aTeH od &

1. Personal / SfaiTdl

2. Social / ATHTS

3. Emotional/ HIdTHP
4. Cognitive/ GIHTHD

Correct Answer :-

« Social / AR

23) According to Piaget, what method of processing information helps in the creation of

schemas? / TORTSl & IR, @11 ufshare=ur &t S1F-A faftr sifafa aien
&@an) & frafor d veg sdt 22

1. Questioning / YIS (FARIT

2. Motivation / STHURUI (HIfeaTH)

3. Deliberation / fO=R famef (Sferferzm)

4. Accommodation / THGI (THIHISTM)

Correct Answer :-

« Accommodation / FHGSIH @ﬁm

24) Maslow’s five-stage model is in the shape of a / ATl & Uid-3aRIT HiSH TH
& APRA I

1. Pyramid ACRIEE]
2. Square |


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

3. Rectangle / 31Ud
4. Circle / dd

Correct Answer :-

« Pyramid / foRifere

25) Ankit cheats on his exams and ends up failing in his final assessment. This can be attributed

to his: / 3ifpd T A TN} HYaT 7 3R 3UA SifaH spa A B d gl ST
21 5T U IS T PRUI $ STRICR 38T ST Hahdl 8:

1. Lack of parental involvement / ard-foar & ﬂglﬂﬁ?ﬂ I AHYHId
2. Poor reading comprehension /'q'—c(r god ﬁ S{IYRUN

3. Lack of self-esteem / STH-HHTT a’ﬁ Wﬂ

4. Dependence on others / w U3 ﬁﬂ-TTdT

Correct Answer :-

« Dependence on others / gﬂﬂ R AvRar

26) According to the theory, men and women are different and unchangeable due to

their intrinsic differences between the sexes. /_ﬁ?s{l?la? SRR, Wﬁﬁ Gﬁ?tﬂ%?ﬂ\?rﬁ
& foiT & ot Sriafve Siav & FRUT ST 3R SufRad=ia 3|

1. Social constructionism / JTHTII HHIUATE (RIS e aRI-oH)

2. Intersectionality / GI?ITH‘J-I'ITﬂ'q @?@Wﬁiﬂ)
3. Gender Essentialism / feT Sifarfar

4. Gender performativity / foim QaQi:i

Correct Answer :-

« Gender Essentialism / feiT Sifarfar

27) The learning style that is greatly associated with activity is: / fafafyr & Ty dgd PO
W #Y Aeft 8-

1. Visual / <Y
2. Verbal /Iﬁm

3. Kinesthetic / m%

4, Auditory / #dUl


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Correct Answer :-

« Kinesthetic / EIO_IE_"I@W

28) Which of the following is not true about constructive teaching approaches? /ﬁgm

A B TP 107 TRH0 & IR ° I 8 32

1. It allows the teacher to focus on important and relevant information. / Zl's’ ﬁT&W ﬁ W 3‘ﬁq
TG S RI TR & Hiad B Bl g a1 e

2. Students learn to value the opinions of each other. / €912 U Cc'q\{-l\{ % Hd ﬁ Hoed 2'0‘”
A gl

3. It helps to customize the curriculum to each student. / & H@Id” 91A ﬁ UlodenH ﬁ
S & IR §9H # Heg dral g

~\ o
4, Discussions on the thoughts and ideas of a student are used. / Y €914 % Hlid @T Ia Ellil U

T} BT ITANT fhaT ST 5|

Correct Answer :-

« It helps to customize the curriculum to each student. / UG HCSIGD 91A ﬁ Uloden H ﬁ
& & IR §9H H Heg Hral gl

29) Erikson, a follower of Freud’s synthesized both Freud'’s and his own theories to create
___ stages of human development, which span from birth to death. / WPTdS &

AT TRSE 3, WIAS 3R 3T WY & Rigidl ) 7ra e &
a1l B F9H & fore Axaifvd fan, s 571 F g 9@ gt 21

1. Ethological / 3@[?1%%

2. Epistemological / I
3. Psychosocial / TN
4. Conventional/ UXHIR[d

Correct Answer :-

+ Psychosocial / TSR

30) children should start developing cognitive abilities before they can experience / Tsliﬁ' a?r
BT AJUT F TGP V Ugd, GFHTASD 1Sl &1 e S & H
CEIEIY

1. Fear / &Y


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

2. Embarrassment / W
3. Anger / 1[&T
4. Disgust / YUl

Correct Answer :-

o Embarrassment / W

Topic:- General Sanskrit(L1GS)

Y ulssdd s AfeufaToeg Hed |
T + 37§l |
3U*S|‘f+3ﬁ?ﬁ?[|
. U9 + 37edId |

Correct Answer :-

TY: + 3edld |



https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Correct Answer :-

¥.2s sfd gueH 3181 forad |

3)

qreleddaieeTH |

1

qTeaTdaTGT |

2

HaTGddareT |

3

RCELEICT

4

Correct Answer :-

HaTeddaresTa |

, ACAr |

Correct Answer :-

 GCTAT |


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Y golT s ;& ?
. adcdl |

g |

? 309q =Y FEAT 2e: foa@d |
UhlATa AT cal Aag g |

1. - -
Uh A TcdlAagaH |

2. N ~

TP IR e |
3.

Tl Td AT ae o |
4,

Correct Answer :-

TPl Td AT R ATEHH. |

7)

qedeld 39 UG Mudd |
_ Frfderd: |
_geafaerfd |


https://applink.adda247.com/d/XhqWf9lSap

Adda247
) geafaerra: |
, acafaefd: |

Correct Answer :-

- gedidefa: |

Y GegAfe ScIET glaaded fhd ?
, Fecdig |

doq |

dfeal |

3

, doad |

Correct Answer :-

. JETH |

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

Addai247

GET IT ON
Google Play

it R sreTafa 2
1. - ""l
2 | ﬁ"l
3, © **l

, eld |

Correct Answer :-

11)
H1TegTenliciohl HEATH Fal Tc: |

fIfaT-=dl |

2 gdcd-Fdl |

REdl |

3.

4,
Correct Answer :-

Edl |


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

? Fadiusdeh e ?

dadTHA |
duag g |
AT AT H |

L TS T H A

Correct Answer :-

S dda Y|

13)

oY eleqET YaHehade fohe ?
e



https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

HFITHUT: |
)

. hTHCTh: |

Correct Answer :-

* gdeeeEd aqeff-faererd: ¥ e ?

 HaEH |
qaT |

2

3lﬂéﬁqﬁhl
. TaEA |



https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Correct Answer :-

. HaEH |

7 Eafa 5O o R & R ?
37 |

_ &alrd |
Gaod |
. e |

3
aad |
4. Mo

Correct Answer :-

_ Galfd |

qHHACHA: TO |

9 P |
 gASEASS AL |

4 QiFATCHT: STafd |

Correct Answer :-

qFHICHA: TO |


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

19)

[

cal' YeFd Hel®q e ?

AqCHG |
. J -

3G |
dq |

3. =~

, ddq_ |

Correct Answer :-

TCTAT |

Correct Answer :-

 UsAr |

4.

21)

W Ul - TAATET-TgaaeTwd fohe ?

) iaEIIFI~~ I


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

2. - |
3T |

, 3TAT |
Correct Answer :-
3 |

® geafa scaey eTd: & ?
e |

qrer |
| R0 |

YA |
. J =


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

Correct Answer :-

<0 |

¥ FrseR: b HUTT 2
_HeHA |

AU |
2.

_ JTEROTA_ |

_ GUTH |

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

€ id IR Aied ?
oo |
2. o |

331‘@’“

gC |
4, it
Correct Answer :-

L5 |

27)

Aedcd# 31d UG JIh Hed |

 HAd T |

HA dT |

, Hod ded |

Hol dcd |
. N |

4

Correct Answer :-

Hel dcd |
. 2


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

, dercdT |

, I |

Correct Answer :-

T |

29

) 5
A AT S: SAET Hiod: &: ?

) IHICeT: |

30) ‘TaIfor ScIET duile] U e for@d |
A3 LTS |

THTTINOF |

, LTI T3MOT |

, g ar for |

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
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Topic:- General Hindi(L2GH)

1) ANTHA! RES-uy a¥T | IS S e g S T W 11
AR $1g AR 9 W7 | 35 IR U8 R &= 11

G HTe g5 ws s | 4 g wird, oimd 5% s i
YU ARG 911 BT | IS Hd ISl df et B

F U des & Og | fou v uft Frafa g

T N1 M WRl | A o steeR ST 0

AT FHElR TS @t | BT RASte, Rraf fsfay midiz
AR SR B iy, ik e disg 2 |

gt it dier & w¥, favg w1 w9 &g 10

fUrs-farah sy 91T oitss | ufter fAfa a@ “fas @i i
3iftre wr grd Y 3 | B A gar Tes s A 0
faRE 9 a9 @ 7 el | TP yeite, T g et
@ foaT, 8R HT 4TI | 38R U deife |a AR )

T U 314 T 7 ¢ i | @A g g, g R i
uae Sramafe, WafE 9 | weR v agefE ga-ar i
W U1 §id &1 IR 2 | $ g faq & uran 21

ST TR P UG 2 IS MY U PT IR AR
U - o1 §fer &1 I fvam i ferar?

1. STALR ST A

2. 9 A

3. MY el =

4, AR A

Correct Answer :-

o gEAA

2) AN RS-y 3T | i S e g #le A T 1l
AR HTg AR 99 W | 95 1R O3 7 &= i

G FTd g5 A WIS | U =1 <, o1 a9 offss i
YUS ARG TG BT | IS S ST dF et B I

B U i3 & Bg | fau v ufk rafagg

T U Mg U | S5 SOaT STaeR S i

AT FAfe TS Sl | B fasis, forafg fafiy mdizn
R SRt B gfe, Ak fearer disg 2 |

g R dier &t w3, g s Ak fws 1

fOr3-fordi o aeR Sftss | ufteT FAfa aid s @i 1
3ifirep BT g1 <t T | B < g Tes s A
fove 99 a9 AR A Siell | Tpd Wi, Wi g =t i
T g, FR HT WY | 3R 8% WA deife §e ARt |


https://applink.adda247.com/d/XhqWf9lSap

AddaET
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- U 319 U Hg ! 94T | Wi g fors, gis PR 1
U Sarafe, i =@ | g% U qyeiE ga-arar |
W 9T §1d &1 X1 2 | 1G9 fiad & yr@n 2|1l

ST TR B Ugo? A1 I3 T 7Y PT I Tag:
U — AT fois & 9y 9 3R o ¢@ T8l 82

1. 3T AR N g1 T g

2. T8 oS ST A16el & |

3. 981 39 Ad-ar g1

4. 37T Ul 7T 3R Aleh Tl |

Correct Answer :-

. 3T ufd 7T 3R AR TRl T

3) AT fRIaSR-Ud v | IS S e g Sl T %R 11
AR HTg AR 99 W | 95 7R O3 7t &= i

3T HTd gI5 a3 WS | I3 AfE e, oira 99 ot i
YUS ARG TG BT | IS S ST dFe1 B I

B U W28 & g | fAn Fu ok R sg

A R Mg Wi | 9 SraaT STeeR §Rf i

AT Pl TES I} | HfsA o, RrafE ffr w2
R SRt B gfy, Ak faarer g 2 |

g gl fior & v, iR wra Ak s 1

fUre-fauT 3Ry ars? ot | ufter fAfa aia s i 1l
3ftre H g18 | I | 3R A% e Tes s A
foRg s aw arT A STeft | THa e, ofifor TS et
@ g, FR HT UIRY | 3R 8% WA deife 9e ARt

T U 319 Y€ g ! AT | GiE sy fors, g o i
UaH Siamafs, Wafg i | g U aqsife g@-ara i
W YT 8 &1 G 2 | Y GATd Wad & | 2 i

SUIT TR B UG 1Y TS Y U4 BT SO Ta19:
T - RE T S d AT 82

1. I

2. YN YR 38

3. fagm IR &

4. dR ¥

Correct Answer :-
. foam R <


https://applink.adda247.com/d/XhqWf9lSap
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ARTHA FRASR-uY a7 | A S e g St TR 1l

AR $1g AR §9 W | a5 AR A A= g1 11

3T FTd gI5 a3 WS, | I3 fE o, oira 99 ot i
YU TR F19 BT | IS B I a1 B I

H U 03 & Bg | fau v ufk et gg

A I Mg YT | &5 Srawar SdeR SRt 1

A PR TS AU | His i, forafE e mdie
AR S i iy, wify famen s 2 |

i gl fivr € wE, g @1 @i & 1

fUs-faat g arsR offes | ufteT fAfa i R dis 11
3ifres 1H e A I | g A gar e s A
fave 919 99 @ A St | Ipd udte, HifST e =ied o
T 3, 1% U1 YR | 3Y &Y U aeife wa At ol

W U 3AT9 Ue HE | [T | WAl oing g, g1 AR i
Uq- Sidmafe, dafE arar | Uge U ayqeie ga-ardr i
W U1 i ) X1ET 2 | Y gATd Wad & a2 i

ST == Bl UgHR 19 U T ¥Y HT IR Ja133:
WA - TR Ufaral & 3iY Rreg <@ HT 34 32

1. IPY

2. &R

3. G

4. &Ul

Correct Answer :-

5) AR RS-y a7 | S S M g S T BT 1l
AR 18 AR §9 W | s AR A A= g1 11

3T HTd gI5 a3 WS, | I3 fE o, oira 99 it i
YUS ARG T BT | 76T HId AT GF el ST 1l

H U A0S & Bg | fau v uft frafiagg

A YR M= MM | A ruwaT Serer SRt 1

A FHlS TS AUt | HfeA fyoie, forafg fef wdi2n
ARE Wkt 1 g, ARk e g 2 |

g g iR &t v, g wra aAife di 11
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2. Sffed
3. 3ffAHfAa

4. qHHY

Correct Answer :-

o STHIYRIT

24) 194l G & ARY H IREAP BT YHIRM ) & 1 T sranuror wen <&, et ar 39 901a =61
W, TR Y F 1Y W 7| WG BT AW ufedd uget H9 onnTs forel & Fromrarg o 3 g1 ol
fremaTaTe ST 981 B, Set uftsa smteniie Surea eRaffer Uer gan 9, ok a8l & deita (fde) wea
F YUTHTHTUS g | I BT T8l [ AW &A1Y JXEddt T agl a1 W ffran | weadt &1 umea pa 4
fFrreq & a1e ATqgd g9l 1910 .8 §9RA § Ugd 9ag fHlft & U IRwadt & SR AreR ver oft | Argw
T8t ST foranr o1 gt Tuer & orar o1l A gaa: 3¢ 1 faendf un1 & @ & wg srgar fam aufaran
WD o € o TS| 3N PR B AR F R e Iufda wmwr f wert Aot & g 3¢ e
SRt YTI TRHR IS UG ¢ T g HId A1 S USUTd & SR G IS¢, UgIg M5 | TR |
TEpd Ug- T ATI I & A1 3R Iwpa i ue, ot & srawit wrar g1 5t 21

ST TR B UghR -1 YD T UY BT IR qa13d:

WA - 3raTeATRig Iuteary <gRaiier &1 o= fg o o gam U
1. FemHTETE

2. SHTSTHTG

3. AR
4. UG

Correct Answer :-

25) dI9dl G & ARY H I[REAP BT YHIRM ) & 10 T sranuror wen <8, et ar 39 w09 =61
T, TR AHY S /Y T €T TG P A Ufedt uget 8 Sirere et & fArrarare S § g ol
fremTaTe T ad 3, et uftsa srtemiie Suram ey It gon 3, ok 951 & aaita Fifse) wpar
F YUTATHTIS g | U BT T8l b AW &A1Y JXEGdt T agl o= W ffran | wreadt &1 umea pa |
fFrreq & a1e ATgd g9l 1910 .8 99 § Ugd 9Hg fHft & Ui IRwad) & iR Are uer oft | argw
T8t ST fraar o1 gt quer & et 41l A gaa: 3¢ 1 faandf un1 B @ F we sgaR fam aufaran
WD o & o TS| 3N PR B AR F R e Iufda wmwr f wert At & fg 3¢ e
SR YTI TRBR BT UG ¢ T g HId A1 S U&UTd & SR G g, UGS T | TR |
TP Ug- o ATI I &A1Y 3R I¥pd i ue, ot & srawit wrar g1 st 21

ST TR B UG 19 IR T UY BT IR qa13:

U - TGP DI Tpd I fAdaA & q1g T ATqH gl
1. 3G YT

2. YbTRM

3. TRl BT HIGTH

4, f§t ot g
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Correct Answer :-

« IR BT AR

26) dITdl G & ARY H IR BT UHRM [ & 1w T srmuror ge= <&, Sy var 39 wag =8t
T, T AHY & AU Y §) T T BT AW ufeet uger #7 3rerarg ford & Fremararg sw & g am
freTaTaTE T a8 3, et ufvea srteniis Sutemg sReffy Ut gon 3, ok 951 & aevita Fifse) wpar
F UYTTHATIS Ig | T§ BATA a1 [ ATH P TTY It BT 98T &=+ i fen | Ieadt &1 aerey a3
e & 1¢ ATy g3l 1910 $.7 TIRY # ugd 9wy frdft & ury wReadt ¢t ik A uer oft | Areqw
8t ITPT fpanT 3= gt wHer | et 41| # gerd: 3¢ o1 e un1 R am &+ srguR famn gufaren
A o &Y o T U PR B AR ¥ Fd v Iufda v ft wwert e & g 3¢ e
Sfrard 4TI IRHRN FREUA SHfUHT I | g HId A1 ST U&UTd & SR G I, Uers TS| a9 RT
TEPd U T ATI Jg, & AT AR Ipd ft ue, ot & sraft urom g1 st 81

ITYe TRIR Y UgH 14 IR 7Y Uy o7 IR Id133:

UL - AP & R =<t U=t YT 9 ) Tl 82
1. 9%d 3R Rl U R

2. T & 1Y 3 e |

3. TP d & Y AD-HTH TG+ TR

4. 3UST & TIY WPd U W

Correct Answer :-

. TXPd & WY Ig U W

27) dI9dl G & IRY H IR BT USRI Y & o1 v srmuror gen <&, Syt uar 39 wwg =8
T, T {HY & AU Y §) T T BT AW ufget uger #7 3irerre ford & Fremararg s & g am
fRrtTTaTe Hear a8t 3, et uftsa st Sureama gRaffy 3ar g 3, 3k 761 & qeeitar Fifye) wear
F UYTTHATIS Ig| T§ BATA ! [ ATH P TTY IRt BT 98T &=+ i fen | IReadt &1 aeey a d
e & 1¢ ATy g3l 1910 §.8 TRY # Ugd 90y fredft & Ui wwadt ¢t ik AT uer +ft | Arew
T8t ITPT fHanT 3= gt wHer | 3mar 41| ® gerd: 3¢ o1 e un1 R am &+ srgaR famr gufaren
A o & o T 1 3 PR B AR F FE v Iufda wwr ft wwert A & g 3¢ e
Sfrard 4TI TRHN FREUA SHfUHir 3¢ | g HId A1 T U&UTd & SR G g, Uers TS| a9k o
TP UgA T UTI I & ATY 3R Ipd ot v, at f&d sro=it wron gt st 21

ITYe RN P UgH 19 U 7Y Uy o7 IR Id133:

Y - TRIGd! BT UBTRA fedt & e sranuRor gen ff ag «a Wy gam 2
1. GOG & 1Y

2. WG & FAuA |

3. a9 §1G

4. TR & §¢ g & d1G

Correct Answer :-

. U Y
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28) diadl el & ARY F ‘WREGAl’ T YHIRM 84t & e v sraruror gear A, s uar 39 aug
T8 T, W GHY & 1Y WY 8 T I BT 91 Ufed ugd A7 orwne ford & fAomrere . d
AT uT| FAeITATeTe et 9@l 8, el ufvsa srtaiig Suteard gy’ A1 gon @, iR a8t & dguiid
(Fifsen) Tpa & uuTTeHTUS 3| U8 |ITE T8l & AW & [Ty Il b1 a8l g1+ ot firam | aadt &1
e W d | fAean & a1g ATgH §3iM1 1910 3.9 TR § Ugd 90y fhlt & Ui Ivwad 3t ik
AT uet ot | ATqw S IWST fhaaT 3%y gt wHgr A 3imar 411 & Yaa: 3¢ &1 faenedf ur) fFH @ &
P2 AR 31 quiaren HRa sra= €t o 1 3T AR Y ToR ¥ & vw Iuféa uren &t et
Aol & fore 3¢ uenT sifrart 4Tl SRS SRIeTUT SHfRIwHi=r 3¢ A g Hvd A1 3 yarurd & HRr g3t
3¢ USTs 5 | R W TXPpd Ue o UTI Ig & 1Y 3R Txpd i ue, ot fEdt sra=it wrar g ol 31

IUYT TR DI UGHR A4 T T UY HT 3% 9d154:
U= - 3= &1 faenty o gim?
1. g

2. HIT

3. 3d
4, 3Mfe

Correct Answer :-

29) FR7di Odt & ARY | ‘IR’ BT UBRH fgdt & o uw raruror geAr A, foraesT uar 39 awg
T8 T, W GHY & 1Y WY 8 T I BT A1 Ufed ugd A7 o ford & fAemree . d
AT uT| FAeITATeTe et 9@l 8, gl ufvsa srtaRi Suteard gy’ 31 gon ¥, 3R a8l & dguiid
(Fifse) Tpa & uuTTeHTIS 38| U8 |ITd T8l b AW & q1d Il b1 a8l o=+ ot firam | aadt &1
e W d | fAha & a1g ATgH g3l 1910 3.9 TR | Ugd 90d fhlt & Ui Ivad 3t ok
aTTHR ygr WY | ATqH 1 IuwT fhan o g Twsr A 3imar ATl § gaa: 3¢ 31 faendf ur) e @i &
P2 AR 31 quiamen W sra= &t o E 1 IS PR @ ToR ¥ & uw Iuféa uran &t et
il & e 3¢ ueHT Sifart U1l TRBRI SRISTUA SHfRIFHIRT 3¢ A §3T HRd A1 T Y&UTT & BRI Tt
I¢ USTs 5 | R H TXPpd Ug o UTI g & 1Y 3R Txpd Wt ue, ot f&dt sra=it wrur gt ol 31

IUYT TR B UGHR A1d Y& T UY BT 3% 9d154:
U - A A 5T e # W aires udt At 2
1. dIRY

2. Rdleldlq
3. fo ot
4, TGTS

Correct Answer :-

30) SI9dl & & MRY § "G’ BT YHIRH fFdl & e var srareyrur gen A, e var 39 999
TEY 9, WR [HY & 1Y WY g T [RE ] BT A Ufed ugd A9 erie ford & fAemreare o o
1 1| feIrTaTe e 9l 8, et ufvsa sraearRig Suteamy efvsiy’ 9T gor 4, SR a8l & dgdta
(RIfEe) Y@a & UUTATATIS T8 | 8 BT 8] [P AW & 1Y [l BT 981 o= o firar | wreadt &1
UTETed Whd & fAea & a1g ATgH g3l 1910 3.9 TR § Ugd 90y fhd & Ui IRad 3t ok
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e
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Tt vet W | ATy T8 IuHT fHan it g auwr A mar Tl # gaa: 3¢ 1 faandf un) FHh am &
Fe AR fa=11 quiaren Ha sra= €t o 1 3T AR Y ToR ¥ & vw Suféa wren &t et
Awfeal & fore 3¢ uenr sifart o1l TReRY BrTTuT Sifteiwr 3¢ A gon vd A1 3 e & SR g
3¢ USTs 5 | IR T TXpd Ug o UTI IS¢ & 1Y 3R Txpd Wi ue, ot f&dt sra=it wrur gt o<l 31

S TR P UG 12 IR T Uy HT IR Iq153:
WA - AG® aa: [$a Hmar & faemdf &2

1. H®pd

2. 3%

3. HioTgdt

4. fgt

Correct Answer :-

Topic:- HINDI (HIN)

1) it F=T T STedt SrerT HiadT @ a8 ST g STed -
1. UGdT 8
2. forgar g
3. 898
4. ArIAT 8

Correct Answer :-

. Graarg

2) ST & Wy Rigror 1 gAIfaar § -
1. IORNerd Gt

2. Had ATHRT T e gAIfaar

3. $ad Uo ¥ THEfdd gAfaar

4, Had G F e gAIfaar

Correct Answer :-

. SWRIad gt

3) 99 A fhd B¢ & Ui® IR0 & HIdg 16-15 P fOTH A 31 90f gId & | Pel-Pgl 8,8,8, 3R
1 quit uR oft afey &1 faem 9 simar 81 g9 sifaw auf 1= g 81


https://applink.adda247.com/d/XhqWf9lSap

e
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1. BT DS
2. AT B¢
3. ORI B

4, PUSIAT B4

Correct Answer :-
. YR B
4) - TRBIY U A T ATy 22
1. Th BRI SHABTR GRT G WBRT SABRY &1 feran T =i o |
2. T RN BRI GRT G WBRT ISR B foram T Soanies v |
3. Uh Al GRTIRBR] BT B! feram 711 v |
4, NHR ST GRT ol HT B feram 71 03|

Correct Answer :-

. TP WHRI AP GRT G WBRT HADBRT DI FeraT TT SIS T |
5) SIeT 3R el B P A0 A B 91 o< Ia1 82

1. ST 9«

2. UIERl B¢

3. PUSICAT B4

4. BT BTG

Correct Answer :-

. PUSIATIB<

6) 1 g7 TS W 14 A forad gr1 fafaa fde 82
1. BOIRY TG fgaay

2. UGHAT YT SR

3. SORIPR YIS
4. IMYRY Rig fgrax

Correct Answer :-

« JAYRY Rig faaar


https://applink.adda247.com/d/XhqWf9lSap
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7) 9% 33T 3ATeHY T & 1 BT fAeare e Faff@a A s
1. 98 R 3TGH B

2. T8 3BT 3MeHI g

3. 98 € 3T 3MmeHl B

4. 98 B Al 3731 M B

Correct Answer :-

. I 3BT 3MEH B

8) UG AR’ P gRT IR ATe® 32
1. g PR

2. BaI9 TR

3. faw gyTaHR

4. HERI&Y

Correct Answer :-

. Bolg IR

9) ‘YR THA’ T WaIYH P MMYR TR I8 foras g1 o foram w1 31 vt | o At 32
1. R gR U= 1

2. U a7 g1 GER R1&feh ol

3. BN/ GRI fR1&f Pl

4. U BRI gRI GER ey

Correct Answer :-

. BHI/BHE gRI & Bl

10) T Aeht & TR Ay & fawy &1 wRa Hf | R de fag=e fFarsmar g1
1. S el

2. YR et

3. faag Qe

4. AT et

Correct Answer :-

. G A


https://applink.adda247.com/d/XhqWf9lSap

e
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11) BTl fFT IuyTT (@relt ) FY St 22
1. foemt fe<l

2. ISR et

3. TgTS! fodt

4. BraTgl et

Correct Answer :-

. o R

12) 2 Ry U e & & fra ) 1 A Sifpa we1wmare?
1. fagry

2. faemafa

3. TR

4. 3HR G

Correct Answer :-

13) foA1 | & I & AU 9UT AW BT e GHa Tgi gl
1. STEHRU]

2. TTH I P TN

3. 3fddla

4. FY

Correct Answer :-

14) R ST% HT U e fFa=t 3wl &1 giar 32
1. R

2. 3o

3.8

4. A8

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
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15) WA aiftreafdr 3g w0 o srazamar gt 2, aif:
1. SWIad Tt

2. Had dTcD HTdl DI Y ©T H o HR b |

3. dhad YT Hath et o1 fasbr gl Fos |

4. HId TR P RIG-3RIE Td ST DI FHH Jeb |

Correct Answer :-

. IO T

16) T & 3T} BT Ia HH B2
1. Y, YRY, HolR, 3id

2. URY, raeH, 3fd, haar,

3. URY, GHIYH, HeidR, 3id

4. URY, 3id, JHEIY, HeiaR,

Correct Answer :-

o URYH, T, Haar, 3id

17) gmmaﬁw%wﬁmﬁaﬁ%mﬁqﬁﬁﬁﬂmﬁaﬁﬂﬁmﬂﬁw
ST 82

1. 30T Ry
2. 3{TUHT GRS
3. 3T ATt
4. 3UBT 3ol

Correct Answer :-

o 3{TUeT Tt


https://applink.adda247.com/d/XhqWf9lSap
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4. Jaxdl

Correct Answer :-

19) YT HReA & UG TRUTE -
1. IRYerd Gt

2. Had geg-l

3. dhad feraHT

4. bac GHIA

Correct Answer :-

. SWRIad gt

20) HTYT RI&UT HFTAL © -
1. 3T 3ATYH BT [dHg

2. HHAIY YT &1 f[ahr
3, YT ot Il 3R Hfifad &1 fdbr
4. YTUTS TS T YT HRAT

Correct Answer :-

. U ! GHF IR Hfeafad o1 fawm™

21) HIYT & R Vg I YA W | S 3R USaT § S DI Al WV H5d 82
1. 3radt

2. U TS

3. g% il

4, faymer

Correct Answer :-

. fqumr

22) YTYT IS BT TP YPR T8l & -
1. 99R

2. G


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

3. 4qUl

4, drd-

Correct Answer :-

23) HTYT I & fPaa RUTE -
1. 9R

2.1

3.l

4. A=

Correct Answer :-

24) YHES B URIS P! BB’ HY UHIRIA §3?
1. 971936 .
2. 91942 .
3.9 1920

4.9 1947 &,

Correct Answer :-
. T1936%.

25) BiF A & A Ay &1 3T 82

1. fowR

2. ARF-feET

3. YT

4, JUHBR

Correct Answer :-

R FEACELYI
26) fay & 9ad ot ST W F den fraIu T 22
1. AR


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

2. dH
3. HRd

4. ST

Correct Answer :-

27) frHAdrad & -
1. IRaT
2. IffdHHA T

3. 3BT
4. T [A9T-9¥] B! TG A °

Correct Answer :-

28) fFufefad & & $I9-91 7 ¥ D & e # | A8 32
1. 39H ggl &1 Sidd quf faran T g

2. U5 U fag-draa g

3. I8 Uo YR IF T ¢

4. Ug 3(egel TGHM GRIA B

Correct Answer :-
. TUH GGl &1 Sfidd auf foan g
29) frafifEd # @ F9 YRz g FdyeR T 22
1. Iy AR 7y
2. SRR YIS
3. TR AR
4, TP HE
Correct Answer :-
. SRR UG

30) Frafiafad § @ 1@ srfieerd Tt &Y Imar 98 22


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

1. S Ted
2. T BIH
3. Jifaged s
4. Rig &1

Correct Answer :-

31) frafafaa o & fra fage A sroy=r &) Rt f&dh T amn @2
1. gl yre fgadt

2. T5eR T et

3. X[Hd % Y]

4. g ATp A

Correct Answer :-

- BRI UG fgad

32) frrafufae d @9 a1 seieR 82
AR, IMERT ATE HaTH |

& 13y 371 3 g forg, as wreTg w1
1. SO 3idR

2. 3gfad DB R

3. TUH AABR

4, 3UHI PR

Correct Answer :-

. SOIfd DR

33) frafefaa o & o & forw Suged exu-oo0 anft § -
1. &N, cuRPpre}

2. UM, Wdld

3. ®P SIS, PR

4, AiaTsq, difear T

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap

e
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34) g gt o @ w91 furde aa 32
1. 1 HA QHT W1

2. Y1GG U WHT T[T

3. A G Tgl @

4. BHA GHET QA

Correct Answer :-

. A @ETEAI

35) fAg A q -1 FY= GuIeH o1 ford §F a1 U & Y § 319 872
1. U8 U7, GHEIR U3 & YUIGH &l UIde & gRI foral S g

2. T8 UF, ANhDHTUIBRI TrorT3M & e 7 SaH BT 3T Bl g |
3. U8 U7, YuTee & forg quf w0 & B9 Sifard 76t 8 |
4. U8 U4, 3R # &Y 781 g1 =l

Correct Answer :-

. Tg U, YUTee & forg qul =0 § ST Sifard e 21
36) 79 & @ S-S STt fEdl & 781 gan a2
1. A-FHEM! TSI

2. T8 Bl SHTaIT

3. TR DM ST

4. Y1 BRI SHT<rer

Correct Answer :-

. RGN HEF! SAT<Ie

37) o & A T &) f5a S &1 48T U Uh Uy 82
1. Q9 DI Id

2. A

3. TSl & Radre!

4. Sl arelt fagan


https://applink.adda247.com/d/XhqWf9lSap

e
Google Play

Correct Answer :-

38) A & & Si- fardrwan omard goit yee fRadt & Fee & =181 s usdi 32
1. foraiifaun

2. i dd

3. AT HTaHT

4, TSI fea

Correct Answer :-

B REAERE]

39) Fafafaa Wl A P T a< @2
ot gitra Ry g1, 7= ras sax 96 |
B3 3T WIS, S AR GH 7 Fe 1|
1. GR3T B4

2. fifdd1 &<

3. AT <
4. RAB<

Correct Answer :-

. UR31B<

40) S ARTR ST T T AT 2 -
1. G-

2. HicH_d

3. fomst

4. hidd

Correct Answer :-

41) 5 yz-uHeT & Guesd & Aw & § fog yeR &1 9= 18 forar &t awar g2
1. YR daeht uA


https://applink.adda247.com/d/XhqWf9lSap
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2. UG U
3. 19 1 RIbrad e o=
4. R g3

Correct Answer :-

42) STAD| Bt HIP WG | 3T BT U fohw Ragiad & siavfa giar 32
1. g R &1 Risia

2. fopamsfierar &1 Rrgid

3. gAY &1 Rigid

4. IR0 BT Rigia

Correct Answer :-

. ot &1 Rigia

43) TRETY & T3 DI A?
1. HAR

2. ARIGY

3. AT

4. IREUT

Correct Answer :-
. T
44) % R fu ¢ ool & & fraeT Semu g -
1. SR gt
2. had Yol AUl &1
3. had =Y YUl 61
4. TG UL BT

Correct Answer :-

. Had T At BT

45) "ogX BT Y N garay o1 3 & -


https://applink.adda247.com/d/XhqWf9lSap

Adda Eq 7 GET IT ON

1. faRiedt g1

2. TRy o 91d A1

3. a4l d1d HeTl

4. 3HM TgHx Y U IE |

Correct Answer :-

o 3UHM B 1l gU G

46) 'gIfie, U @1 frg Hel HTUA 82
1. Q9 &I 0d

2. gt IRl

3. P

4. 38

Correct Answer :-

47) 39 UAS TV H 16 ATATE gielt &1 3 & AY -T&1 31aT| - IR fawag fory o< a1 82
1. <IUTE B

2. gy awi &g

3. A B4

4, qEP B

Correct Answer :-

. AU B

g;%ﬁzww-ww‘ﬁw%mmaﬁam’aﬁ?’aﬁw%mmaﬁaﬁ’%aw

1. MY
2. fagammy
3. SR
4. FTHIGT

Correct Answer :-


https://applink.adda247.com/d/XhqWf9lSap
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49) “TH YT HIfd T R | TG R U e &R 11

ARI 3R a8 YTelt fibY | il S T A AR 117 - 59 Ug el & d@® i 414 A1 82
1. HAR

2. fagmafa

3. 3R G
4. TRGTY

Correct Answer :-

o MR GWI

50) "Gyl B wHwET fH Aoft o1 ey 82
1. f®

2. 3YH

3. 9HYT U

4. FTATTH

Correct Answer :-

o JHITUYT

51) fug) &1 F= fed=it A Srel 82
1. T
2. ART

3. WA
4, foro=

Correct Answer :-

Y Y HA areht e 21 Sita & fafaer exaf &) 9ve wegd s s ST EH B


https://applink.adda247.com/d/XhqWf9lSap
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4. Usg dcd

Correct Answer :-
. HeOATAA
53) f&dt afera Frdy o1 anfta vd a9y swaneR &9 w1 o 82
1. faenfAary oy
2. heid Furet fARTer
3. X1oTT 39 o
4, STORHR YIS
Correct Answer :-

. faenfara oy

54) fEtaR UTd ST B AIGUTIT BT ST RUgd & e -
1. A

2. A B

3. gl g |

4. faRy 31

Correct Answer :-

. AU R

55) Frafifad ifema) § S-a1 sreerR 27
1 UR HER F 3 769 I,

$2 OR HeX F X WA 7

1. TV 3fABR

2. JHS AAPR

3. TUD HADR

4, IUHT [ADPR

Correct Answer :-

o JHD HADR
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T AR | U9 51 99 $B T8l ¢ | Y9 D1 TlT ot 9gd DU o1Tgl | gidl gEl TS § | HR P 3fdg ISTH ST 3R
IaTEIVT §3-¢6 B ITHA AT, o) MU fafed g sien 6 ot g0 Sura o= &, o fore gw ormm sifd
foTT 9 # dUR TEd &, e Wifa Rias @A & e 80 3Me TwE & WRS {18 9191 TS F4d §, 3611
TUGT HH T YT THT 5! faardn o1, Ifwp 3511 $ T $/ fhy A e ugwr g9 30 A $ifte geaa=
Tuga g1 o1 @ & Sias &1 3T Fad IUAT TERAT 8, IAP! UfAST $U g3 o | ifUwizn srawyr # 37 fhdft A gt
TP 8T | ST o T, TudT HHET 3R Wale & I $1 | fHd 3 5 9 781 6 3 P19 A 3R 8l eI JEa
TS wardff 3wy 8, W a8 W &) IUTHAT AT 81 Sar | 3 § 4 g S o 8, el 3ram shtae &Y siffa s
UG A &1 uivay foar g1

Iuded U= Y Ugd - feT T vy 1 I« fafee:
TR A o9 & geral &) 37 afd gt 872

1. 3 IRAD &I I IRA & |

2. 31 YIS 3R ATH S | g1 I8 oI

3. JP! JURHI BIel & |

4. 37 TR TTY ST § |

Correct Answer :-

. ! TSI 3IR 19 o § 78 X8 S|

57) T GOR § ¥ € 99 $© T8 ¥1 47 3 Yo o 95d HW Sl § Sl I E 1 HER 1 e
IoTHR AT 3R ISTEVT ge-ge PR A I, dY 3mus! fafea @) wimen fr et g0 SuTa=n #vd €,
% 1T 30 oA ST fIaTe 9@ @) R T8d 8, e e aRiaren wam & e 59 sme @ & WIRS
e ST WS BRA €, ITI TUUI HHM | U1 IHY e farar on, 9fep IR $o 0 o e 3
o wgT g vud J URe Yeua JuEd €1 o @ & Siia &1 35R9 $ad $Udl 9eRAT 7, P!
TasT $U g% 1 SAfUPiwr sawyt A 37t A go1 a9 7| IR o R, Tuar wumn ok Wald
e F1 Bt A 1 9 T8 75 3 19 & 3R T | wrHa ware W@l srawy ], R 98 w@rd @ urn
BT 81 ATl 3 H 3 8 o o1 &, gl o= sftaq ot siftfa wva 9wa ugsuea &1 ufvea fean 21

Iudad Ul &1 gde A AT 1T uy o1 I fafae:
9 e &1 3fd Wi w8 gear g2

1. Sita T A&l
2. BUU Pt Tl
3. 3T SHIHU
4, Y= P Tl

Correct Answer :-

. Siigq B A

58) 39 HUR ¥ ¢ 31 WG PO 761 31 U B TSN l Igd W SNTG! A gl oW TS ¢ | HAR BT 3fae™
ISR AT 3R IR ge-g¢ B WA AT, dt emuyep! fafea &) siren 6 Reedt 8w Iurg=n #3a €,
o fore &0 oA 3iTE ST 9@ &1 dUR Yed €, RFa Wfa aRiaren wEa & i g6 sMe ave & WRS
g ST @S BRA €, ITI TUUI HAM | 7T Y e faman on, 9few IR $o 0 o e 3
o vt g9 TUA ¥ Siftre Yeuar quga 81 o @i & Siia &1 38%Y $ad $UAT ISRAT 8, D!
TiasT $U g3 1 AP sawt A 3% fhlt 7 go1 a9 7| IR o R, Tuan wumn ok Wald
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g Bt | fH A 91 9 A8 P 3 B A 3R Fel | g JHTS Wit oraxy g, R a8 Wrd &1 SurgHm
FHRAT AR ST 3 B 3§ S o §, e 3rm Shiaq 3t siftfa wa wwa agsrw w1 uR=a fear g1

IUYa Ufide &I Ugdy i feU 7T uY &1 3« forfau:

TRwSq & SJER g8 I B W 39T 99 g1 faarn =iy 2
1. Stta wdor §

2. ¥ HAM Y

3. UfasT A

4. I&TERUT g |

Correct Answer :-

. Y HAMH

59) 9 HUR H ¥ 1 U9 $T ¢ ¢1 U B YT A 9gd HH STG1 | il q@l TS §1 WUR BT 3w
JoTHY AT 3R ISEIT §e-g¢ PR A IAAT, @Y 3mueh! fafda 81 simewn & et g0 Surrr &4 €,
oo fore 8 oA SiTE fAoTT @ @1 dUR Yed §, oAt Wifa aRiaren v & I g6 3Me avg & WRS
fRIg TR WS F §, I/ YT HHA A (U1 UG 81 faman 41, 9f@p 3211 7o T o fee 9
o Hewr g Tud F it Yeuar Jugd €1 o @ & Siia &1 39 $ad $udl 9eRAT 8, S9!
wfagT 4 g3 21 ARE sawt A 37 el Ayt 9o =8t 3= o o, $uan wuman ok wRele @t
Tt &1 | fEedt A i a9 1) % 3 B9 A 3R Tl eI ue g W@t srawy 8, W a8 w@rd it Iuraen
FHRAT G AT 3 B 3§ IS o1 7, g 3= Shiaq &t siftfa wa waa agsaa w1 uikeg fear g1

Iuded ulsde @) ugde AR AT 1T uy o1 IR fafdu:
T BT g | T YT 82

1. Tt g7

2. T B AT BT

3. $R& S|

4. AT o foTg Sita SHftd H=T

Correct Answer :-

o arff g

60) T TR H 47 € W $© TEI 81 47 F Y o 9gd HH e § St I 7} WOR 1 ™
IBTHR AT 3R ITETT ga-g¢ B WA IR, o amues) fAfda g siren 6 Rt e Iura a4 §,
% 1T 30 SrA ST fIaTe 99 @) duR T8d €, e Wfa aRiaren wem & e 59 sMe @ & WIRS
g TR WS FRA €, ITI TUUT HUM | U1 Y e fyamn on, 90w IR 7o 0 o P @
o wewr gW vud ¥ e Yeuar Jugd €1 o @ & Siia &1 35R9 $ad $Udl 9eRAT 7, SAP!
wfamT $U g% 81 SAfeiwr sawit A 37 flt A go1 9o 7| 3917 o R, Tuan wumn ok Wald @
T F1 Bt A 91 9 8 76 3 19 & 3R HT | wrHa waTe Wil srawy §, R a8 w@rd @1 SurEn
FHRAT AR AT 3 B 3 IS o1 §, g 3re Shiaq 3t siftfa s wua agsaa w1 uikeg fear g

Iuad TR B yga 1 2T T uy o1 S i}
TR ¥ {59 yeR & U 1 gur gidl 32
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1. oM ¥R fog ST TTU |

2. forgiA T St AT BT

3. forgin 31u= Sfia & TSI & forg srdor &= fea|
4. forgin ggudd 4= HHmT|

Correct Answer :-

. TorgIA 31U Sffa &1 Hgsaed & forg srdur v |
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